Notice for appointment of Regular / Rural Retail Outlet Dealerships Indian Oil Corporation Limited proposes to appoint Petrol Pump Dealerships under Haryana, as per following details:

Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimur M.)/Area of	n Dimensio the site (ir *		Finance to b by the appli		Mode of Selection	Fee /	Securit y Deposi t
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC SC CC 1 SC PH ST ST CC 1 ST PH OBC CC 1 OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	7 CC / DC / CFS	Frontage	8 Depth	Area	9a Estimated working capital requireme nt for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developme nt of infrastructu re at RO (Rs. in Lakhs)	10 Draw of Lots / Bidding	11 (Rs. in Lakh s)	12 (Rs. in Lak hs)
1	FROM KM STONE 30 TO 34 ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9 (DELH-ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	190	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2	SECTOR 74, ON 45M WIDE SECTOR ROAD, FARIDABAD	FARIDABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
3	FROM PVR INDUSTRIAL EQUIPMENTS TO SHIV MANDIR SEC 49, ON DABUA- PALI ROAD	FARIDABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
4	SECTOR 98, WITHIN MUNICIPAL LIMITS FARIDABAD	FARIDABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
5	FROM SEHATPUR TO BASANTPUR ON SEHATPUR- BASANTPUR ROAD	FARIDABAD	REGULAR	155	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
6	SECTOR 62-65 DIVIDING ROAD, FARIDABAD	FARIDABAD	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
7	FROM FARIDABAD BY PASS ROAD TO INSTITUTE OF MANAGEMENT AND TECHNOLOGY SECTOR 86 ON OLD TIGAON ROAD	FARIDABAD	REGULAR	170	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
8	FROM KM STONE 40 TO 47 ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI- ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	179	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
9	FROM KM STONE 47 TO 52 ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI- ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	179	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
10	FROM KM STONE 64 TO 68 RIGHT HAND SIDE WHILE MOVING FROM JHAJJAR TO SAMPLA ON NH- 334B(JHAJJAR-SAMPLA ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	156	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
11	FROM KM STONE 70 TO 74 LEFT HAND SIDE WHILE MOVING FROM JHAJJAR TO SAMPLA ON NH- 334B(JHAJJAR-SAMPLA ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	156	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
12	WITHIN 6KMS FROM IOCL PETROL PUMP PATAUDI FILLING STATION ON RIGHT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH-352W(GURGAON-PATAUDI- REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	155	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
13	FROM RAILWAY OVER BRIDGE, PAHARI TO REWARI BORDER ON RIGHT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH- 332W(GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	155	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
14	FROM TIKRI BORDER TO HTC GAURRAYIA ON RIGHT HAND SIDE WHILE MOVING FROM TIKRI TO JAKHODA ON OLD DELHI-ROHTAK ROAD (WITHIN MUNICIPAL LIMITS)	JHAJJAR	REGULAR	119	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
15	WITHIN 3KMS FROM HTC GAURRAYIA TOWARDS JAKHODA ON LEFT HAND SIDE WHILE MOVING FROM TIKRI TO JAKHODA ON OLD DELHI- ROHTAK ROAD	JHAJJAR	REGULAR	119	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
16	WITHIN MUNICIPAL LIMITS BAHADURGARH ON NALA ROAD	JHAJJAR	REGULAR	119	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
17	WITHIN MUNICIPAL LIMITS BAHADURGARH ON NIZAMPUR ROAD	JHAJJAR	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
18	WITHIN MUNICIPAL LIMITS PATAUDI ON GURGAON- PATAUDI-REWARI ROAD ON NH- 352W (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	104	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
19	KM STONE 48 TO 52 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
20	KM STONE 52 TO 56 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
21	KM STONE 64 TO 68 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
22	KM STONE 68 TO 72 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
23	KM STONE 76 TO 79 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

	1													
24	KM STONE 83 TO 87 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
25	KM STONE 87 TO 91 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
26	FROM KM STONE 45 TO KM STONE 53, ON SH 22 FROM JHAJJAR TO KOSLI	JHAJJAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
27	FROM KM STONE 12 TO KM STONE 15 ON SH 15A, RIGHT HAND SIDE FROM JHAJJAR TO FARUKHNAGAR	JHAJJAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
28	FROM KM STONE 09 TO KM STONE 13 ON SH 15A, (LEFT HAND SIDE FROM JHAJJAR TO FARUKHNAGAR)	JHAJJAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
29	FROM KM STONE 18 TO KM STONE 20 ON SH 15A, (RIGHT HAND SIDE FROM JHAJJAR TO FARUKHNAGAR)	JHAJJAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
30	FROM KM STONE 77 TO KM STONE 74 ON NH334B (RIGHT HAND SIDE FROM JHAJJAR TO SAMPLA)	JHAJJAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
31	SECTOR 67, FARIDABAD	FARIDABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
32	KM STONE 81 TO 83 ON LEFT HAND SIDE NH 248A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
33	KM STONE 81 TO 83 ON RIGHT HAND SIDE NH 248A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
34	FROM KM STONE 43 TO 46 ON BYEPASS OF NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO SINGHANA	MAHENDRAGA RH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
35	SECTOR-65, ON SECTOR 65-64 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
36	FROM KM STONE 16 TO KM STONE 24 ON SH-24 (REWARI-SATNALI ROAD)	REWARI	REGULAR	101	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
37	FROM KM STONE 4 TO KM STONE 10 ON SH-24 (REWARI-SATNALI ROAD)	REWARI	REGULAR	101	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
38	WITHIN MUNICIPAL LIMIT OF BAWAL	REWARI	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
39	DHARUHERA WITHIN MUNICIPAL LIMITS NOT ON NH	REWARI	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
40	DHARUHERA WITHIN MUNICIPAL LIMITS ON DHARUHERA NANDRAMPUR BASS ROAD	REWARI	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
41	REWARI WITHIN MUNICIPAL LIMITS FROM AMBEDKAR CHOWK TO RAO ABEY SINGH CHOWK VIA DHARUHERA CHUNGI	REWARI	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
42	FROM KM STONE 22 TO KM STONE 24 ON LEFT HAND SIDE ON NH-11 (REWARI-NARNAUL) ROAD	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
43	ON REWARI SOHNA ROAD (NH 919) BETWEEN DHARUHERA TEHSIL OFFICE AND NEW HARYANA FILLING STATION (IOC RO) ON LEFT HAND SIDE AT DHARUHERA WHILE GOING FROM REWARI TO SOHNA	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
44	BETWEEN AMBEDKAR CHOWK AND RAJESH PILOT CHOWK (LEFT HAND SIDE) ON REWARI - GARHI BOLNI ROAD WHILE GOING FROM REWARI TO GARHI BOLNI	REWARI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
45	2 KM TO 6 KM FROM IOC RETAIL OUTLET VIJAY KAMAL FILLING STATION WHILE GOING FROM IOC RETAIL OUTLET VIJAY KAMAL FILLING STATION TOWARDS CHARKHI DADRI, ON LEFT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI DADRI	MAHENDRAGA RH	REGULAR	102	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
46	3 KM FROM IOC RETAIL OUTLET DEV FILLING CENTER WHILE GOING FROM IOC RETAIL OUTLET DEV FILLING CENTER TOWARDS CHARKHI DADRI, ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI DADRI	MAHENDRAGA RH	REGULAR	101	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
47	FROM KM STONE 58 TO KM STONE 64 ON SH-24 (REWARI-SATNALI ROAD)	MAHENDRAGA RH	REGULAR	101	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
48	FROM KM STONE 68 TO KM STONE 74 ON SH-24 (REWARI-SATNALI ROAD)	MAHENDRAGA RH	REGULAR	101	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
49	FROM KM STONE 62 TO 67 ON SH-22 GOING FROM KOSLI TO KANINA	REWARI	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
50	FROM KM STONE 67 TO 73 ON SH-22 GOING FROM KOSLI TO KANINA	REWARI	REGULAR	105	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
51	FROM PILOT CHOWK TO REWARI CITY MUNICIPAL LIMIT ON LEFT HAND SIDE ON REWARI-KOTKASIM ROAD	REWARI	REGULAR	100	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
52	RIGHT HAND SIDE ON REWARI-KOTKASIM ROAD FROM PILOT CHOWK TO REWARI CITY MUNICIPAL LIMIT	REWARI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
53	FROM SHAHEED SANDEEP RATHI SMARAK TO RAJASTHAN BORDER, ON REWARI- SHAHJAHANPUR ROAD (SH-15)	REWARI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
54	FROM KERELA PUBLIC SCHOOL TO SHAHEED SANDEEP RATHI SMARAKON REWARI- SHAHJAHANPUR ROAD (SH-15)	REWARI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
55	WITHIN MUNICIPAL LIMITS OF REWARI ON REWARI- BAWAL ROAD	REWARI	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

56	WITHIN 3 KM FROM KENDRIYA VIDYALA PALWAL ON SH- 13 WHILE GOING FROM PALWAL	PALWAL	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF	0	3
00	ON SH- 13 WHILE GOING FROM PALWAL TOWARDS NUH WITHIN 4 KM FROM POLICE CHOWKI MANDKOLA	PALWAL	REGULAR	130		CF5	35	35	1225	0	0	LOTS	0	3
57	ON SH-13 WHILE GOING FROM NUH TOWARDS PALWAL	PALWAL	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
58	FROM AGRASEN CHOWK TO KERALA PUBLIC SCHOOL ON REWARI-SHAHJAHANPUR ROAD (SH-15)	REWARI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
59	FROM KM STONE 52 TO 56 ON NH11 ON LEFT HAND SIDE WHILE GOING FROM REWARI TO NARNAUL	MAHENDRAGA RH	REGULAR	191	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
60	FROM ITI CHOWK TO AGRASAIN CHOWK VIA HOTEL JEWELS ON LEFT HAND SIDE WHILE MOVING FROM ITI CHOWK TO AGRASAIN CHOWK WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
61	FROM AGRASAIN CHOWK TO ITI CHOWK VIA AMRITDHARA HOSPITAL ON LEFT HAND SIDE WHILE MOVING FROM AGRASAIN CHOWK TO ITI CHOWK, WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
62	FROM KM STONE 23 TO KM STONE 26 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
63	FROM KM STONE 13 TO KM STONE 16 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
64	FROM AGGARSEN CHOWK TO KHERI MARKANDA ON KURUKSHETRA-KHERI MARKANDA ROAD WITHIN THANESAR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
65	FROM BRAHMSAROVAR TO DAYALPUR WITHIN THANEASR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
66	SECTOR 22 WITHIN PANCHKULA MUNICIPAL LIMITS	PANCHKULA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
67	ON SH1 WITHIN NARAINGARH MUNICIPAL LIMITS	AMBALA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
68	FROM THE MEDICITY HOSPITAL TO WATER TREATMENT PLANT CHANDOLI ON BARSAT ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
69	FROM KM STONE 29 TO KM STONE 34 ON NH334B (MEERUT-KHARKHODA-JHAJJAR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM NH44 TOJHAJJAR ON NH334B (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
70	FROM GOVT POLYTECHNIC COLLEGE TO FCI GODOWN ON RIGHT HAND SIDE WHILE MOVING FROM ITI CHOWK TO RATHDANA ROAD WITHIN SONIPAT MUNICIPAL LIMITS	SONIPAT	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
71	FROM POLICE STATION SADAR GOHANA TO GOHANA ANAJ MANDI GATE NO. 2 ON NH352A (JIND-GOHANA- SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM JIND TO SONIPAT	SONIPAT	REGULAR	220	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
72	FROM KM STONE 50 TO KM STONE 57 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT(EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	220	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
73	FROM INTERSECTION OF NH907 AND NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) TO INTERSECTION OF NH907 AND PABNI SADAURA ROAD ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON LETF HAND SIDE WHLE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
74	FROM INTERSECTION OF NH907 AND NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) TO INTERSECTION OF NH907 AND PABNI SADAURA ROAD ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
75	FROM KM STONE NO 100 TO KM STONE 104 ON NH709A (JIND-KARNAL ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	170	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
76	FROM INDIRA CHOWK TO MAJOR SHAITAN SINGH CIRCLE ON STAFF ROAD WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
77	FROM HARYANA VIDYA MANDIR TO HDFC BANK BRANCH SADHAURA ON SH4 (DOSARKA-KALA AMB ROAD)	YAMUNANAGA R	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
78	FROM BHAGWAN PARSHURAM CHOWK TO PANDIT DEEN DAYAL UPADHAYA CHOWK IN AMBALA CITY WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
79	FROM HARI PALACE TO SA JAIN SENIOR MODEL SCHOOL VIA KBM BEHL HOSPITAL WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
80	FROM KM STONE 15 TO KM STONE 20 ON NH152 (HISAR-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KAITHAL TO NARWANA	KAITHAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
81	FROM KM STONE 41 TO KM STONE 45 ON NH152 (HISAR-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NARWANA TO PEHOWA	KAITHAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

82	SECTOR-18 WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
83	WITHIN 3KMS FROM RAJOUND BUS STAND TOWARDS DEOBAN ON SH11 (ASSSANDH- KAITHAL ROAD)	KARNAL	REGULAR	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
84	BETWEEN INDIAN OIL PETROL PUMP KISSAN FILLING STATION BADOPAL AND GOVT. HIGH SCHOOL BHODA HOSHNAK, LEFT HAND SIDE FROM SIRSA TO HISAR ON NH 9(SIRSA HISAR ROAD)	FATEHABAD	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
85	WITHIN 2 KM FROM HAFED COMPLEX BHATTU KALAN ON SH 21 (BHATTU RAMSARA ROAD)	FATEHABAD	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
86	UPTO 6 KM FROM INTERSECTION OF NH709 (ROHTAK PANIPAT ROAD) WITH NH 352 (ROHTAK JIND ROAD) TOWARDS JIND ON LEFT HAND SIDE ON NH 352 ROHTAK OUTER BYPASS	ROHTAK	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
87	UPTO 5 KM FROM INTERNATIONAL INSTITUTE OF VETERINARY EDUCATION AND RESEARCH (IIVER) AT BAHU AKBERPUR TOWARDS HISAR ON LEFT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
88	UPTO 6 KM FROM THE MEHAM CO-OPERATIVE SUGAR MILLS LTD AT BHAINI MAHARAJPUR TOWARDS ROHTAK ON RIGHT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
89	FROM RAJIV CHOWK (DELHI BYPASS CIRCLE) TO IMT CIRCLE ON DELHI ROAD ON LEFT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
90	UPTO 4 KM FROM IOCL PETROL PUMP M/S KRISHAN AUTO SERVICE CENTRE AT KAROUNTHA TOWARDS ROHTAK ON RIGHT HAND SIDE ON NH 352 (ROHTAK JHAJJAR ROAD)	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
91	UPTO 4 KM FROM HPCL PETROL PUMP M/S NANDAL PETRO STATION AT SUNCITY ROHTAK TOWARDS JIND CHOWK ON LEFT HAND SIDE ON SECTOR DIVIDING HUDA ROAD (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
92	WITHIN 2 KM OF JIND BYEPASS CHOWK TOWARDS JIND ON RIGHT HAND SIDE ON JIND ROAD (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
93	UPTO 2 KMS FOM PRIMARY HEALTH CENTER SOHASRA TOWARDS MAHENDERGARH ON SH24(MAHENDERGARH TO LOHARU ROAD)	BHIWANI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
94	UPTO 3KMS FROM HPC RO M/S RAJBIR SINGH FILLING STATION AT CHANG TOWARDS BHIWANI ON SH 16A (BHIWANI-MEHAM ROAD)	BHIWANI	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
95	WITHIN 2 KM FROM AMBEDKAR CHOWK IN ELLENABAD ON ELLENABAD BYPASS ROAD	SIRSA	REGULAR	115	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
96	FROM CAMP CHOWK HISAR TO JAHAJ PUL HISAR ON OLD SABZI MANDI ROAD (WITHIN MUNICIPAL LIMITS OF HISAR)	HISAR	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
97	UPTO 2 KM FROM TULSI CHOWK TOWARDS GURU JAMBESHWAR UNIVERSITY ON OLD HISAR BARWALA ROAD (WITHIN MUNICIPAL LIMITS OF HISAR)	HISAR	REGULAR	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
98	BETWEEN KM STONE 169 & 172 ON RIGHT HAND SIDE TOWARDS LOHARU ON NH-709E (BHIWANI- LOHARU ROAD)	BHIWANI	REGULAR	190	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
99	BETWEEN KM STONE 140 & 142 ON NH-709E (BHIWANI- LOHARU ROAD)	BHIWANI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
100	BETWEEN KM STONE 248 & 250 TOWARDS PATIALA ON LEFT HAND SIDE ON NH 52 (NARWANA PATIALA ROAD)	JIND	REGULAR	155	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
101	BETWEEN SUREWALA CHOWK AND LITANI MOD ON LEFT HAND SIDE TOWARDS HISAR ON NH-52 (HISAR BARWALA ROAD)	HISAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
102	BETWEEN LITANI MOD AND KAMAL PETRO (HPCL RO) AT GAIBIPUR ON RIGHT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA-RAJGARH ROAD)	HISAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
103	BETWEEN BADOPATTI TOLL PLAZA AND GOVT GIRLS SCHOOL AT SARSOD, RIGHT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA-RAJGARH ROAD)	HISAR	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
104	BETWEEN KM STONE 80 & 82 ON NH 709A (JIND- NAGURAN ROAD)	JIND	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
105	WITHIN 4 KMS FROM GREEN VALLEY INTERNATION SCHOOL JAMALPUR TOWARDS TOSHAM ON LEFT HAND SIDE ON SH-12 (HANSI- TOSHAM ROAD)	BHIWANI	REGULAR	125	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
106	BETWEEN GREWAL PETRO (IOCL RO) AT SATROD AND MG CLUB RESORTS MAIN GATE ON LEFT HAND SIDE TOWARDS DELHI ON NH-09 (DELHI SIRSA ROAD)	HISAR	REGULAR	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
107	WITHIN 2 KM FROM BHEEMA FARTIYA BUS STOP TOWARDS SATNALI ON SH-24 (LOHARU- SATNALI ROAD)	BHIWANI	REGULAR	130	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

108	WITHIN 2 KM FROM CHANDAWALI BRIDGE WHILE GOING FROM CHANDAWALI TO MACHGAR	FARIDABAD	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
109	FROM AMOLIK CHOWK SECTOR 87 TOWARDS DPS CHOWK SECTOR 82 VIA SHIV NADAR SCHOOL SEC 82	FARIDABAD	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
110	FROM CHANDAWALI BRIDGE TO IMT CHOWK ON FARIDABAD BYPASS ROAD	FARIDABAD	REGULAR	170	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
111	GLOBAL INDUSTRIAL PARK ON SECTOR 72-73 DIVIDING ROAD	FARIDABAD	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
112	ON PALLA TILPAT MARG , FARIDABAD (WITHIN MUNICIPAL LIMITS)	FARIDABAD	REGULAR	155	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
113	FROM KM STONE 36 TO KM STONE 41 ON SH-24 (REWARI-SATNALI ROAD)	MAHENDRAGA RH	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
114	SECTOR 89 , FARIDABAD	FARIDABAD	REGULAR	170	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
115	FROM PALLA BRIDGE TO KHERI BRIDGE ON AGRA CANAL ROAD	FARIDABAD	REGULAR	155	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
116	SECTOR 91, ON BASANTPUR-PUSTA ROAD	FARIDABAD	REGULAR	155	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
117	SECTOR 82, ON OLD TIGAON ROAD, FARIDABAD	FARIDABAD	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
118	3 KM FROM PARSHURAM CHOWK ON MATA AMRATYA ROAD WHILE GOING FROM PARSHURAM CHOWK TO VILLAGE TIKAWALI	FARIDABAD	REGULAR	227	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
119	WITHIN 4 KM FROM CHANDAWALI BRIDGE ON LEFT HAND SIDE WHILE GOING FROM CHANDAWALI TO BALLABHGARH ON MOHNA ROAD	FARIDABAD	REGULAR	176	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
120	NONE BETWEEN TELEPHONE EXCHANGE BHOPANI TO RAJKIYA MADHYAMIK VIDYALAYA NACHAULI, ON KHERI MANJHAWALI ROAD, FARIDABAD	FARIDABAD	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
121	SECTOR 85, WITHIN MUNICIPAL LIMITS, FARIDABAD	FARIDABAD	REGULAR	150	OPEN CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
122	FROM FARIDABAD BY PASS ROAD TO K R MANGALAM WORLD SCHOOL, SEC 88 ON KHERI MANJHAWALI ROAD, FARIDABAD	FARIDABAD	REGULAR	227	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
123	SECTOR 3, WITHIN MUNICIPAL LIMITS FARIDABAD	FARIDABAD	REGULAR	176	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
124	SECTOR-26, GURGAON	GURUGRAM	REGULAR	250	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
125	WITHIN MUNICIPAL LIMITS OF JHAJJAR EXCLUDING MINI BYPASS CONNECTING NH 334B AND BAHADURGARH ROAD & EXCLUDING NH/SH	JHAJJAR	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
126	FARIDABAD BYPASS ROAD TO YMCA ON SANT SURDAS MARG (NOT ON NH2), FARIDABAD	FARIDABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
127	BETWEEN IMT CHOWK TO SECTOR 2 ON FARIDABAD BYPASS ROAD ON LEFT HAND SIDE WHILE GOING FROM PALWAL TO DELHI	FARIDABAD	REGULAR	190	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
128	GOLF COURSE ROAD, GURGAON	GURUGRAM	REGULAR	250	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
129	FROM SHRI KRISHAN PARAMDHAN MANDIR TO ANKHEER CHOWK ON BADKHAL ROAD	FARIDABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
130	From DPS Chowk, sector-82 to Chandila Chowk (Sector-77) on New Omaxe New Height Road	FARIDABAD	REGULAR	150	OPEN CC 2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
131	VILLAGE SHAHUPURA ON FARIDABAD BYPASS ROAD ON LEFT HAND SIDE WHILE GOING FROM DELHI TO BALLABHGARH	FARIDABAD	REGULAR	150	OBC CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	4
132	FROM BPTP BRIDGE SECTOR 81 TO DPS CHOWK SECTOR 82 ON ASHRAY BHAWAN ROAD	FARIDABAD	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
133	FROM FARIDABAD BYPASS ROAD TO SANT SURDAS METRO STATION ON CHAUDHARY CHARAN SINGH MARG, FARIDABAD	FARIDABAD	REGULAR	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
134	FROM BALLABHGARH FLYOVER TO MAURIA UDYOG LTD, ON BALLABHGARH-SOHNA ROAD, FARIDABAD	FARIDABAD	REGULAR	287	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
135	SECTOR 110A, GURGAON	GURUGRAM	REGULAR	230	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
136	BETWEEN FARIDABAD BYPASS ROAD TO IMPERIAL HEIGHTS, SEC-88	FARIDABAD	REGULAR	200	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
		L		ļi		$ \longrightarrow $	L	↓i	<u> </u>				$ \longrightarrow $	+

	VANDE MATRAM CHOWK TO DABUA ANAJ											DRAW OF		
138	MANDI ON SHAHEED BHAGAT SINGH MARG, FARIDABAD	FARIDABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	LOTS	15	5
139	FROM FARIDABAD-GURGAON TOLL PLAZA TO BRISTOL CHOWK ON RIGHT HAND SIDE ON FARIDABAD- GURGAON ROAD	GURUGRAM	REGULAR	220	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
140	BETWEEN BATA FLYOVER TO NEELAM METRO STATION ON NH19 ON LEFT HAND SIDE WHILE GOING FROM PALWAL TO DELHI	FARIDABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
141	SECTOR 58, FARIDABAD	FARIDABAD	REGULAR	200	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
142	FROM HARDWARE CHOWK TO LAKHANI FOOTWEAR CORPORATE OFFICE VIA WHIRLPOOL CHOWK	FARIDABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
143	WITHIN 4 TO 6 KM FROM VATIKA CHOWK TOWARDS NH-8 ON LEFT HAND SIDE ON SPR (SOUTHERN PERIPHERAL ROAD)	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
144	SECTOR 77, FARIDABAD	FARIDABAD	REGULAR	150	OPEN CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
145	BETWEEN KM STONE 41 TO KM STONE 44 ON LEFT HAND SIDE WHILE GOING FROM PALWAL TO DELHI	FARIDABAD	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
146	WITHIN 4 TO 6 KM FROM VATIKA CHOWK TOWARDS NH-8 ON RIGHT HAND SIDE ON SPR (SOUTHERN PERIPHERAL ROAD)	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
147	BETWEEN SECTOR 29 TO SECTOR 37 ON FARIDABAD BYPASS ROAD, FARIDABAD	FARIDABAD	REGULAR	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
148	2 KM FROM FIRE STATION SECTOR 31 ON ROAD OF SECTOR 30-31 DIVIDING ROAD	FARIDABAD	REGULAR	324	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
149	WITHIN 2 KMS FROM GWALPAHARI CHOWK TO VILLAGE MANDI ON MANDI ROAD (LEFT HAND SIDE)	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
150	BETWEEN KM STONE 35 TO KM STONE 39 ON LEFT HAND SIDE WHILE GOING FROM PALWAL TO DELHI	FARIDABAD	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
151	SECTOR - 69, IMT FARIDABAD	FARIDABAD	REGULAR	326	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
152	BETWEEN Modern Vidya Niketan Aravali Hills AND TAJ VIVANTA ON SURAJKUND-BADKHAL ROAD TOWARDS DELHI, FARIDABAD	FARIDABAD	REGULAR	335	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
153	WITHIN 2 KMS FROM GWALPAHARI CHOWK TO VILLAGE MANDI ON FARIDABAD ROAD (RIGHT HAND SIDE)	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
154	SECTOR-37, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
155	FROM BADKHAL FLYOVER TO ARAVALI INTERNATIONAL SCHOOL (SECTOR-43) ON SURAJKUND BADKHAL ROAD	FARIDABAD	REGULAR	335	OPEN	сс	20	20	400	32	12	BIDDING	30	5
156	BETWEEN NHPC CHOWK METRO STATION TO SARAI TOLL PLAZA ON NH19 ON LEFT HAND SIDE WHILE GOING FROM PALWAL TO DELHI	FARIDABAD	REGULAR	346	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
157	SECTOR 65,ON FARIDABAD BYPASS ROAD TOWARDS DELHI	FARIDABAD	REGULAR	150	OBC PH	DC	20	20	400	32	75	DRAW OF LOTS	15	4
158	SECTOR 73, ON 45M WIDE SECTOR ROAD	FARIDABAD	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
159	BETWEEN ESCORT MUJESER METRO STATION TO SANT SURDAS METRO STATION ON NH19 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO PALWAL	FARIDABAD	REGULAR	350	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
160	FROM NEELAM CHOWK TO HARDWARE CHOWK ON NEELAM-BATA ROAD	FARIDABAD	REGULAR	445	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
161	WITHIN 3 KM FROM NH-8 TOWARDS VATIKA CHOWK ON SOUTHERN PERIPHERAL ROAD (RIGHT HAND SIDE)	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
162	FROM BATA FLYOVER TO PYALI CHOWK ON BABA DEEP SINGH JI SHAHEED MARG	FARIDABAD	REGULAR	445	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
163	SECTOR-65, ON SECTOR 65-62 DIVIDING ROAD	GURUGRAM	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
164	BETWEEN KM STONE 41 TO KM STONE 44 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO PALWAL	FARIDABAD	REGULAR	300	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
165	SECTOR-77, GURGAON	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
166	FROM NHPC CHOWK METRO STATION TO SECTOR 28 METRO STATION ON NH19 ON LEFT HAND SIDE WHILE GOING FROM PALWAL TO DELHI	FARIDABAD	REGULAR	346	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
167	VILLAGE KHERKI MAJRA ON DHANKOT- NAJAFGARH ROAD	GURUGRAM	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
168	VILLAGE GWALPAHARI ON GURGAON- FARIDABAD ROAD	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
169	FROM OLD FARIDABAD METRO STATION TO ESCORTS MUJESER METRO STATION ON NH19 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO PALWAL	FARIDABAD	REGULAR	490	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5

FARIDABAD KONDARC CLOCK KONDARC CLOCK	75 DRAW OF LOTS 75 DRAW OF LOTS 0 DRAW OF LOTS 75 DRAW OF	15 15 0 15	5 4 3 5 5 5 4 4 3 5 5 5 5
Image: Incomparison of the sector and the s	1/5 LOTS 0 DRAW OF LOTS 75 DRAW OF LOTS 75 DRAW OF LOTS 75 DRAW OF LOTS 0 DRAW OF LOTS 75 DRAW OF 75 DRAW OF	0 15 15 15 15 0 15 15 15	3 5 5 4 3 5 5 5 5
Image: Note of the second se	0 LOTS 75 DRAW OF LOTS 75 DRAW OF LOTS 75 DRAW OF LOTS 0 DRAW OF LOTS 75 DRAW OF 75 DRAW OF 75 DRAW OF	15 15 15 15 0 15 15	5 5 4 3 5 5 5
173 METRO STATION ON NH19 WHILE GOING FROM FARIDABAD REGULAR 490 OPEN DC 20 400 32 174 METRO STATION ON NH19 WHILE GOING FROM GURUGRAM REGULAR 300 OPEN DC 20 400 32 174 WETRILWAY ROAD, SECTOR 12, JACOBPURA, WITHIN 200 M OF ST CRESPIN SENIOR GURUGRAM REGULAR 300 OPEN DC 20 400 32 175 SECTOR-71, ON SECTOR 71-73 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0 176 SECTOR-82, ON SECTOR 81-82 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0 177 VILLAGE KANHAI, SECTOR 45, GURGAON GURUGRAM REGULAR 230 OPEN DC 20 400 32 178 ROAD, CHAKARPUR, GURUGRAM GURUGRAM REGULAR 230 OPEN DC 20 400 32 178 ROAD, CHAKARPUR, GURUGRAM GURUGRAM REGULAR 230 OPEN DC 20 400 32 178	Interpretation Interpretation 75 Interpretation	15 15 0 15 15 15	5 4 3 5 5
174WITHIN 200 M OF ST CRESPIN SENIOR SECONDARY SCHOOLGURUGRAMREGULAR300OPENDC202040032175SECONDARY SCHOOLGURUGRAMREGULAR200OBCDC202040032176SECTOR-71, ON SECTOR 71-73 DIVIDING ROADGURUGRAMREGULAR150SCCFS20204000177VILLAGE KANHAI, SECTOR 81-82 DIVIDING ROADGURUGRAMREGULAR150SCCFS202040032178ON HAMILTON COURT ROAD, CHAKARPUR, SURUGRAMGURUGRAMREGULAR230OPENDC202040032178ON HAMILTON COURT ROAD, CHAKARPUR, SURUGRAMGURUGRAMREGULAR230OPENDC202040032179BRISTOL CHOWK ON LEFT HAND DIDE ON FARIDABAD-GURGAON TOLL PLAZA TO BRISTOL CHOWK ON LEFT HAND DIDE ON FARIDABAD-GURGAON ROADGURUGRAMREGULAR220OPENDC202040032180RCOTO 102 ON DHANKOT TO NAJAFGARH SIDE)GURUGRAMREGULAR150OBC CC 1DC202040032181LEFT HAND SIDE WHILE GOING FROM BALLABHGARH TO DELHIFARIDABADREGULAR150OBC CC 1DC202040032182SECTOR 143, ON FARIDABAD BYPASS ROAD, FARIDABADFARIDABADREGULAR150OPEN PHDC202040032181LEFT HAND SIDE WHILE GOING FROM B	1/3 LOTS 75 DRAW OF LOTS 0 DRAW OF LOTS 75 DRAW OF	15 0 15 15	4 3 5 5
176SECTOR-82, ON SECTOR 81-82 DIVIDING ROADGURUGRAMREGULAR150SCCFS20204000177VILLAGE KANHAI, SECTOR 45, GURGAONGURUGRAMREGULAR230OPENDC202040032178ON HAMILTON COURT ROAD, CHAKARPUR, GURUGRAMGURUGRAMREGULAR230OPENDC202040032178ON FARIDABAD-GURGAON TOLL PLAZA TO BRISTOL CHOWK ON LEFT HAND SIDE ON FARIDABAD-GURGAON ROADGURUGRAMREGULAR220OPENDC202040032180SECTOR 102 ON DHANKOT TO NAJAFGARH RIDE)GURUGRAMREGULAR150OBC CC 1DC202040032181SECTOR 143, ON FARIDABAD BYPASS ROAD ON BALLABHGARH TO DELHIFARIDABADREGULAR150SC CC 1CFS202040032182SECTOR 64, ON FARIDABAD BYPASS ROAD, FARIDABADFARIDABADREGULAR150OPEN PHDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR150OBCDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032184SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGUL	Interface Interface 0 DRAW OF LOTS 75 DRAW OF LOTS 75 DRAW OF LOTS 75 DRAW OF	0 15 15	3
Image: constraint of the constra	U LOTS T5 DRAW OF LOTS T5 DRAW OF LOTS T5 DRAW OF LOTS	15	5
Image: Note of the systemImage: Note of the syste	 LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF 	15	5
178ROAD, CHAKARPUR, GURUGRAMGURUGRAMREGULAR230OPENDC202040032179FROM FARIDABAD-GURGAON TOLL PLAZA TO BRISTOL CHOWK ON LEFT HAND SIDE ON FARIDABAD- GURAGON ROADGURUGRAMREGULAR220OPENDC202040032180ROAD TOWARDS NAJAFGARH (RIGHT HAND SIDE)GURUGRAMREGULAR150OBC CC 1DC202040032181SECTOR 143, ON FARIDABAD BYPASS ROAD ON BALLABHGARH TO DELHIFARIDABADREGULAR150SC CC 1CFS20204000182SECTOR 64, ON FARIDABAD BYPASS ROAD, FARIDABADFARIDABADREGULAR150OPEN PHDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032	75 DRAW OF CONS 25 DRAW OF LOTS DRAW OF LOTS		
179BRISTOL CHOWK ON LEFT HAND SIDE ON FARIDABAD. GURUGRAMGURUGRAMREGULAR220OPENDC202040032180SECTOR 102 ON DHANKOT TO NAJAFGARH (RIGHT HAND SIDE)GURUGRAMREGULAR150OBC CC 1DC202040032180ROAD TOWARDS NAJAFGARH (RIGHT HAND SIDE)GURUGRAMREGULAR150OBC CC 1DC202040032181LEFT HAND SIDE WHILE GOING FROM BALLABHGARH TO DELHIFARIDABADREGULAR150SC CC 1CFS20204000182SECTOR 64, ON FARIDABAD BYPASS ROAD, FARIDABADFARIDABADREGULAR150OPEN PHDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032	⁷⁵ LOTS 55 DRAW OF LOTS	15	
180ROAD TOWARDS NAJAFGARH (RIGHT HANDGURUGRAMREGULAR150OBC CC 1DC202040032181LEFT HAND SIDE WHILE GOING FROM BALLABHGARH TO DELHIFARIDABAD BYPASS ROAD ON LABHGARH TO DELHIFARIDABADREGULAR150SC CC 1CFS20204000182SECTOR 64, ON FARIDABAD BYPASS ROAD, FARIDABADFARIDABADREGULAR150OPEN PHDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032183SECTOR-58, ON SECTOR-58-61 DIVIDING ROADGURUGRAMREGULAR200OBCDC202040032WITHIN 3 KM FROM NH-8 TOWARDS VATIKA </td <td>LOTS</td> <td></td> <td>5</td>	LOTS		5
181 LEFT HAND SIDE WHILE GOING FROM BALLABHGARH TO DELHI FARIDABAD REGULAR 150 SC CC 1 CFS 20 400 0 182 SECTOR 64, ON FARIDABAD BYPASS ROAD, FARIDABAD FARIDABAD REGULAR 150 OPEN PH DC 20 400 32 183 SECTOR-58, ON SECTOR-58-61 DIVIDING ROAD GURUGRAM REGULAR 200 OBC DC 20 400 32 WITHIN 3 KM FROM NH-8 TOWARDS VATIKA U U U U U U		15	4
182 FARIDABAD PARIDABAD REGULAR 150 OPEN PH DC 20 20 400 32 183 SECTOR-58, ON SECTOR-58-61 DIVIDING ROAD GURUGRAM REGULAR 200 OBC DC 20 400 32 WITHIN 3 KM FROM NH-8 TOWARDS VATIKA VITHIN 3 KM FROM NH-8 TOWARDS VATIKA	0 DRAW OF LOTS	0	3
WITHIN 3 KM FROM NH-8 TOWARDS VATIKA	75 DRAW OF LOTS	15	5
	75 DRAW OF LOTS	15	4
(LEFT HAND SIDE)	75 DRAW OF LOTS	15	5
KM STONE 20 TO KM STONE 22 ON NH 248 A GURUGRAM REGULAR 150 SC CFS 20 400 0 FROM GURGAON ALWAR GURUGRAM REGULAR 150 SC CFS 20 400 0	0 DRAW OF LOTS	0	3
WITHIN 1 TO 6 KM FROM DHANKOT TOWARDS 186 SULTANPUR NATIONAL PARK ON SH 15 A (LEFT GURUGRAM REGULAR 200 OPEN DC 35 35 1225 32	75 DRAW OF LOTS	15	5
(SOUTHERN PERIPHERAL ROAD)	75 DRAW OF LOTS	15	4
(RIGHT HAND SIDE)	75 DRAW OF LOTS	15	5
SECTOR-103, FROM DWARKA EXPRESSWAY BASAI CROSSING TOWARDS DWARKA ON BASAI CROSSING TOWARDS DWARKA ON GURUGRAM SIDE) NH 248BB GURUGRAM	95 DRAW OF LOTS	15	5
190 VILLAGE DHARAMPUR ON DHANKOT- NAJAFGARH ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0	0 DRAW OF LOTS	0	3
191 BETWEEN VATIKA CHOWK & SUBHASH CHOWK ON GURGAON-SOHNA ROAD GURUGRAM REGULAR 200 OBC DC 20 20 400 32	75 DRAW OF LOTS	15	4
SECTOR-38B, FROM DWARKA EXPRESSWAY 192 ON DWARKA EXPRESSWAY ROAD (LEFT HAND SIDE) NH 248BB SIDE) NH 248BB GURUGRAM REGULAR 200 OPEN DC 35 35 1225 32	95 DRAW OF LOTS	15	5
193 SECTOR-89 ON SECTOR 88-89 DIVIDING ROAD GURUGRAM REGULAR 150 OPEN CC 1 DC 20 400 32	55 DRAW OF LOTS	15	5
194 SECTOR-37C, GURGAON GURUGRAM REGULAR 150 SC CFS 20 20 400 0	0 DRAW OF LOTS	0	3
195 SECTOR-74, ON SECTOR 71-73 DIVIDING ROAD LEFT HAND SIDE WHEN MOVING AWAY FROM SPR (SOUTHERN PERIPHERAL ROAD) GURUGRAM REGULAR 200 OBC DC 20 20 400 32	75 DRAW OF LOTS	15	4
196 SECTOR 101, ON ROAD CONNECTING BASAI ROAD TO DWARKA EXPRESSWAY GURUGRAM REGULAR 200 OPEN DC 20 400 32	75 DRAW OF LOTS	15	5
197 SECTOR-69, ON SECTOR 68-69 DIVIDING ROAD GURUGRAM REGULAR 200 OPEN DC 20 400 32	75 DRAW OF LOTS	15	5
ON DWARKA EXPRESSWAY ROAD (RIGHT HAND SIDE) NH 248BB	95 DRAW OF LOTS	15	4
199 SECTOR-107, ON SECTOR 107-108 DIVIDING GURUGRAM REGULAR 150 SC CFS 20 20 400 0	0 DRAW OF LOTS	0	3
EXPRESSWAY ROAD (RIGHT HAND SIDE) NH 248BB	95 DRAW OF LOTS	15	5
EXPRESSWAY ROAD (RIGHT HAND SIDE) NH 248BB	95 DRAW OF LOTS	15	5
	75 DRAW OF	15	4
203 SECTOR-106, ON SECTOR-106-108 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0	0 DRAW OF LOTS	0	3
	75 DRAW OF	15	5

205	BETWEEN ATUL KATARIA CHOWK TO PALAM MOR ON OLD-DELHI GURGAON ROAD	GURUGRAM	REGULAR	190	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
206	SECTOR-105, FROM DWARKA EXPRESSWAY DAULTABAD ROAD CROSSING TOWARDS DWARKA ON DWARKA EXPRESSWAY ROAD	GURUGRAM	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
207	(RIGHT HAND SIDE) NH 248BB SECTOR-109, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
208	WITHIN 1 TO 3 KM FROM BASAI CHOWK TOWARDS DHANKOT ON BASAI-DHANKOT ROAD (LEFT HAND SIDE) SH 15A	GURUGRAM	REGULAR	180	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
209	WITHIN 3 KMS FROM SUBHASH CHOWK TOWARDS HERO HONDA CHOWK	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
210	WITHIN 3 KM FROM SHAHEED CAPTAIN UMANG BHARDWAJ CHOWK TOWARDS PATAUDI ON GURGAON- PATAUDI ROAD (LEFT HAND SIDE)	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
211	WITHIN 3 KM FROM SHAHEED CAPTAIN UMANG BHARDWAJ CHOWK TOWARDS PATAUDI ON GURGAON- PATAUDI ROAD (RIGHT HAND SIDE)	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
212	SECTOR-104, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
213	SECTOR 47, GURGAON	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
214	SECTOR-65, ON SECTOR 65-66 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
215	SECTOR-69, ON SECTOR 69-70 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
216	SECTOR-66, ON SECTOR 66-67 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
217	SECTOR 47, BETWEEN PARK HOSPITAL AND GOOD EARTH CITY CENTER MALL	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
218	SECTOR-66, ON SECTOR 66-65 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
219	SECTOR-M6, IMT MANESAR, GURGAON	GURUGRAM	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
220	SECTOR 53, ON GOLF COURSE ROAD, GURGAON	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
221	SECTOR-106, ON SECTOR-106-109 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
222	SECTOR-79, ON SECTOR 78-79 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
223	SECTOR-67, ON SECTOR 67-66 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
224	SECTOR-99, FROM DWARKA EXPRESSWAY PATAUDI ROAD CROSSING TOWARDS DWARKA ON DWARKA EXPRESSWAY ROAD (LEFT HAND SIDE) NH 248BB	GURUGRAM	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
225	SECTOR-112, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
226	SECTOR-63, ON SECTOR 62-63 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
227	SECTOR-70, ON SECTOR 70-75 DIVIDING ROAD, GURGAON	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
228	SECTOR-68, ON SECTOR 68-69 DIVIDING ROAD	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
229	WITHIN 1 KM FROM HERO HONDA CHOWK TOWARDS SHAHEED CAPTAIN UMANG BHARDWAJ CHOWK ON RIGHT HAND SIDE	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
230	VILLAGE BAR GUJJAR ON NAURANGPUR-TAURU ROAD	GURUGRAM	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
231	SECTOR-110, GURGAON	GURUGRAM	REGULAR	150	OPEN CC 2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
232	KM STONE 30 TO 32 RIGHT HAND SIDE ON WHILE NH919 WHILE GOING FROM REWARI TO PALWAL	NUH	REGULAR	175	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
233	WITHIN 1 KM FROM HERO HONDA CHOWK TOWARDS SHAHEED CAPTAIN UMANG BHARDWAJ CHOWK ON LEFT HAND SIDE	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
234	SECTOR-104, FROM DWARKA EXPRESSWAY BASAI CROSSING TOWARDS DWARKA ON DWARKA EXPRESSWAY ROAD (RIGHT HAND SIDE) NH 248BB	GURUGRAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
235	SECTOR 36A, ON CENTRAL PERIPHERY ROAD	GURUGRAM	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
236	SECTOR-82A ON SECTOR 82A-83 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
237	ON OLD RAILWAY ROAD, GURGAON	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
238	SECTOR-88A, FROM DWARKA EXPRESSWAY PATAUDI ROAD CROSSING TOWARDS DWARKA ON DWARKA EXPRESSWAY ROAD (LEFT HAND SIDE) NH 248BB	GURUGRAM	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
239	SEC-45, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
240	SECTOR-61, ON SECTOR 61-62 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
241	ON SECTOR-11 BETWEEN SOHNA CHOWK AND PATAUDI CHOWK ON SH-15A	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
242	SECTOR-76 ON SECTOR 76-77 DIVIDING ROAD	GURUGRAM	REGULAR	180	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
243	SECTOR-83	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

244	SECTOR-62, ON SECTOR 61-62 DIVIDING ROAD	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
245	SECTOR-111, GURGAON	GURUGRAM	REGULAR	150	OPEN CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
246	VILLAGE SHIKHOPUR ON ROAD CONNECTING SPR (SOUTHERN PERIPHERAL ROAD) TO SHIKHOPUR	GURUGRAM	REGULAR	180	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
247	SECTOR-103, ON SECTOR 103-107 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
248	VILLAGE DAULATABAD, GURGAON ON DHANKOT - NAJAFGARH ROAD	GURUGRAM	REGULAR	170	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
249	VILLAGE KADIPUR ON GURGAON-PATAUDI ROAD	GURUGRAM	REGULAR	170	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
250	WITHIN 1 TO 3 KM FROM BASAI CHOWK TOWARDS DHANKOT ON BASAI-DHANKOT ROAD (RIGHT HAND SIDE) SH 15A	GURUGRAM	REGULAR	180	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
251	VILLAGE BASAI ON SH-15 A BETWEEN SOHNA CHOWK AND DWARKA EXPRESSWAY BASAI CROSSING	GURUGRAM	REGULAR	170	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
252	SECTOR-3, CARTERPURI ROAD, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
253	WITHIN 1 TO 3 KM FROM DWARKA EXPRESSWAY-BASAI CROSSING TOWARDS CHANDU ON SH 15 A	GURUGRAM	REGULAR	170	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
254	VILLAGE NAWADA ON SECTOR 90-93 DIVIDING ROAD, GURGAON	GURUGRAM	REGULAR	170	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
255	FROM JOYGAON PICNIC PARK TO IOCL PETROL PUMP JASSU FILLING STATION ON NH 352R FROM JHAJJAR TO BAHADURGARH	JHAJJAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
256	WITHIN 4 KM FROM NH-8 TOWARDS TAURU ON NAURANGPUR-TAURU ROAD	GURUGRAM	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
257	SECTOR-M14, IMT MANESAR, GURGAON	GURUGRAM	REGULAR	150	OBC PH	DC	20	20	400	32	55	DRAW OF LOTS	15	4
258	FROM KM STONE 370 TO KM STONE 375 ON NH 352, RIGHT HAND SIDE FROM ROHTAK TO REWARI	JHAJJAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
259	VILLAGE-KANKROLA, SECTOR-91 ON SECTOR 91-87 DIVIDING ROAD, GURGAON	GURUGRAM	REGULAR	170	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
260	VILLAGE KHERKI DAULA ON SIHI-SIKANDERPUR ROAD,	GURUGRAM	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
261	CARTERPURI ROAD, PALAM VIHAR EXTENSION, GURGAON	GURUGRAM	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
262	BETWEEN IMPERIAL HERITAGE SCHOOL & PRIME SCHOLARS INTERNATIONAL SCHOOL ON DHANKOT- NAJAFGARH ROAD	GURUGRAM	REGULAR	160	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
263	VILLAGE MOHAMMAD HERI ON DHANKOT TO NAJAFGARH ROAD TOWARDS NAJAFGARH (LEFT HAND SIDE)	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
264	ON KHANDSA ROAD, BETWEEN AMBEDKAR CHOWK TO CPR (CENTRAL PERIPHERY ROAD)	GURUGRAM	REGULAR	150	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
265	ON SECTOR 17-18 DIVIDING ROAD	GURUGRAM	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
266	GARHI HARSARU ON GARHI BUDHERA ROAD CONNECTING PATAUDI ROAD TO SH-15 A	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
267	SECTOR-57, GURGAON	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
268	SECTOR-83 ON SECTOR 83-82 DIVIDING ROAD	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
269	SECTOR - M10, IMT MANESAR, GURGAON	GURUGRAM	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF	15	4
270	SECTOR 19, GURGAON	GURUGRAM	REGULAR	150	sc	CFS	20	20	400	0	0	LOTS DRAW OF LOTS	0	3
271	KM STONE 56 TO 60 ON LEFT HAND SIDE NH 248	NUH	REGULAR	153	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF	15	5
	A GOING FROM GURGAON TO FIROZPUR ZHIRKA FROM JAMALPUR CHOWK TO DELHI PUBLIC SCHOOL (PATAUDI) ON LEFT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH- 352W(GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
273	SECTOR-11	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
274	SECTOR 51, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
275	3 KM FROM BPC RETAIL OUTLET SHREE RAM FILLING STATION WHILE GOING FROM BPC RETAIL OUTLET SHREE RAM FILLING STATION TOWARDS NARNAUL, ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI DADRI	MAHENDRAGA RH	REGULAR	101	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

276	FROM KMP FLYOVER TO JAMALPUR CHOWK ON RIGHT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH-352W(GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
277	FROM KMP FLYOVER TO JAMALPUR CHOWK ON LEFT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH-352W(GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
278	WITHIN 4 KMS FROM KMP FLYOVER ON LEFT HAND SIDE WHILE MOVING FROM REWARI TO GURGAON ON NH-352W(GURGAON-PATAUDI- REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
279	VILLAGE NAWADA FATEHPUR, SEC 86, GURGAON	GURUGRAM	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
280	KM STONE 52 TO 56 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
281	WITHIN 7 KMS FROM SHAIL EMBASSY INDUSTRIAL PARK MAIN GATE ON RIGHT HAND SIDE TOWARDS GURGAON ON SH-15A	GURUGRAM	REGULAR	293	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
282	SECTOR-22, GURGAON	GURUGRAM	REGULAR	150	OPEN PH	DC	20	20	400	32	75	DRAW OF LOTS	15	5
283	SECTOR-56, ON SECTOR 56-57 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
284	PATAUDI NEW BYEPASS ROAD ON LEFT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON GURGAON-REWARI ROAD (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
285	FROM KM STONE 30 TO 35 ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI- ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	179	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
286	WITHIN 4 KMS FROM KMP FLYOVER ON RIGHT HAND SIDE WHILE MOVING FROM REWARI TO GURGAON ON NH-352W(GURGAON-PATAUDI- REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
287	SECTOR 36B GURGAON ON GURGAON PATAUDI ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
288	FROM KM STONE 35 TO 40 ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI- ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	179	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
289	FROM KM STONE 34 TO 38 ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI-ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
290	FROM KM STONE 38 TO 42 ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI-ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
291	NEW WAZIRPUR-HARSARU BYPASS ROAD ON GURGAON-REWARI ROAD (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
292	SECTOR-99, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
293	FROM KM STONE 42 TO 47 ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI-ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
294	KM STONE 56 TO 60 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
295	WITHIN 8KMS FROM IOCL PETROL PUMP PATAUDI FILLING STATION ON LEFT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH-352W(GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
296	IMT MANESAR ROAD BETWEEN SEC M-16 TO SECTOR 11	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
297	FROM KM STONE 47 TO 52 ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO ROHTAK ON NH- 9(DELHI-ROHTAK ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
298	FROM RAILWAY OVER BRIDGE, PAHARI TO REWARI BORDER ON LEFT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH- 352W (GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
299	FROM KM STONE 64 TO 68 LEFT HAND SIDE WHILE MOVING FROM JHAJJAR TO SAMPLA ON NH- 334B(JHAJJAR-SAMPLA ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	156	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
300	FROM KM STONE 70 TO 74 RIGHT HAND SIDE WHILE MOVING FROM JHAJJAR TO SAMPLA ON NH- 3348(JHAJJAR-SAMPLA ROAD) (NOT BELOW FLYOVER)	JHAJJAR	REGULAR	156	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
301	IMT MANESAR ROAD FROM NH-8 TO HONDA PLANT MANESAR	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

Description Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	·	1													
Image Image <t< td=""><td>302</td><td>WITHIN MUNICIPAL LIMITS PATAUDI-MANDI ON BILASPUR- PATAUDI-HAILEY MANDI ROAD (NOT</td><td>GURUGRAM</td><td>REGULAR</td><td>234</td><td>OBC</td><td>сс</td><td>20</td><td>20</td><td>400</td><td>32</td><td>12</td><td>BIDDING</td><td>30</td><td>4</td></t<>	302	WITHIN MUNICIPAL LIMITS PATAUDI-MANDI ON BILASPUR- PATAUDI-HAILEY MANDI ROAD (NOT	GURUGRAM	REGULAR	234	OBC	сс	20	20	400	32	12	BIDDING	30	4
min min <thmin< th=""> <thmin< th=""> <thmin< th=""> <thmin< th=""></thmin<></thmin<></thmin<></thmin<>	303	LEFT HAND SIDE WHILE MOVING FROM TIKRI TO JAKHODA ON OLD DELHI-ROHTAK ROAD	JHAJJAR	REGULAR	119	OPEN	DC	20	20	400	32	55		15	5
Display Display <t< td=""><td>304</td><td></td><td>JHAJJAR</td><td>REGULAR</td><td>119</td><td>OPEN</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>5</td></t<>	304		JHAJJAR	REGULAR	119	OPEN	DC	20	20	400	32	55		15	5
Main Deck Mark Lange Mark Mark Mark Mark Mark Mark Mark Mark	305		GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0		0	3
Display Display <t< td=""><td>306</td><td></td><td>JHAJJAR</td><td>REGULAR</td><td>119</td><td>OBC</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>4</td></t<>	306		JHAJJAR	REGULAR	119	OBC	DC	20	20	400	32	55		15	4
model	307	BUSINESS SCHOOL (NICMAR) ON RIGHT HAND SIDE WHILE MOVING FROM BAHADURGARH TO	JHAJJAR	REGULAR	152	OPEN	DC	35	35	1225	32	95		15	5
Des Description Description <thde< td=""><td>308</td><td>WITHIN MUNICIPAL LIMITS PATAUDI-MANDI ON BILASPUR- PATAUDI-HAILEY MANDI ROAD (NOT</td><td>GURUGRAM</td><td>REGULAR</td><td>175</td><td>OPEN</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>5</td></thde<>	308	WITHIN MUNICIPAL LIMITS PATAUDI-MANDI ON BILASPUR- PATAUDI-HAILEY MANDI ROAD (NOT	GURUGRAM	REGULAR	175	OPEN	DC	20	20	400	32	55		15	5
IM MOMO READURA ISON USA USA USA USA USA<	309	JAKHODA ON RIGHT HAND SIDE WHILE MOVING FROM TIKRI TO JAKHODA ON OLD DELHI- ROHTAK ROAD	JHAJJAR	REGULAR	119	OBC	DC	20	20	400	32	55		15	4
	310		GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0		0	3
Bit Not Non-Control Periade Note Environment Hallake Precurs Dist Sis Sis <th< td=""><td>311</td><td>BUSINESS SCHOOL (NICMAR) ON LEFT HAND SIDE WHILE MOVING FROM BAHADURGARH TO</td><td>JHAJJAR</td><td>REGULAR</td><td>152</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td></td><td>15</td><td>5</td></th<>	311	BUSINESS SCHOOL (NICMAR) ON LEFT HAND SIDE WHILE MOVING FROM BAHADURGARH TO	JHAJJAR	REGULAR	152	OPEN	DC	35	35	1225	32	95		15	5
IN INSUGARDAL PARK MARK ALC N LETT MARK OLERULAR 117 OLER DC 38 128 128 71 UNDTS 10 110	312	SCHOOL ON LEFT HAND SIDE WHILE MOVING FROM BAHADURGARH TO JHAJJAR ON	JHAJJAR	REGULAR	152	OPEN	DC	35	35	1225	32	95		15	5
International problema in a bandbardie isb	313	INDUSTRIAL PARK MAIN GATE ON LEFT HAND	GURUGRAM	REGULAR	117	OBC	DC	35	35	1225	32	75		15	4
31. 8. CONCUMPATION PLETINAND SERVINE 1HALMAR REGULAR 107 OPEN DC 35 125 <	314		GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0		0	3
ain Discription Discription <thdiscription< th=""> <thdis< td=""><td>315</td><td>FROM FOUNDATION PUBLIC SCHOOL TO NH-9 INTERSECTION ON LEFT HAND SIDE WHILE MOVING FROM BAHADURGARH TO JHAJJAR ON</td><td>JHAJJAR</td><td>REGULAR</td><td>107</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>75</td><td>DRAW OF</td><td>15</td><td>5</td></thdis<></thdiscription<>	315	FROM FOUNDATION PUBLIC SCHOOL TO NH-9 INTERSECTION ON LEFT HAND SIDE WHILE MOVING FROM BAHADURGARH TO JHAJJAR ON	JHAJJAR	REGULAR	107	OPEN	DC	35	35	1225	32	75	DRAW OF	15	5
317 ORDERT HAND SIDE WHLE MOVING TOWARDS PARAULON GURGANNE ARAULO INSTALL ORRUNGAM REGULAR 150 OBC 0C 35 35 122 32 055 DRAW OF LINTS 15 4 1000 ALDRESSON TOWARDS PARAULON GURGANON FALLUNT NOT ON INNEL CONNE FRONT ALUNT TO SOHNA ON INNEL CONNE FRONT ALUNT. NUH REGULAR 150 OPEN C1 DC 35 122 32 DRAW OF INTER INNEL CONNE FRONT ALUNT. INNEL INTER INNEL CONNE FRONT ALUNT. INNEL REGULAR 150 OPEN C1 DC 35 122 32 DRAW OF INTER INTER INTER INTER INTER INTER INTER INTER INTER INTER INTER INTER IN	316	ON LEFT HAND SIDE WHILE MOVING TOWARDS PATAUDI ON GURGAON-PATAUDI ROAD (NH- 352W)	GURUGRAM	REGULAR	150	OPEN	DC	35	35	1225	32	95		15	5
Interpretation Number Accord Regular Interpretation Cord	317	ON RIGHT HAND SIDE WHILE MOVING TOWARDS PATAUDI ON GURGAON-PATAUDI	GURUGRAM	REGULAR	150	OBC	DC	35	35	1225	32	95		15	4
313 SECTOR 55. ON SECTOR 55. AND 85 DUDING GuILORAN REGULAR 150 SC CFS 20 400 400 0.0 DRAW OF 0.0 3.3 313 RECTOR 55. ON SECTOR 55. AND 85 DUDING GUILOR 30 REGULAR 17.5 ORBC C.C 3.5 125 3.2 9.6 DRAW OF 1.5 4.5 314 NING WILLE CONST CON REAVER TAND SUE ON WILLE NING WILLE CONST CON REAVER TAND TO REACEWER NUH REGULAR 1.53 OPEN CC1 DC 3.55 1.25 3.22 9.65 DRAW OF 1.5 5.5 328 CARCEWER TAND STOR VILLE CONST CON REAVER TAND STOR VILLE LINEAD REGULAR 1.85 OPEN CC1 DC 3.25 1.25 3.22 9.55 DRAW OF 1.5 5.5 328 CARCER STOR SACE TAND STOR VILLE CONST CON REAVER TAND STOR VILLE REGULAR 1.55 OPEN CC1 DC 3.5 1.25 3.22 9.55 DRAW OF 1.5 5.5 328 REASTOR SECTOR 42 AD MAD STOR VILLE MAID S	318	TAURU (WITHIN MUNICIPAL LIMIT) NOT ON NH(NATIONAL HIGHWAY)/SH(STATE HIGHWAY), WHILE GOING FROM TAURU TO SOHNA ON	NUH	REGULAR	185	OPEN	DC	20	20	400	32	55		15	5
303 Name New of WHLE GONG FROM REWART DPALWAL NUH REGULAR 1175 UBC UC 35 122 32 32 UCTS 15 4 121 224 A CONG FROM GURGAON TO FROZPUR NUH REGULAR 1153 OPEN CC 1 DC 35 122 32 95 DRAW OF 15 5 2248 ACONG FROM GURGAON TO FROZPUR NUH REGULAR 185 OPEN C 10C 20 400 32 55 DRAW OF 15 5 233 SECTOR-82 ON SECTOR 92-05 DIVIDING ROAD OURUGAM REGULAR 150 SC CFS 20 400 0 0 DRAW OF 15 5 324 KM STONE 72 TO 70 ON LEFT HAND SDE N1248 NUH REGULAR 150 SC CFS 20 20 400 0 DRAW OF 155 5 325 MECTOR-82 ON SECTOR 92-05 DIVIDING ROAD OURUAR REGULAR 150 SC CFS 20 20 400 0 DRAW	319	SECTOR 85, ON SECTOR 85 AND 89 DIVIDING	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0		0	3
312 328 A GONG FROM GURGAON TO FIROZPUR NUH REGULAR 153 OPEN C1 DC 355 355 1225 32 955 DRAW OF LOTS 15 5 21 ZAURU (WITHIN MUNCPALLIMITY WILLE OWN BURSPUR TO BLASPUR TO TAURU. NUH REGULAR 1155 OPEN DC 20 400 0.2 550 DRAW OF LOTS 0.5 35 323 KM STONE 72 TO 76 ON LEFT HAND SIDE M 248 A GONG FROM GURGAON TO FROZPUR ZHRKA NUH REGULAR 1153 OPEN DC 355 355 1225 322 955 DRAW OF LOTS 15 4 325 KM STONE 72 TO 76 ON LEFT HAND SIDE M 248 A GONG FROM GURGAON TO FROZPUR ZHRKA NUH REGULAR 1175 OPEN DC 355 355 1225 322 DS DRAW OF LOTS 15 5 326 KM STONE 74 TO MSTONE 79 ON SH24 MAHEDRAGA REGULAR 101 OPEN DC 355 355 1225 322 DS DRAW OF LOTS 16 5 327 SECTOR-85 ON SECTOR 2-35 OWIDING ROAD GURUGRAM REGULAR 150 SECTOR-85 355	320	NH919 WHILE GOING FROM REWARI TO PALWAL	NUH	REGULAR	175	OBC	DC	35	35	1225	32	95		15	4
322 FROM TAURU TO BLASPUR ON TAURU- BLASPUR OAD NUH REGULAR 185 OPEN DC 20 20 400 32 65 DRAW OF LOTS 15 5 323 SECTOR 92 ON SECTOR 9	321	248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OPEN CC 1	DC	35	35	1225	32	95		15	5
333 SECTOR-32 ON SECTOR 92-96 JUNING ROAD OUNCERAM REGULAR 1:00 SC C/S 2:00 4:00 0 0 0 1:01 0 3:3 324 KM STONE 72 TO 76 ON LEFT HAND SIDE N1-AL NUH REGULAR 1:53 OBC DC 3:5 1:25 3:2 9:5 DRAW OF 1:5 4 326 MATCINE 36 TO 38 RIGHT HAND SIDE ON NUH REGULAR 1:75 OPEN DC 3:5 1:25 3:2 9:5 DRAW OF 1:5 5 327 SECTOR-36 ON SECTOR 92-96 DIVIDING ROAD GURUGRAM REGULAR 1:01 OPEN DC 3:5 1:25 3:2 2:0 0 0 0 0 0:0	322	FROM TAURU TO BILASPUR ON TAURU-	NUH	REGULAR	185	OPEN	DC	20	20	400	32	55		15	5
3/4 A CONNC FROM GURGADON TO FROZPUR ZHIRKA NUH REGULAR 153 OBC DC 35 35 1225 32 95 LOTS 15 4 28 KM STONE 38 T0 38 RIGHT HAND SIDE ON PLAWAL NUH REGULAR 175 OPEN DC 35 35 1225 32 95 DRAW OF 15 5 326 FROM KW STONE 74 TO KM STONE 79 ON SH-24 MAHENDRAGA RH REGULAR 101 OPEN DC 35 35 1225 32 75 DRAW OF 15 5 327 SECTOR-95 ON SECTOR 92-95 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 20 400 0 0 DRAW OF 0 3 328 REGURAR TON F2 TO 75 ON RIGHT HAND SIDE NH 224 RKAS REGULAR 153 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 2/HIRKA 1200 GROM TO FROM REVARAULT TO CHARKHI NUH REGULAR 150 OPEN CC 2 DC 35 35 1225 32 95 DRAW OF LOTS <	323		GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0		0	3
325 WHILE HW919 WHILE GOING FROM REWARITO NUH REGULAR 175 OPEN DC 35 35 125 32 95 LDRAW OF LOTS 15 5 326 PROM KM STONE 74 TO KM STONE 79 ON SH-24 (REWARLSATNALLROAD) MAHENDRAGA RH REGULAR 101 OPEN DC 35 35 1225 32 75 LDTS 15 5 327 SECTOR-95 ON SECTOR 92-95 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0 0 DRAW OF LOTS 0 3 328 WA STONE 72 TO 76 ON RIGHT HAND SIDE MH ANERON EITHER SIDE OF RAO TULARAM CHOWK ON SH-17 (MARNALL- DARIHAZ NUH REGULAR 153 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 329 CHARKH JADRI (ROAD) RHH REGULAR 1107 OPEN DC 35 35 1225 32 75 DRAW OF LOTS 15 5 329 CHARKH JADRI (ROAD) NARHALL REGULAR 150 OPEN CC 2 DC 35 35 1225 32	324	A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OBC	DC	35	35	1225	32	95		15	4
326 FROM KM STONE 74 TO KM STONE 79 ON SH-24 MAHENDRAGA RH REGULAR 101 OPEN DC 35 35 1225 32 75 DRAW OF LOTS 15 5 327 SECTOR-95 ON SECTOR 92-95 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0 0 DRAW OF LOTS 0 3 328 Z4A GOING FROM GURGAON TO FIROZPUR ZHIRKA NUH REGULAR 153 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 WITHIN 2 KMS ON EITHER SIDE OF RAO TULARAM CHOWK ON SH-17 (NATNAUL- ZHIRKA MAHENDRAGA RH REGULAR 1107 OPEN DC 35 35 1225 32 75 DRAW OF LOTS 15 5 320 CHARKHI DADRIR ROD, ON RIGHT HAND SIDE WHILE GOING FROM MARNAUL TO CHARKHI DADRI REGULAR 150 OPEN CC 2 DC 35 35 1225 32 95 DRAW OF LOTS 15 5 330 FROM KM STONE 32 TO KM STONE 139, ON NH 334B FROM JHALJAR TO DADRI JHAJJAR REGULAR 150 OBEC C1 DC 35 35	325	WHILE NH919 WHILE GOING FROM REWARI TO	NUH	REGULAR	175	OPEN	DC	35	35	1225	32	95		15	5
327 SECTOR-95 ON SECTOR 92-95 DIVIDING ROAD GURUGRAM REGULAR 150 SC CFS 20 400 0 0 DRAW OF LOTS 0 3 328 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA NUH REGULAR 153 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 WITHIN 2 KMS ON EITHER SIDE OF RAO TULARAM CHOWK ON SH-17 (NARNAUL- CHARKHI DADRI ROAD), ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI DADRI AMHENDRAGA RH 160 OPEN C2 DC 35 35 1225 32 95 DRAW OF LOTS 15 5 330 FROM KM STONE 137 TO KM STONE 139, ON PH JALJAR JHALJAR REGULAR 150 OPEN C2 DC 35 35 1225 32 95 DRAW OF LOTS 15 5 330 FROM KM STONE 337 TO KM STONE 339, ON PH REWARI JHALJAR REGULAR 150 OPEN C2 DC 35 35 1225 32 95 DRAW OF LOTS 15 5 330 FROM KM STONE 337 TO KM STONE 339, ON NH REWARI JHALJAR REGULAR 150 OBEC C1 DC	326	FROM KM STONE 74 TO KM STONE 79 ON SH-24		REGULAR	101	OPEN	DC	35	35	1225	32	75	DRAW OF	15	5
KM STONE 72 TO 76 ON RIGHT HAND SIDE NH 22H 84 A GOING FROM GURGAON TO FIROZPUR NUH REGULAR 153 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 WITHIN 2 KMS ON ETHER SIDE OF RAO TULARAM CHOWK ON SH-17 (NARNAUL- 22) CHARKH DADRI ROAD), ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI MAHENDRAGA RH REGULAR 107 OPEN DC 355 355 1225 322 755 DRAW OF LOTS 15 5 330 FROM KM STONE 137 TO KM STONE 139, ON NH 3348 FROM JHAJJAR TO DADRI JHAJJAR REGULAR 150 OPEN CC 2 DC 355 355 1225 322 95 DRAW OF LOTS 15 5 750 SKGHT HAND SIDE FROM ROHTAK TO DRAW OF LOTS JHAJJAR REGULAR 150 OPEN CC 2 DC 355 355 1225 32 95 DRAW OF LOTS 15 5 750 SKGHT HAND SIDE FROM ROHTAK TO REWARI JHAJJAR REGULAR 150 OBC CC 1 DC 355 355 1225 32 95 DRAW OF LOTS <td< td=""><td>327</td><td>SECTOR-95 ON SECTOR 92-95 DIVIDING ROAD</td><td></td><td>REGULAR</td><td>150</td><td>SC</td><td>CFS</td><td>20</td><td>20</td><td>400</td><td>0</td><td>0</td><td>DRAW OF</td><td>0</td><td>3</td></td<>	327	SECTOR-95 ON SECTOR 92-95 DIVIDING ROAD		REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF	0	3
WITHIN 2 KMS ON EITHER SIDE OF RAO TULARAM CHOWK ON SH-17 (NARNAUL- 239 MAHENDRAGA RH REGULAR 107 OPEN DC 35 35 1225 32 75 DRAW OF LOTS 15 5 330 FROM KM STONE 137 TO KM STONE 139, ON NH JAAJJAR JHAJJAR REGULAR 150 OPEN C2 DC 35 35 1225 32 95 DRAW OF LOTS 15 5 330 FROM KM STONE 137 TO KM STONE 139, ON NH 3343 JHAJJAR REGULAR 150 OPEN C2 DC 35 35 1225 32 95 DRAW OF LOTS 15 5 333 FROM KM STONE 382 TO KM STONE 384 ON NH 331 JHAJJAR REGULAR 150 OBC CC 1 DC 35 35 1225 32 95 DRAW OF LOTS 15 4 133 B2C, RIGHT HAND SIDE WHILE GOING FROM REVARITO REWARI MAHENDRAGA RH REGULAR 150 OBC CC 1 DC 35 35 1225 0 0 DRAW OF LOTS 15 5 333 NARNAUL WITHIN MUNCIPALITY LI	328	248 A GOING FROM GURGAON TO FIROZPUR	NUH	REGULAR	153	OBC	DC	35	35	1225	32	95		15	4
333 FROM KM STONE 137 TO KM STONE 139, ON NH JHAJJAR REGULAR 150 OPEN CC 2 DC 355 1225 32 95 DRAW OF 15 5 334 FROM KM STONE 382 TO KM STONE 384 ON NH JHAJJAR REGULAR 150 OBC CC 1 DC 355 1225 32 95 DRAW OF 15 5 331 352, R[GHT HAND SIDE FROM ROM STONE 384 ON NH JHAJJAR REGULAR 150 OBC CC 1 DC 35 35 1225 32 95 DRAW OF 15 5 REWARI REGULAR 150 OBC CC 1 DC 35 35 1225 32 95 DRAW OF 15 5 324 HAND SIDE WHILE COING FROM REWARI TO MARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL TO KOZINDA ROAD MAHENDRAGA RH REGULAR 162 OPEN DC 20 400 32 55 DRAW OF 15 5 333 NARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL TO KOZINDA ROAD MAHENDRAGA RH REGULAR 162 OPEN DC 20 400 32 55 DRAW OF 15 5	329	WITHIN 2 KMS ON EITHER SIDE OF RAO TULARAM CHOWK ON SH-17 (NARNAUL- CHARKHI DADRI ROAD), ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI		REGULAR	107	OPEN	DC	35	35	1225	32	75		15	5
331 352, RIGHT HAND SIDE FROM ROHTAK TO JHAJJAR REGULAR 150 OBC CC 1 DC 35 35 1225 32 95 DRAW OF LOTS 15 4 132 REWARI HAND SIDE WHILE GOING FROM REWARI TO NARNAUL IN HARYANA MAHENDRAGA RH REGULAR 191 SC CC 1 CFS 35 1225 0 0 DRAW OF LOTS 0 33 333 NARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL WITHIN MUNCIPALITY LIMIT ON RH MAHENDRAGA RH REGULAR 162 OPEN DC 20 400 32 55 DRAW OF LOTS 15 5 333 NARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL WITHIN MUNCIPALITY LIMIT ON RAME STORE 70 TO 11 ON NH48B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL MAHENDRAGA RH REGULAR 162 OPEN DC 35 1225 32 95 DRAW OF LOTS 15 5 334 MATENDE 70 10 10 N H44B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD RH REGULAR 278 OPEN DC 35 1225 32 95 DRAW OF LOTS 15 5 335 248A GOING FROM GURGAON TO FIROZPUR NUH <t< td=""><td>330</td><td>FROM KM STONE 137 TO KM STONE 139, ON NH 334B FROM JHAJJAR TO DADRI</td><td>JHAJJAR</td><td>REGULAR</td><td>150</td><td>OPEN CC 2</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td></td><td>15</td><td>5</td></t<>	330	FROM KM STONE 137 TO KM STONE 139, ON NH 334B FROM JHAJJAR TO DADRI	JHAJJAR	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95		15	5
FROM KM STONE 37 TO 44 ON NH11 ON RIGHT NARNAUL IN HARYANAMAHENDRAGA RHREGULAR191SC CC 1CFS3535122500DRAW OF LOTS033333NARNAUL IN HARYANA NARNAUL TO KOZINDA ROADMAHENDRAGA RHREGULAR162OPENDC20204003255DRAW OF LOTS155333NARNAUL TO KOZINDA ROAD NARNAUL TO KOZINDA ROADMAHENDRAGA RHREGULAR162OPENDC20204003255DRAW OF LOTS155334MARNAUL TO KOZINDA ROAD RTARHREGULAR162OPENDC353512253295DRAW OF LOTS155335MARNAULND SIDE WHILE GOING FROM PANIYALA MOD RHREGULAR278OPENDC353512253295DRAW OF LOTS155335248A GOING FROM GURGAON TO FIROZPURNUHREGULAR180OBCDC353512253295DRAW OF LOTS154333248A GOING FROM GURGAON TO FIROZPURNUHREGULAR150SCCES2040000DRAW OF LOTS154333334SEFTOR-12 GURGAONGURGAONGURDAMREGULAR150SCCES2040000DRAW OF LOTS033335248A GOING FROM GURGAONGURDAMREGULAR150SCCE	331	352, RIGHT HAND SIDE FROM ROHTAK TO REWARI	JHAJJAR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95		15	4
333 NARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL TO KOZINDA ROAD MAHENDRAGA RH REGULAR 162 OPEN DC 20 400 32 55 DRAW OF LOTS 15 5 334 NARNAUL TO KOZINDA ROAD RH RH 162 OPEN DC 20 400 32 55 DRAW OF LOTS 15 5 334 FROM KM STONE 9TO 11 ON NH148B ON LEFT TO NARNAUL MAHENDRAGA RH REGULAR 278 OPEN DC 355 35 1225 32 95 DRAW OF LOTS 15 5 335 248A GOING FROM GURGAON TO FIROZPUR NUH REGULAR 180 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 335 248A GOING FROM GURGAON TO FIROZPUR NUH REGULAR 150 SC CES 20 400 0 0 DRAW OF LOTS 15 4 336 SECTOR-12 GURGAON GURGAON GURDABA REGULAR 150 SC CES 20 400 0 0 DRAW OF LOTS 15 4 <td>332</td> <td>FROM KM STONE 37 TO 44 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM REWARI TO</td> <td></td> <td>REGULAR</td> <td>191</td> <td>SC CC 1</td> <td>CFS</td> <td>35</td> <td>35</td> <td>1225</td> <td>0</td> <td>0</td> <td></td> <td>0</td> <td>3</td>	332	FROM KM STONE 37 TO 44 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM REWARI TO		REGULAR	191	SC CC 1	CFS	35	35	1225	0	0		0	3
334 HAND SIDE WHILE GOING FROM PANIYALA MOD MAHENDRAGA RH REGULAR 278 OPEN DC 35 35 1225 32 95 DRAW OF LOTS 15 5 XMARENDRATION RH REGULAR 278 OPEN DC 35 35 1225 32 95 DRAW OF LOTS 15 5 XMARENDRATION RH REGULAR 180 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 335 248A GOING FROM GURGAON TO FIROZPUR NUH REGULAR 180 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 336 SEFTOR-12 GURGAON GURDAGAN REGULAR 150 SC CES 20 400 0 D DRAW OF 0 3	333	NARNAUL WITHIN MUNCIPALITY LIMIT ON NARNAUL TO KOZINDA ROAD		REGULAR	162	OPEN	DC	20	20	400	32	55		15	5
KM STONE 79 TO 81 ON LEFT HAND SIDE NH NUH REGULAR 180 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 336 SECTOR 12 GURGAON GURLGAON GURLGAON GURLGAON REGULAR 150 SC CES 20 400 0 0 DRAW OF LOTS 15 4	334	FROM KM STONE 9 TO 11 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL		REGULAR	278	OPEN	DC	35	35	1225	32	95		15	5
336 SECTOR 12 GURGADN GURUGRAM REGULAR 150 SC CES 20 20 400 0 0 DRAW OF 0 3	335	KM STONE 79 TO 81 ON LEFT HAND SIDE NH 248A GOING FROM GURGAON TO FIROZPUR	NUH	REGULAR	180	OBC	DC	35	35	1225	32	95	LOTS	15	4
	336	SECTOR-12, GURGAON	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

337	WITHIN 2 KMS FROM MAHAVIR CHOWK TOWARDS MAHENDERGARH ON SH17 ON NARNAUL MAHENDERGARH ROAD	MAHENDRAGA RH	REGULAR	162	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
338	WITHIN 2 KMS ON EITHER SIDE OF RAO TULARAM CHOWK ON SH-17(NARNAUL- CHARKHI DADRI ROAD), ON LEFT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI	MAHENDRAGA RH	REGULAR	107	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
339	DADRI KM STONE 79 TO 81 ON RIGHT HAND SIDE NH 248A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
340	FROM KM STONE 60 TO 63 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM REWARI TO NARNAUL	MAHENDRAGA RH	REGULAR	191	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
341	SECTOR-64, ON SECTOR 65-64 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
342	FROM KM STONE 70 TO 73 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA	MAHENDRAGA RH	REGULAR	182	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
343	KM STONE 83 TO 87 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
344	NANGAL CHAUDHARY WITHIN MUNICIPAL LIMITS ON NARNAUL NANGAL CHOUDHARY ROAD	MAHENDRAGA RH	REGULAR	156	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
345	SECTOR-84 ON SECTOR 84-85 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
346	KM STONE 91 TO 95 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
347	FROM KM STONE 77 TO 79 ON NH11 ON LEFT HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA IN HARYANA	MAHENDRAGA RH	REGULAR	224	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
348	FROM KM STONE 5 TO 7 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL IN HARYANA	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
349	FROM KM STONE 56 TO 59 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM REWARI TO NARNAUL	MAHENDRAGA RH	REGULAR	191	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
350	SECTOR-85 ON SECTOR 84-85 DIVIDING ROAD	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
351	FROM KM STONE 7 TO 9 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL FROM KM STONE 7 TO 9 ON NH148B ON RIGHT	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
352	HAND SIDE 7 TO 9 ON NH 148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL FROM KM STONE 73 TO 75 ON NH11 ON RIGHT	MAHENDRAGA RH	REGULAR	202	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
353	HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA	MAHENDRAGA RH	REGULAR	182	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
354	FROM JAMALPUR CHOWK TO DELHI PUBLIC SCHOOL (PATAUDI) ON RIGHT HAND SIDE WHILE MOVING FROM GURGAON TO REWARI ON NH-352W(GURGAON- PATAUDI-REWARI ROAD) (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
355	FROM KM STONE 11 TO 13 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
356	FROM KM STONE 13 TO 15 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
357	KM STONE 38 TO KM STONE 42 ON NH 248 A (GURGAON-ALWAR ROAD) RHS WHILE GOING FROM GURGAON TOWARD ALWAR	NUH	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
358	KM STONE 68 TO 72 ON LEFT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
359	FROM KM STONE 13 TO 15 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	202	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
360	FROM KM STONE 16 TO 20 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL FROM KM STONE 75 TO 77 ON NH11 ON LEFT	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
361	FROM KM STONE 75 TO 77 ON NH11 ON LEFT HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA FROM KM STONE 16 TO 20 ON NH148B ON	MAHENDRAGA RH	REGULAR	224	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
362	RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL PATAUDI NEW BYEPASS ROAD ON RIGHT HAND	MAHENDRAGA RH	REGULAR	202	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
363	SIDE WHILE MOVING FROM GURGAON TO REWARI ON GURGAON-REWARI ROAD (NOT BELOW FLYOVER)	GURUGRAM	REGULAR	293	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
364	FROM KM STONE 41 TO 43 ON BYEPASS OF NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO SINGHANA	MAHENDRAGA RH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
365	FROM KM STONE 5 TO 7 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL IN HARYANA	MAHENDRAGA RH	REGULAR	202	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
366	FROM KM STONE 20 TO 23 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	202	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
367	FROM SAINIK COLONY TO NEELAM FLYOVER ON GURGAON FARIDABAD ROAD	FARIDABAD	REGULAR	240	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
368	FROM KM STONE 9 TO 11 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	202	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
369	FROM KM STONE 23 TO 26 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
370	FROM KM STONE 384 TO KM STONE 399 ON NH 352, RIGHT HAND SIDE FROM ROHTAK TO REWARI (NOT UNDER FLYOVER)	JHAJJAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
371	FROM KM STONE 11 TO 13 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	202	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
372	WITHIN 2 KMS FROM PDM UNIVERSITY TOWARDS BAHADURGARH ON BAHADURGARH- BERI ROAD (WITHIN MUNICIPAL LIMITS)	JHAJJAR	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
373	FROM KM STONE 377 KM STONE TO 380 ON NH 352, RIGHT HAND SIDE FROM ROHTAK TO REWARI	JHAJJAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
374	FROM KM STONE 26 TO 28 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

375	FROM KM STONE 28 TO 31 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	202	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
376	FROM NH-9 INTERSECTION TO DELHI PUBLIC SCHOOL ON RIGHT HAND SIDE WHILE MOVING FROM BAHADURGARH TO JHAJJAR ON BAHADURGARH- JHAJJAR ROAD	JHAJJAR	REGULAR	152	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
377	FROM KM STONE 41 TO 43 ON BYEPASS OF NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO SINGHANA	MAHENDRAGA RH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
378	FROM KM STONE 28 TO 31 ON NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL	MAHENDRAGA RH	REGULAR	278	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
379	ON BYEPASS OF SH17 BETWEEN INTERSECTION WITH NANGAL CHAUDHARY ROAD AND SINGHANA ROAD	MAHENDRAGA RH	REGULAR	179	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
380	FROM KM STONE 403 TO KM STONE 407 ON NH 352, LEFT HAND SIDE FROM ROHTAK TO REWARI	JHAJJAR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
381	ON SECTOR 50-51 DIVIDING ROAD, IN BETWEEN BAANI SQUARE AND GOLF COURSE EXTENSION ROAD	GURUGRAM	REGULAR	170	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
382	FROM KM STONE 24 TO 28 ON NH-11 ON RIGHT HAND SIDE GOING FROM REWARI TO NARNAUL	REWARI	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
383	FROM KM STONE 43 TO 46 ON BYEPASS OF NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO SINGHANA	MAHENDRAGA RH	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
384	FROM KM STONE 144 TO KM STONE 147, ON NH 334B FROM JHAJJAR TO DADRI	JHAJJAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
385	FROM FOUNDATION PUBLIC SCHOOL TO NH-9 INTERSECTION ON RIGHT HAND SIDE WHILE MOVING FROM BAHADURGARH TO JHAJJAR ON BAHADURGARH-JHAJJAR ROAD	JHAJJAR	REGULAR	107	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
386	FROM KM STONE NO. 15 TO KM STONE 21, ON SH 15A, LEFT HAND SIDE FROM JHAJJAR TO FARUKHNAGAR	JHAJJAR	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
387	FROM KM STONE 5 TO 9 ON SH17 FROM NIZAMPUR TO NARNAUL ROAD	MAHENDRAGA RH	REGULAR	107	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
388	BETWEEN KM STONE 71 TO 74, LEFT HAND SIDE TOWARDS REWARI ON NH 71B(NEW NH 919)	REWARI	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
389	BETWEEN KM STONE 71 TO 74, RIGHT HAND SIDE TOWARDS REWARI ON NH 71B(NEW NH 919)	REWARI	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
390	NUH(WITHIN MUNICIPAL LIMIT) WHILE GOING FROM NUH TO HODAL ON NUH-HODAL ROAD	NUH	REGULAR	140	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
391	ON BYEPASS OF SH17 BETWEEN INTERSECTION WITH SINGHANA ROAD AND MAHENDERGARH ROAD	MAHENDRAGA RH	REGULAR	179	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
392	RIGHT HAND SIDE ON NH-48, BETWEEN KM STONE 99 AND KM STONE 101 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
393	FROM KM STONE 400 TO KM STONE 403 ON NH 352, RIGHT HAND SIDE FROM ROHTAK TO REWARI FIROZPUR ZHIRKA NOT ON NH248A (WITHIN	JHAJJAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
394	MUNICIPAL LIMIT) WHILE GOING FROM FIROZPUR ZHIRKA TO BHIWAN ON FIROZPUR ZHIRKA-BHIWAN ROAD	NUH	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
395	ATELI WITHIN MUNICIPAL LIMITS ON NARNAUL ROAD NOT ON NH	MAHENDRAGA RH	REGULAR	104	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
396	RIGHT HAND SIDE ON NH-48, BETWEEN KM STONE 97 AND KM STONE 99 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
397	RIGHT HAND SIDE ON NH-48, BETWEEN KM STONE 95 AND KM STONE 97 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
398	FROM KM STONE 32 TO KM STONE 40 ON SH 22 FROM JHAJJAR TO KOSLI	JHAJJAR	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
399	KM STONE 30 TO 32 LEFT HAND SIDE ON WHILE NH919 WHILE GOING FROM REWARI TO PALWAL LEFT HAND SIDE ON NH-48, BETWEEN KM	NUH	REGULAR	175	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
400	STONE 101 AND KM STONE 103 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	165	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
401	LEFT HAND SIDE ON NH-48, BETWEEN KM STONE 99 AND KM STONE 101 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	165	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
402	FROM KM STONE 384 TO KM STONE 399 ON NH 352, LEFT HAND SIDE FROM ROHTAK TO REWARI (NOT UNDER FLYOVER)	JHAJJAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
403	KM STONE 60 TO 64 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
404	LEFT HAND SIDE ON NH-48, BETWEEN KM STONE 97 AND KM STONE 99 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	165	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
405	LEFT HAND SIDE ON NH-48, BETWEEN KM STONE 95 AND KM STONE 97 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	165	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
406	WITHIN MUNICIPAL LIMIT OF BAWAL ON RAILWAY ROAD BAWAL FROM SIR CHOTURAM CHOWK TO NH8 VIA BAWAL TEHSIL OFFICE	REWARI	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
407	KM STONE 87 TO 91 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
408	LEFT HAND SIDE ON NH-48, BETWEEN KM STONE 93 AND KM STONE 95 WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	165	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
409	FROM RAJESH PILOT CHOWK TO RAO ABEY SINGH CHOWK ON REWARI HUDA BYPASS (OLD NH 11)	REWARI	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
410	RIGHT HAND SIDE ON NH-48, 105 KM STONE TO RAJASTHAN BORDER WHILE GOING FROM REWARI TO JAIPUR	REWARI	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
411	RIGHT HAND SIDE ON NH-48, BETWEEN KM STONE 103 AND KM STONE 105 WHILE GOING FROM REWARI TO JAIPUR FROM KANSTONE 4 TO 54 ON NH11 ON DICHT	REWARI	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
412	FROM KM STONE 45 TO 51 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM REWARI TO NARNAUL	MAHENDRAGA RH	REGULAR	191	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

ON REWARI BYPASS ROAD BETWEEN REWARI REWARI REGULAR 160 OBC DC 35 35 1225 32 95 413 JHAJJHAR ROAD JUNCTION AND LEVT HAND SIDE REWARI REGULAR 170 OPEN DC 35 35 1225 32 95 414 STOME 101 AND SIDE ON IN-148, BETWEEN KM REWARI REGULAR 170 OPEN DC 35 35 1225 32 95 415 STOME 103 AND CM STOME 103 WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 416 FROM REVARI 103 AND CM STOME 105 WHILE GOING REWARI REGULAR 224 SC CFS 35 125 0 0 416 HAND SIDE ON NH-48, DETWEEN REWARI REGULAR 224 SC CFS 35 125 0 0 417 HAND SIDE ON NH-68, DETWEEN REWARI REGULAR 160 OBC DC 35 35 1225 32 95	DRAW OF LOTS DRAW OF	15 15 15 0 15 15 15 15 15 0 15	4 5 3 4 5 5 5 4 4 3 5 5
1414 STONE 101 AND KM STONE 103 WHILE GOING REWARI REGULAR 170 OPEN DC 35 35 1225 32 95 1415 STONE 105 WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 1415 STONE 105 WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 1415 STONE 105 WHILE GOING FROM NARNAUL TO MAHENDRAGA REGULAR 224 SC CFS 35 35 1225 0 0 1417 JHAJ,JHAR ROAD JUNCTION NARNAUL TO MAHENDRAGA REGULAR 160 OBC DC 35 35 1225 32 95 1417 JHAJ,JHAR ROAD JUNCTION NAND REWARI REWARI REGULAR 160 OBC DC 35 35 1225 32 95 1417 JHAJ,JHAR ROAD JUNCTION NAND REWARI REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 1418 ON NANGAL SIROHI BYPASS (BYP	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 0 15 15 15 15 15 0	5 3 4 5 5 4 3 3
415 STONE 103 AND KM STONE 105 WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 FROM REWARI TO JAJPUR FROM KM STONE 73 TO 75 ON NH11 ON LEFT MAHENDRAGA REGULAR 224 SC CFS 35 35 1225 0 0 116 SIDE WHILE GOING FROM NARNAUL TO MAHENDRAGA REGULAR 224 SC CFS 35 35 1225 0 0 117 JHAJJHAR ROAD JUNCTION AND REWARI REWARI REGULAR 160 OBC DC 35 35 1225 32 95 117 ON REWARI BYPASS ROAD BETWEEN REWARI REWARI REGULAR 160 OBC DC 35 35 1225 32 95 118 BCRLY ROAD JUNCTION AND REWARI D REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 118 BORDER ON LEFT HAND SIDE WHILE GOING FROM NARNAUL TO MAHENDRAGARH REGULAR 101 OPEN CC 1 DC 35 35 1225 32 95 1419	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	0 15 15 15 15 15 0	3 4 5 5 4 4 3
416 HAND SIDE WHILE GOING FROM NARNAUL TO IMMERIONACIA RH REGULAR 224 SC CFS 35 35 1225 0 0 416 HAND SIDE WHILE GOING FROM NARNAUL TO RH REGULAR 224 SC CFS 35 35 1225 0 0 417 JHAJIHAR ROAD JUNCTION AND REWARI BERLY ROAD JUNCTION ON RIGHT HAND SIDE REWARI REGULAR 160 OBC DC 35 35 1225 32 95 418 ON NH-48, FROM 107 KM STONE TO RAJASTHAN BERLY ROAD JUNCTION ON RIGHT HAND SIDE WHILE GOING FROM REWARI TO JAIPUR REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 419 ON NANGAL SIROHI BYPASS ROAD BETWEEN REWARI NARNAUL TO MAHENDRAGARH REGULAR 101 OPEN CC 1 DC 35 35 1225 32 75 420 ON REWARI BYPASS ROAD BETWEEN REWARI REGULAR REGULAR 100 OBC DC 35 35 1225 32 95 60 NEWARI BYPASS ROAD BETWEEN REWARI REGULAR REGULAR 160 OBC DC 35 35 1225 32 </td <td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF</td> <td>15 15 15 15 15 0</td> <td>4 5 5 4 3</td>	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 15 15 15 0	4 5 5 4 3
417 JHAJHAR ROAD JUNCTION AND REWARI BERLY ROAD JUNCTION ON RIGHT HAND SIDE REWARI REGULAR 160 OBC DC 35 35 1225 32 95 418 BORDER ON LEFT HAND SIDE WHILE GOING FROM REWARI TO JAIPUR REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 418 BORDER ON LEFT HAND SIDE WHILE GOING FROM REWARI TO JAIPUR REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 419 ON NANGAL SIROHI BYPASS (BYPASS OF SH-17) ON REWARI DIDAMENDRAGARH MAHENDRAGA RH REGULAR 101 OPEN CC 1 DC 35 35 1225 32 75 420 ON REWARI BYPASS ROAD BETWEEN REWARI BERLY ROAD JUNCTION AND NH 11 JUNCTION REWARI REGULAR 160 OBC DC 35 35 1225 32 95 421 HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA IN HARYANA REWARI REGULAR 182 SC CFS 35 35 1225 0 0 422 STONE T7 TO 79 ON NH11 ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA IN HARYANA REGULAR <td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF</td> <td>15 15 15 0</td> <td>5 5 4 3</td>	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF	15 15 15 0	5 5 4 3
418 BORDER ON LEFT HAND SIDE WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 418 BORDER ON LEFT HAND SIDE WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 419 ON NANGAL SIROHI BYPASS (BYPASS OF SH-17) NARHAUL TO MAHENDRAGARH MAHENDRAGA RH 101 OPEN CC 1 DC 35 35 1225 32 75 420 BERLY ROAD JUNCTION AND NH 11 JUNCTION ON LEFT HAND SIDE REWARI REGULAR 160 OBC DC 35 35 1225 32 95 420 BERLY GOAD JUNCTION AND NH 11 JUNCTION ON LEFT HAND SIDE MAHENDRAGA RH REGULAR 160 OBC DC 35 35 1225 0 0 421 HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA IN HARYANA MAHENDRAGA RH REGULAR 182 SC CFS 35 35 1225 0 0 422 STONE 105 AND KM STONE 107 WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF	15 15 0	5 4 3
419 ARNAUL TO MAHENDRAGARHImmericit And Side While Going FROM RHImmericit And Side While Going FROM RHImmericit And Side While Going FROM RHImmericit And Side While Going FROM REWARIImmericit And Side While Going FROM REWARIImmericit And Side While Going FROM Net Name REWARI And Side While Going FROM Net Name RHImmericit And Side While Going FROM Net Name REWARIImmericit And Side While Going FROM Net Name RHImmericit And Side While Going FROM Net Name REGULARImmericit And Side While Going FROM Net Name REGULARImmericit And Side While Going FROM Net Name REGULARImmericit And Side While Going FROM Net Name REWARI TO JAIPURImmericit And Side While Going FROM Rewari To Going FROM Rewari To Going FROM Rewari To And Dun REWARI TO ADIPURGURUGRAM REGULARREGULAR150OPENDC20204003275423FROM Net-248 INTERSECTION TILL INDANE BOTTLING PLANT ON DHUMASPUR ROADGURUGRAM REGULARREGULAR150OPENDC20204003275424BERLY FROM H-248 INTERSECTION TILL INDANE BOTTLING PLANT ON DHUMASPUR ROADGURUGRAM REWARIREGULAR160OBCDC353512253295<	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF	15	4
420 BERLY ROAD JUNCTION AND NH 11 JUNCTION REWARI REGULAR 160 OBC DC 35 35 1225 32 95 ON LEFT HAND SIDE FROM KM STONE 77 TO 79 ON NH11 ON RIGHT MAHENDRAGA REGULAR 182 SC CFS 35 35 1225 0 0 421 HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA IN HARYANA MAHENDRAGA REGULAR 182 SC CFS 35 35 1225 0 0 422 STORE 105 AND KM STONE 107 WHILE GOING FROM REWARI TO JAIPUR REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 423 FROM NH-248 INTERSECTION TILL INDANE BOTTLING PLANT ON DHUMASPUR ROAD GURUGRAM REGULAR 150 OPEN DC 20 20 400 32 75 424 BERLY ROAD JUNCTION AND NH 11 JUNCTION ON RIGHT HAND SIDE REWARI REGULAR 160 OBC DC 35 35 1225 32 95 424 BERLY ROAD JUNCTION AND NH 11 JUNCTION ON RIGHT HAND SIDE REWARI REGULAR 160 OBC DC <td< td=""><td>LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF</td><td>0</td><td>3</td></td<>	LOTS DRAW OF	0	3
421 HAND SIDE WHILE GOING FROM NARNAUL TO SINGHANA IN HARYANA MMARENDROA RH REGULAR 182 SC CFS 35 35 1225 0 0 421 SINGHANA IN HARYANA LEFT HAND SIDE ON NH-48, BETWEEN KM REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 422 STOM 105 AND KM STONE 107 WHILE GOING FROM REWARI TO JAIPUR GURUGRAM REGULAR 175 OPEN DC 35 35 1225 32 95 423 FROM NH-248 INTERSECTION TILL INDANE BOTTLING PLANT ON DHUMASPUR ROAD GURUGRAM REGULAR 150 OPEN DC 20 20 400 32 75 424 BERLY ROAD JUNCTION AND MH 11 JUNCTION ON REWARI BYPASS ROAD BETWEEN REWARI BERLY ROAD JUNCTION AND MH 11 JUNCTION REWARI REGULAR 160 OBC DC 35 35 1225 32 95 424 BERLY ROAD JUNCTION AND MH 11 JUNCTION ON RIGHT HAND SIDE REWARI REGULAR 160 OBC DC 35 35 1225 32 <	LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF DRAW OF		
422 STONE 105 AND KM STONE 107 WHILE GOING REWARI REGULAR 175 OPEN DC 35 35 1225 32 95 423 FROM REWARI TO JAIPUR FROM REWARI TO JAIPUR GURUGRAM REGULAR 150 OPEN DC 35 35 1225 32 95 423 FROM NH-248 INTERSECTION TILL INDANE BOTTLING PLANT ON DHUMASPUR ROAD GURUGRAM REGULAR 150 OPEN DC 20 20 400 32 75 0N REWARI BYPASS ROAD BETWEEN REWARI 424 BERLY ROAD JUNCTION AND NH 11 JUNCTION ON REWARI BYPASS ROAD JUNCTION AND NH 11 JUNCTION REWARI REGULAR 160 OBC DC 35 35 1225 32 95 0N REWARI STONE 37 TO 41 ON NH11 ON LEFT FROM KM STONE 37 TO 41 ON NH11 ON LEFT 425 MAHENDRAGA REGULAR 191 SC CES 35 35 1225 0 0	LOTS DRAW OF LOTS DRAW OF	15	5
423 BOTTLING PLANT ON DHUMASPUR ROAD GURUGRAM REGULAR 150 OPEN DC 20 20 400 32 75 0 ON REWARI BYPASS ROAD BETWEEN REWARI 0N REWARI BYPASS ROAD BETWEEN REWARI REGULAR 160 0BC DC 35 35 1225 32 95 0 N RIGHT HAND SIDE FROM KM STONE 37 TO 41 ON NH11 ON LEFT MAHENDRAGA REGULAR 191 SC CES 35 35 1225 0 0	LOTS DRAW OF		
424 BERLY ROAD JUNCTION AND NH 11 JUNCTION REWARI REGULAR 160 OBC DC 35 35 1225 32 95 ON RIGHT HAND SIDE FROM KM STONE 37 TO 41 ON NH11 ON LEFT MAHENDRAGA REGULAR 191 SC CES 35 35 1225 0 0		15	5
425 HAND SIDE WHILE GOING FROM REWARLTO MAHENDRAGA REGULAR 191 SC CES 35 35 1225 0 0	LOTS	15	4
NARNAUL	DRAW OF LOTS	0	3
WITHIN 3 KM FROM VATIKA CHOWK ON LEFT HAND SIDE ON NH-248 A (GURGAON-ALWAR ROAD) WHILE GOING FROM GURGAON TOWARD ALWAR HAND SIDE ON HILE GOING FROM GURGAON	DRAW OF LOTS	15	5
KM STONE 12 TO KM STONE 15 ON NH 248 A GURUGRAM REGULAR 152 OPEN DC 20 20 400 32 75 427 (GURGAON-ALWAR ROAD) LHS WHILE GOING GURUGRAM REGULAR 152 OPEN DC 20 20 400 32 75 FROM GURGAON TOWARD ALWAR 75	DRAW OF LOTS	15	5
428 LEFT HAND SIDE ON NH-11 (REWARI-NARNAUL) ROAD FROM KM STONE 12 TO KM STONE 16 REWARI REGULAR 160 OBC DC 35 35 1225 32 95	DRAW OF LOTS	15	4
KM STONE 15 TO KM STONE 16 ON NH 248 A GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 429 (GURGAON-ALWAR ROAD) LHS WHILE GOING GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
430 SEC 103 ROAD ALONG SIDE DELHI PUBLIC 430 SCHOOL, SECTOR 103 CONNECTING DWARKA EXPRESSWAY TO DHANKOT-NAJAFGARH ROAD GURUGRAM	DRAW OF LOTS	0	3
KM STONE 34 TO KM STONE 38 ON NH 248 A REGULAR 150 OPEN CC 2 DC 35 35 1225 32 95 431 (GURGAON-ALWAR ROAD) RHS WHILE GOING FROM SURGAON TOWARD ALWAR NUH REGULAR 150 OPEN CC 2 DC 35 35 1225 32 95	DRAW OF LOTS	15	5
FROM KM STONE 427 TO 437 ON NH-352 (OLD REWARI REGULAR 150 OBC CC 1 DC 35 35 1225 32 95 JHAJJAR TO NH-48 JHAJJAR TO NH-48 REWARI REGULAR 150 OBC CC 1 DC 35 35 1225 32 95	DRAW OF LOTS	15	4
KM STONE 48 TO KM STONE 51 ON NH-919 GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 433 SOHNA TOWARD PALWAL DALWAL LHS WHILE GOING FROM GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
FROM KM STONE 26 TO 28 ON NH148B ON 434 MAHENDRAGA PAINYALA MOD TO NARNAUL MAHENDRAGA RH REGULAR 202 SC CFS 35 35 1225 0 0	DRAW OF LOTS	0	3
RIGHT HAND SIDE ON NH-11 (REWARI- 435 NARNAUL) ROAD FROM KM STONE 12 TO KM REWARI REGULAR 160 OBC DC 35 35 1225 32 95 STONE 16 0 0 0 0 0 0 0 35 35 1225 32 95	DRAW OF LOTS	15	4
KM STONE 51 TO KM STONE 53 ON NH-919 GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 436 SOHNA TO PALWAL LHS WHILE GOING FROM SOHNA TOWARD PALWAL GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
KM STONE 53 TO KM STONE 56 ON NH-919 GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 437 SOHNA TO PALWAL LHS WHILE GOING FROM SOHNA TOWARD PALWAL GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
438 LEFT HAND SIDE ON NH-11 (REWARI-NARNAUL) ROAD FROM KM STONE 16 TO KM STONE 19 REWARI REGULAR 160 OBC DC 35 35 1225 32 95	DRAW OF LOTS	15	4
FROM KM STONE 20 TO 23 ON NH148B ON LEFT MAHENDRAGA REGULAR 278 SC CFS 35 35 1225 0 0	DRAW OF LOTS	0	3
KM STONE 18 TO KM STONE 20 ON NH 248 A GURUGRAM GURUGRAM Carbon 152 OPEN DC 35 35 1225 32 95 440 (GURGAON-ALWAR ROAD) LHS WHILE GOING FROM BURGAON TOWARD ALWAR GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
441 SECTOR-78, ON SECTOR 78-79 DIVIDING ROAD GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
442 LEFT HAND SIDE ON NH-11 (REWARI-NARNAUL) ROAD FROM KM STONE 19 TO KM STONE 22 REWARI REGULAR 160 OBC DC 35 1225 32 95	DRAW OF LOTS	15	4
443 FROM KM STONE 46 TO 50 ON BYEPASS OF NH148B ON LEFT HAND SIDE WHILE GOING FROM PANIYALA MOD TO SINGHANA MAHENDRAGA RH REGULAR 150 SC CFS 35 35 1225 0 0	DRAW OF LOTS	0	3
KM STONE 22 TO KM STONE 24 ON NH 248 A GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 444 (GURGAON-ALWAR ROAD) LHS WHILE GOING GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 FROM GURGAON TOWARD ALWAR FRO	DRAW OF LOTS	15	5
FROM KM STONE 417 TO 427 ON NH-352 (QLD REWARI REGULAR 150 OPEN CC 1 DC 35 35 1225 32 95 JHAJJAR TO NH-48 35 35 1225 32 95	DRAW OF LOTS	15	5
WITHIN 2 KM FROM NH 48 ON RIGHT HAND SIDE No. 100 (0LD 75 No. 100 (0LD 75) No. 100 (0LD 75 No. 100 (0LD 75)	DRAW OF LOTS	15	4
BHIWADI BHIWADI BHIWADI Image: Constraint of the state of t	DRAW OF LOTS	0	3
KM STONE 24 TO KM STONE 27 ON NH 248 A GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95 448 (GURGAON-ALWAR ROAD) LHS WHILE GOING GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
KM STONE 48 TO KM STONE 51 ON NH-919 GURUGRAM REGULAR 152 OPEN DC 35 35 1225 32 95	DRAW OF LOTS	15	5
SOHNA TOWARD PALWAL Matembra Toward Palwal Image: Comparison of the comparison of	DRAW OF LOTS	15	4

	KM STONE 51 TO KM STONE 53 ON NH-919							1			1	1		
451	SOHNA TO PALWAL RHS WHILE GOING FROM SOHNA TOWARD PALWAL	GURUGRAM	REGULAR	152	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
452	WITHIN 2 KM FROM HERO HONDA CHOWK TOWARDS JHUNJUNU ON NH 11 ON NARNAUL JHUNJUNU ROAD	MAHENDRAGA RH	REGULAR	162	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
453	KM STONE 29 TO KM STONE 31 ON NH 248 A (GURGAON-ALWAR ROAD) LHS WHILE GOING FROM GURGAON TOWARD ALWAR	NUH	REGULAR	155	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
454	4 KM FROM HPC RETAIL OUTLET NAMAN AUTO FUELS WHILE GOING FROM HPC RETAIL OUTLET NAMAN AUTO FUELS TOWARDS NARNAUL, ON RIGHT HAND SIDE WHILE GOING FROM NARNAUL TO CHARKHI DADRI	MAHENDRAGA RH	REGULAR	102	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
455	WITHIN 5 KM FROM VATIKA CHOWK ON RIGHT HAND SIDE ON NH-248 A (GURGAON-ALWAR ROAD) WHILE GOING FROM GURGAON TOWARD ALWAR	GURUGRAM	REGULAR	160	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
456	FROM KM STONE 80 TO KM STONE 74 ON NH334B (LEFT HAND SIDE FROM JHAJJAR TO SAMPLA NOT UNDER FLYOVER)	JHAJJAR	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
457	KM STONE 91 TO 95 ON RIGHT HAND SIDE NH 248 A GOING FROM GURGAON TO FIROZPUR ZHIRKA	NUH	REGULAR	153	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
458	KM STONE 15 TO KM STONE 20 ON NH-248 A (GURGAON- ALWAR ROAD) , RHS WHILE GOING FROM GURGAON TOWARD ALWAR	GURUGRAM	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
459	KM STONE 20 TO KM STONE 23 ON NH-248 A (GURGAON- ALWAR ROAD) , RHS WHILE GOING FROM GURGAON TOWARD ALWAR	GURUGRAM	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
460	ON NANGAL SIROHI BYPASS (BYPASS OF SH-17) , ON LEFT HAND SIDE WHILE GOING FROM NARNAUL TO MAHENDRAGARH	MAHENDRAGA RH	REGULAR	101	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
461	FROM KM STONE 0 TO 4 ON SH17 FROM NIZAMPUR TO NARNAUL ROAD	MAHENDRAGA RH	REGULAR	107	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
462	KM STONE 23 TO KM STONE 27 ON NH-248 A (GURGAON- ALWAR ROAD) , RHS WHILE GOING FROM GURGAON TOWARD ALWAR	GURUGRAM	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
463	WITHIN 2 KM FROM NH 248A INTERSECTION TOWARDS AKLIMPUR ON AKLIMPUR-TEEKLI (TIKLI) ROAD	GURUGRAM	REGULAR	160	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
464	FROM KM STONE 12 TO KM STONE 16 ON SH-24 (REWARI-SATNALI ROAD)	REWARI	REGULAR	101	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
465	NARNUAL WITHIN MUNICIPAL LIMITS ON CI ROAD BETWEEN PANCH KUIWALA MANDIR AND NARNAUL TO NANGAL CHAUDHARY ROAD	MAHENDRAGA RH	REGULAR	162	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
466	KM STONE 62 TO KM STONE 64 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	185	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
467	KM STONE 64 TO KM STONE 67 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	185	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
468	KM STONE 70 TO KM STONE 72 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	185	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
469	KM STONE 29 TO KM STONE 31 ON NH 248 A (GURGAON-ALWAR ROAD) RHS WHILE GOING FROM GURGAON TOWARD ALWAR	NUH	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
470	WITHIN 1 KM FROM RAJIV GANDHI CHOWK ON RAILWAY STATION ROAD NARNAUL WITHIN MUNICIPAL LIMITS	MAHENDRAGA RH	REGULAR	162	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
471	FROM KM STONE 428 AND 437 ON NH-352 (OLD NH-71) ON RIGHT HAND SIDE GOING FROM JHAJJAR TO NH-48	REWARI	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
472	KM STONE 38 TO KM STONE 42 ON NH 248 A (GURGAON-ALWAR ROAD) LHS WHILE GOING FROM GURGAON TOWARD ALWAR	NUH	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
473	KM STONE 25 TO KM STONE 27 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
474	FROM KM STONE 23 TO 26 ON NH148B ON RIGHT HAND SIDE WHILE GOING FROM PANIYALA MOD TO NARNAUL KM STONE 27 TO KM STONE 29 ON RIGHT HAND	MAHENDRAGA RH	REGULAR	202	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
475	SIDE 23 ON RIGHT AND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 34 TO KM STONE 38 ON NH 248 A	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
476	(GURGAON-ALWAR ROAD) LHS WHILE GOING FROM GURGAON TOWARD ALWAR KM STONE 29 TO KM STONE 31 ON RIGHT HAND	NUH	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
477	SIDNE 29 TO KM STONE 31 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 31 TO KM STONE 33 ON RIGHT HAND	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
478	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 31 TO KM STONE 34 ON NH 248 A	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
479	(GURGAON-ALWAR ROAD) RHS WHILE GOING FROM GURGAON TOWARD ALWAR FROM KM STONE 437 TO 443 ON NH-352 (OLD	NUH	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
480	NH-71) ON LEFT HAND SIDE GOING FROM JHAJJAR TO NH-48 KM STONE 33 TO KM STONE 35 ON RIGHT HAND	REWARI	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS DRAW OF	15	4
481	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 FROM KM STONE 0 TO KM STONE 5 ON SH 15A	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	LOTS DRAW OF	15	5
482 483	(JHAJJAR-FARRUKHNAGAR ROAD) WITHIN 1 KM FROM PANCHVATI CHOWK	JHAJJAR PALWAL	REGULAR	100	OPEN PH SC	DC	35	35 35	1225 1225	32 0	75	LOTS DRAW OF	15 0	5
483	PALWAL ON NH-919 KM STONE 42 TO KM STONE 45 ON NH 248 A	FALWAL	REGULAK	170	<u>ə</u> c	CFS	30	35	1225	U	U	LOTS	0	
484	(GURGAON-ALWAR ROAD) LHS WHILE GOING FROM GURGAON TOWARD ALWAR KM STONE 35 TO KM STONE 37 ON RIGHT HAND	NUH	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS DRAW OF	15	4
485	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 68 TO KM STONE 70 ON RIGHT HAND	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	LOTS DRAW OF	15	5
486	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 FROM KM STONE 32 TO 35 ON NH-11 ON LEFT	REWARI	REGULAR	185	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
487	HAND SIDE GOING FROM REWARI TO NARNAUL KM STONE 37 TO KM STONE 39 ON RIGHT HAND	REWARI	REGULAR	150	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
488	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 39 TO KM STONE 42 ON RIGHT HAND	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	LOTS DRAW OF	15	5
489	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	224	OPEN	DC	20	20	400	32	75	LOTS	15	5

	KM STONE 80 TO KM STONE 82 ON RIGHT HAND											DRAW OF		
490	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 72 TO KM STONE 74 ON RIGHT HAND	REWARI	REGULAR	226	OPEN	DC	35	35	1225	32	95	LOTS	15	5
491	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	185	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
492	ON MINI BYPASS CONNECTING NH334B AND BAHADURGARH ROAD, JHAJJAR KM STONE 84 TO KM STONE 86 ON RIGHT HAND	JHAJJAR	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
493	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
494	FROM KM STONE 437 TO 443 ON NH-352 (OLD NH 71) ON RIGHT HAND SIDE GOING FROM JHAJJAR TO NH-48	REWARI	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
495	KM STONE 74 TO KM STONE 76 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
496	ON REWARI SOHNA ROAD (NH 919) BETWEEN DHARUHERA TEHSIL OFFICE AND NEW HARYANA FILLING STATION (IOC RO) ON RIGHT HAND SIDE AT DHARUHERA WHILE GOING FROM REWARI TO SOHNA	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
497	KM STONE 86 TO KM STONE 88 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
498	KM STONE 76 TO KM STONE 78 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
499	KM STONE 88 TO KM STONE 90 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
500	KM STONE 90 TO KM STONE 92 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
501	FROM IOC CHOWK TO PILOT CHOWK ON REWARI HUDA BYPASS ROAD (OLD NH 11)	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
502	KM STONE 78 TO KM STONE 80 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
503	KM STONE 42 TO KM STONE 44 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
504	KM STONE 44 TO KM STONE 46 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
505	ON NH 11 BETWEEN NH 352 JUNCTION TO RAO ABEY SINGH CHOWK, WHILE GOING FROM JONAWAS TO REWARI ON LEFT HAND SIDE	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
506	KM STONE 82 TO KM STONE 84 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
507	KM STONE 46 TO KM STONE 48 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
508	KM STONE 48 TO KM STONE 51 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
509	KM STONE 92 TO KM STONE 95 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	226	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
510	ON NH 11 BETWEEN NH 352 JUNCTION TO RAO ABEY SINGH CHOWK, WHILE GOING FROM JONAWAS TO REWARI ON RIGHT HAND SIDE	REWARI	REGULAR	160	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
511	KM STONE 51 TO KM STONE 56 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
512	KM STONE 56 TO KM STONE 58 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
513	KM STONE 68 TO KM STONE 70 ON LEFT HAND	REWARI	REGULAR	578	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
514	ON REWARI BYPASS ROAD BETWEEN RAO ABEY SINGH CHOWK TO REWARI JHAJJHAR ROAD JUNCTION ON LEFT HAND SIDE.	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
515	KM STONE 58 TO KM STONE 60 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
516	KM STONE 60 TO KM STONE 62 ON RIGHT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	296	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
517	KM STONE 70 TO KM STONE 72 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	578	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
518	KM STONE 25 TO KM STONE 27 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
519	ON REWARI BYPASS ROAD BETWEEN RAO ABEY SINGH CHOWK TO REWARI JHAJJHAR ROAD JUNCTION ON RIGHT HAND SIDE.	REWARI	REGULAR	160	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
520	KM STONE 72 TO KM STONE 74 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	578	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
521	ON NH-44 (OLD NH-2) BETWEEN KM STONE 79 TO 82 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
522	KM STONE 27 TO KM STONE 29 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
523	WITHIN MUNICIPAL LIMITS OF REWARI ON REWARI NARNAUL ROAD (OLD NH 11) FROM RAO TULARAM CHOWK (NAIWALI CHOWK) TOWARDS NARNAUL VIA GOPAL DEV CHOWK	REWARI	REGULAR	160	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
524	KM STONE 74 TO KM STONE 76 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	578	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
525	KM STONE 29 TO KM STONE 31 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
526	KM STONE 31 TO KM STONE 33 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
527	FROM RAO ABHAY SINGH CHOWK TO INDIAN OIL TOWNSHIP ON HUDA BYPASS REWARI (OLD NH 11)	REWARI	REGULAR	160	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
I	<u>() () () () () () () () () () () () () (</u>	1		l		L	I	I	L		I	1		

528	KM STONE 76 TO KM STONE 78 ON LEFT HAND	REWARI	RECULAR	805	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
<u> </u>	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 KM STONE 33 TO KM STONE 35 ON LEFT HAND		REGULAR									LOTS DRAW OF	-	
529	SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48 FROM KM STONE 24 TO 28 ON NH-11 ON LEFT	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	LOTS DRAW OF	15	5
530	HAND SIDE GOING FROM REWARI TO NARNAUL WITHIN 3 KM FROM GOVERNMENT MODEL	REWARI	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	LOTS	15	5
531	SANSKRITI SENIOR SECONDARY SCHOOL ON NH-919, WHILE GOING FROM PALWAL TOWARDS SOHNA ON NH-919	PALWAL	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
532	FROM KM STONE 417 TO 427 ON NH-352 (OLD NH-71) ON LEFT HAND SIDE GOING FROM JHAJJAR TO NH-48	REWARI	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
533	KM STONE 35 TO KM STONE 37 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
534	KM STONE 37 TO KM STONE 39 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
535	KM STONE 80 TO KM STONE 82 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
536	BETWEEN KM STONE 68 TO 71, LEFT HAND SIDE TOWARDS REWARI ON NH 71B(NEW NH 919)	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
537	KM STONE 39 TO KM STONE 42 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	343	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
538	KM STONE 42 TO KM STONE 44 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
539	KM STONE 82 TO KM STONE 84 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
540	KM STONE 44 TO KM STONE 46 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
541	NH-48 BETWEEN KM STONE 68 TO 71, RIGHT HAND SIDE TOWARDS REWARI ON NH 71B(NEW NH 919)	REWARI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
542	KM STONE 46 TO KM STONE 48 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
543	KM STONE 84 TO KM STONE 86 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
544	TO N NH-44 (OLD NH-2) BETWEEN KM STONE 66 TO 72 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
545	ON DHARUHERA BHIWADI LINK ROAD (OLD 75 MTR BYPASS ROAD) BETWEEN NH 48 AND BHIWADI MOD CHOWK ON LEFT HAND SIDE GOING FROM NH 48 TO BHIWADI	REWARI	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
546	KM STONE 88 TO KM STONE 90 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
547	KM STONE 48 TO KM STONE 51 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
548	KM STONE 51 TO KM STONE 54 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
549	KM STONE 90 TO KM STONE 93 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
550	ON DHARUHERA BHIWADI LINK ROAD (OLD 75 MTR BYPASS ROAD) BETWEEN NH 48 AND BHIWADI MOD CHOWK ON RIGHT HAND SIDE GOING FROM NH 48 TO BHIWADI	REWARI	REGULAR	150	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
551	KM STONE 54 TO KM STONE 57 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
552	KM STONE 57 TO KM STONE 59 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	439	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
553	WITHIN MUNICIPAL LIMIT OF REWARI, FROM DHARUHERA CHUNGI TO RAO TULARAM CHOWK VIA JHAJJAR CHOWK ON REWARI CIRCULAR ROAD	REWARI	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
554	KM STONE 53 TO KM STONE 56 ON NH-919 SOHNA TO PALWAL RHS WHILE GOING FROM SOHNA TOWARD PALWAL	GURUGRAM	REGULAR	152	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
555	KM STONE 59 TO KM STONE 62 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	578	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
556	KM STONE 62 TO KM STONE 64 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON	GURUGRAM	REGULAR	578	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
557	NH-48 PALWAL AMARPUR ROAD (WITHIN MUNICIPAL LIMITS PALWAL)	PALWAL	REGULAR	170	OBC PH	DC	20	20	400	32	55	DRAW OF LOTS	15	4
558	ON NH-44 (OLD NH-2), BETWEEN KM STONE 87 TO 90 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	170	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
559	KM STONE 64 TO KM STONE 67 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	GURUGRAM	REGULAR	578	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
560	KM STONE 78 TO KM STONE 80 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
561	FROM KM STONE 28 TO 32 ON NH-11 ON RIGHT HAND SIDE GOING FROM REWARI TO NARNAUL	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
562	KM STONE 86 TO KM STONE 88 ON LEFT HAND SIDE WHILE GOING FROM DELHI TO JAIPUR ON NH-48	REWARI	REGULAR	805	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
563	KM STONE 31 TO KM STONE 34 ON NH 248 A (GURGAON-ALWAR ROAD) LHS WHILE GOING FROM GURGAON TOWARD ALWAR	NUH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
564	SEC 71 GURGAON	GURUGRAM	REGULAR	210	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
565	FROM KM STONE 32 TO 35 ON NH-11 ON RIGHT HAND SIDE GOING FROM REWARI TO NARNAUL	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
566	ON NH-44 (OLD NH-2) BETWEEN KM STONE 48 TO 52 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

	KM STONE 9 TO KM STONE 12 ON NH 248 A											DRAW OF		
567	(GURGAON- ALWAR ROAD) ON LHS WHILE GOING FROM GURGAON TO ALWAR FROM KM STONE 43 TO 46 (REWARI NH-71 JN.)	GURUGRAM	REGULAR	152	SC	CFS	20	20	400	0	0	LOTS	0	3
568	ON NH-352W ON RIGHT HAND SIDE GOING FROM PATAUDI TO REWARI	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
569	ON NH-44 (OLD NH-2) BETWEEN KM STONE 54 TO 57 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
570	HODAL CITY (WITHIN MUNICIPAL LIMITS HODAL) ON HODAL NUH ROAD	PALWAL	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
571	FROM KM STONE 37 TO 40 ON NH-352W ON LEFT HAND SIDE GOING FROM PATAUDI TO REWARI	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
572	ROM KM STONE 443 TO NH-48 JUNCTION ON NH- 352 (OLD NH-71) ON LEFT HAND SIDE GOING FROM JHAJJAR TO NH-48	REWARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
573	ON NH-44 (OLD NH-2) BETWEEN KM STONE 66 TO 72 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	260	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
574	ON NH-44 (OLD NH-2) BETWEEN KM STONE 77TO 81 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	220	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
575	FROM KM STONE 37 TO 40 ON NH-352W ON RIGHT HAND SIDE GOING FROM PATAUDI TO REWARI	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
576	FROM KM STONE 443 AND NH-48 JUNCTION ON NH- 352 (OLD NH 71) ON RIGHT HAND SIDE GOING FROM JHAJJAR TO NH-48	REWARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
577	ON NH-44 (OLD NH-2) BETWEEN KM STONE 90 TO 94 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
578	ON NH-44 (OLD NH-2), BETWEEN KM STONE 57 TO 65 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
579	ON NH-44 (OLD NH-2), BETWEEN KM STONE 54 TO 57 (RHS)WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
580	ON NH-44 (OLD NH-2) BETWEEN KM STONE 81 TO 85 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	270	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
581	WITHIN 2 KM FROM IOCL PETROL PUMP SURESH SINGLA AND SON'S WHILE GOING FROM PALWAL TOWARDS SOHNA ON NH-919	PALWAL	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
582	ON HATHIN UTTAWAR ROAD, FROM HATHIN POLICE STATION TO JAYANTI MODE (WITHIN MUNICIPAL LIMIT HATHIN) FROM VALUE TO 10 A DA AND STON ON	PALWAL	REGULAR	200	OPEN PH	DC	20	20	400	32	55	DRAW OF LOTS	15	5
583	FROM KM STONE 40 TO 43 ON NH-352W ON LEFT HAND SIDE GOING FROM PATAUDI TO REWARI	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
584	ON NH-44 (OLD NH-2) BETWEEN KM STONE 47 TO 52 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
585	FROM KM STONE 28 TO 32 ON NH-11 ON LEFT HAND SIDE GOING FROM REWARI TO NARNAUL	REWARI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
586	WITHIN 2 KM FROM SHREE TANKESHWAR MAHADEV PRACHIN MANDIR WHILE GOING FROM PALWAL TOWARDS SOHNA ON NH-919	PALWAL	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
587	FROM KM STONE 40 TO 43 ON NH-352W ON RIGHT HAND SIDE GOING FROM PATAUDI TO REWARI	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
588	WITHIN 2 KM FROM GOVERNMENT MODEL SANSKRITI SENIOR SECONDARY SCHOOL ON NH-919, WHILE GOING FROM SOHNA TOWARDS PALWAL ON NH-919	PALWAL	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
589	PALWAL ALIGARH ROAD (WITHIN MUNICIPAL LIMITS PALWAL) ON NH-334D	PALWAL	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
590	ON NH-44 (OLD NH-2) BETWEEN KM STONE 87 TO 94 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	195	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
591	FROM KM STONE 43 TO 46 (REWARI NH-71 JN.) ON NH-352W ON LEFT HAND SIDE GOING FROM PATAUDI TO REWARI	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
592	WITHIN 3 KM FROM KENDRIYA VIDYALA PALWAL ON SH- 13 WHILE GOING FROM NUH TOWARDS PALWAL	PALWAL	REGULAR	170	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
593	HODAL CITY (WITHIN MUNICIPAL LIMITS HODAL) ON OLD GT ROAD	PALWAL	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
594	ON NH-44 (OLD NH-2), BETWEEN KM STONE 82 TO 86 (RHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL	PALWAL	REGULAR	200	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
595	ON NH-44 (OLD NH-2) BETWEEN KM STONE 57 TO 64 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL PALWAL RASULPUR ROAD (WITHIN MUNICIPAL	PALWAL	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
596	PALWAL RASULPUR ROAD (WITHIN MUNICIPAL LIMITS PALWAL) PALWAL HATHIN ROAD (WITHIN MUNICIPAL	PALWAL	REGULAR	170	OPEN	DC	20	20	400	32	55	DRAW OF LOTS DRAW OF	15	5
597	PALWAL HATHIN ROAD (WITHIN MUNICIPAL LIMITS PALWAL) ON NH-44 (OLD NH-2) BETWEEN KM STONE 73 TO 77 (LHS) WHILE GOING FROM DELHI TO	PALWAL	REGULAR	150 200	OPEN OBC	DC DC	20 35	20 35	400	32	55 95	LOTS DRAW OF	15 15	5
598	TO 77 (LHS) WHILE GOING FROM DELHI TO MATHURA VIA PALWAL ON NH-44 (OLD NH-2) BETWEEN KM STONE 76 TO 79 (RHS) WHILE GOING FROM DELHI TO	PALWAL	REGULAR	180	SC	CFS	35	35	1225	0	95	LOTS DRAW OF	0	4
600	MATHÙRA VIA PALWAL HODAL CITY (WITHIN MUNICIPAL LIMITS HODAL)	PALWAL	REGULAR	150	OPEN	DC	20	20	400	32	55	LOTS DRAW OF	15	5
601	ON HODAL HASSANPUR ROAD SECTOR-37D FROM DWARKA EXPRESSWAY PATAUDI ROAD CROSSING TOWARDS DWARKA ON DWARKA EXPRESSWAY ROAD (RIGHT HAND	GURUGRAM	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF	15	5
602	SIDE) NH 248BB WITHIN 4 KM FROM JEEVAN JYOTI GLOBAL SCHOOL WHILE GOING FROM PALWAL	PALWAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF	15	4
602	TOWARDS ALIGARH ON NH-334D ON NH-44 (OLD NH-2) BETWEEN KM STONE 72 TO 76 (RHS) WHILE GOING FROM DELHI TO	PALWAL	REGULAR	170	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	4
604	MATHURA VIA PALWAL ON KHANDSA ROAD, BETWEEN BHUTESHWAR	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	75	LOTS DRAW OF	15	5
<u> </u>	MANDIR CHOWK TO AMBEDKAR CHOWK PALWAL CITY (WITHIN MUNICIPAL LIMITS											LOTS DRAW OF		
605 606	PALWAL) ON OLD GT ROAD SECTOR-91 ON SECTOR 91-92 DIVIDING ROAD	PALWAL GURUGRAM	REGULAR	190 150	OPEN OBC	DC DC	20	20 20	400 400	32	55	LOTS DRAW OF	15 15	5
<u> </u>	WITHIN 2 KM FROM POLICE CHOWKI MANDKOLA											LOTS DRAW OF		
607	ON SH-13 WHILE GOING FROM PALWAL TOWARDS NUH	PALWAL	REGULAR	160	SC	CFS	35	35	1225	0	0	LOTS	0	3

608	FROM SHIV CHOWK BILASPUR TO LBS GROUP OF INSTITUTIONS ON SH1 (BILASPUR-	YAMUNANAGA R	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
609	SADHAURA ROAD) WITHIN 3.5 KMS FROM CENTRAL BANK OF INDIA AMBLI TOWARDS BARSU MAJRA ON SH1 (AMBLI- BARSU MAJRA ROAD)	AMBALA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
610	WITHIN 5 KMS FROM SHIVALIK GURUKUL SCHOOL ALIYASPUR TOWARDS DOSADAKA ON SH4 (SADHAURA-ALIYASPUR ROAD)	AMBALA	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
611	WITHIN 3 KMS FROM POLICE POST SADAURA NADPAR TOWARDS PAHARIPUR ON SH1 (SADAURA- NARAINGARH ROAD)	YAMUNANAGA R	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
612	FROM METRO TATA MOTORS AGENCY TO BPC RO AMBALA FILLING STATION VIA PYRAMID MICROBREWERY WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
613	FROM LAKSHMI NARAYAN MANDIR TO SINGLA HOSPITAL ON RAM BAGH ROAD WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	135	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
614	FROM SAKET HOSPITAL TO NAAM CHARCHA GHAR ON TANGRI ROAD WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	125	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
615	FROM RADHA KRISHAN MANDIR TO BANK OF BARODA ON BOH ROAD WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	135	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
616	FROM INDIRA CHOWK TO JAGGI CITY CENTRE WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
617	FROM ELORA CONVENT SCHOOL TO AXIOM AYURVEDA PVT LTD. WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
618	FROM MAJOR SHAITAN SINGH CIRCLE TO ATULYA DEFENCE SCHOOL ON ASHOKA ROAD WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	130	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
619	FROM SDO CIVIL COMPLEX AMBALA CANTT TO ASHUTOSH MISSION HOSPITAL VIA INDIRA CHOWK ON NH4444 (AMBALA-SAHA-SHAHBAD ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SDO CIVIL COMPLEX TO RAJEEV CHOWK SAHA	AMBALA	REGULAR	210	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
620	FROM RAJEEV CHOWK SAHA TO CYGNUS HIGH SCHOOL ON NH444A (AMBALA-SAHA-SHAHBAD ROAD) ON LEFT HAND SIDE WHILE MOVING FROM RAJEEV CHOWK SAHA TO SHAHBAAD	AMBALA	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
621	FROM IOCL RETAIL OUTLET SIDDARTH FILLING STATION TO HPCL RETAIL OUTLET SAI FILLING STATION ON NH344 (AMBALA-SHEHZADPUR- SAHARANPUR ROAD)	AMBALA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
622	FROM IOCL RETAIL OUTLET VARNIKA FILLING STATION TO HPCL RETAIL OUTLET ANMOL FILLING STATION ON NH907 (JAGADHRI- TAJEWALA ROAD)	YAMUNANAGA R	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
623	FROM RAJEEV CHOWK SAHA TO ELEGANT HONDA AGENCY ON NH444A (AMBALA-SAHA- SHAHBAD ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA CANTT TO SAHA CHOWK	AMBALA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
624	FROM KM STONE 113 TO KM STONE 118 ON NH344 (AMBALA-SHEHZADPUR-SAHARANPUR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM JAGADHRI TO SHEHZADPUR	AMBALA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
625	FROM RAJEEV CHOWK SAHA TO GOVT SENIOR SECONDARY SCHOOL KHUDDA KALAN ON NH444A (AMBALA-SAHA-SHAHBAD ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA CANTT TO SAHA CHOWK	AMBALA	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
626	FROM CIVIL HOSPITAL AMBALA CANTT TO WATER PUMPING STATION CHOTA KHUDDA ON NH444A (AMBALA-SAHA-SHAHBAD ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM INDIRA CHOWK TO RAJEEV CHOWK SAHA	AMBALA	REGULAR	210	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
627	FROM KM STONE 112 TO KM STONE 117KM ON NH344 (AMBALA-SHEHZADPUR-SAHARANPUR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO SHEHZADPUR	AMBALA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
628	FROM BPCL RETAIL OUTLET MAA JWALA FILLING STATION TO POLICE STATION SHEHZADPUR ON NH7 ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHEHZADPUR	AMBALA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
629	STEEL2ADFUK FROM HPCL RETAIL OUTLET JAI DURGA FILLING STATION TO BPCL RETAIL OUTLET NARAYAN ENERGY STATION ON NH907(JAGADHRI- TAJEWALA ROAD)	YAMUNANAGA R	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
630	FROM RAJEEV CHOWK SAHA TO CYGNUS HIGH SCHOOL ON NH444A (AMBALA-SAHA-SHAHBAD ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM RAJEEV CHOWK SAHA TO SHAHBAAD	AMBALA	REGULAR	160	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
631	FROM KM STONE 121 TO KM STONE 131 ON LEFT HAND SIDE WHILE MOVING FROM JAGADHRI TO SHEHZADPUR ON NH344 (AMBALA-SHEHZADPUR - SAHARANPUR ROAD)	AMBALA	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
632	FROM KM STONE 121 TO KM STONE 131 ON FROM KM STONE 121 TO KM STONE 131 ON JAGADHRI TO SHEHZADPUR ON NH344 (AMBALA-SHEHZADPUR - SAHARANPUR ROAD)	AMBALA	REGULAR	160	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
633	FROM KM STONE 106 TO KM STONE 111 ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO SHEHZADPUR ON NH344 (AMBALA-SHEHZADPUR- SAHARANPUR ROAD)	AMBALA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

634	FROM KM STONE 104 TO KM STONE 108 ON LEFT HAND SIDE WHILE MOVING FROM		DECULAR	160		050	35	35	1225	0	0	DRAW OF	0	3
634	JAGADHRI TO SHEHZADPUR ON NH344 (AMBALA-SHEHZADPUR- SAHARANPUR ROAD)	AMBALA	REGULAR	160	SC	CFS	35	35	1225	0	0	LOTS	0	3
635	FROM PARTAP FABRICS PVT LTD TO GALAXY GLOBAL GROUP OF INSTITUTIONS ON LEFT HAND SIDE WHILE MOVING FROM RAJEEV CHOWK SAHA TO SHAHBAAD ON NH444A (AMBALA-SAHA-SHAHBAAD ROAD)	AMBALA	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
636	FROM PARTAP FABRICS PVT LTD TO GALAXY GLOBAL GROUP OF INSTITUTIONS ON NH444A (AMBALA- SAHA-SHAHBAD ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM RAJEEV CHOWK SAHA TO SHAHBAAD	AMBALA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
637	FROM HOTEL SURYAVILAS TO HOTEL ASHOKA REGENCY ON NICHOLSON ROAD WITHIN AMBALA SADAR MUNICIPAL LIMITS	AMBALA	REGULAR	130	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
638	FROM KM STONE 104 TO KM STONE 108 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PEHOWA TO AMBALA	AMBALA	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
639	FROM IRRIGATION DEPARTMENT OFFICE MODEL TOWN TO POLTECHNIC CHOWK VIA RELIANCE DIGITAL ELECTRONIC STORE IN AMBALA CITY WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	210	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
640	FROM POLTECHNIC CHOWK TO MANAV CHOWK VIA AGGARSAIN CHOWK IN AMBALA CITY WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	220	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
641	FROM KALKA CHOWK TO POLTECHNIC CHOWK VIA PHILADELPHIA MISSION HOSPITAL IN AMBALA CITY WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	230	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
642	FROM CENTRAL BANK OF INDIA,BARARA BRANCH TO MAHARANA PRATAP CHOWK VIA STATE BANK OF INDIA BARARA BRANCH WITHIN BARARA MUNICIPAL LIMITS	AMBALA	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
643	FROM MOTOR MARKET CHOWK TO SULTANPUR BARRIER CHOWK ON DHULKOT STATION ROAD WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
644	FROM MANAV CHOWK TO RANJEET NAGAR VIA JEET DHABA IN AMBALA CITY WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
645	FROM BSNL TELEPHONE EXCHANGE, AMBALA CITY TO KAPIL EYE HOSPITAL ON POLICE LINE ROAD IN AMBALA CITY WITHIN AMBALA MUNICIPAL LIMITS	AMBALA	REGULAR	130	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
646	FROM TAU DEVI LAL CHOWK TO SUGAR MILL ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO MEERUT ON NH709A (JIND-KARNAL ROAD)	KARNAL	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
647	FROM N.C.C. SENIOR SECONDARY MODEL SCHOOL TO USA GARDENS HOTEL & RESORT ON NH344 (AMBALA- SHEHZADPUR- SAHARANPUR ROAD)	AMBALA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
648	FROM KM STONE 110 TO KM STONE 114 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PEHOWA TO AMBALA	AMBALA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
649	FROM KM STONE 122 TO KM STONE 127 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PEHOWA TO AMBALA	AMBALA	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
650	FROM KM STONE 103 TO KM STONE 108 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM PEHOWA TO AMBALA	AMBALA	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
651	FROM KM STONE 122 TO KM STONE 127 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM PEHOWA TO AMBALA	AMBALA	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
652	WITHIN 4 KMS FROM INTERSECTION OF NH44 & NH1520 TOWARDS JALBEHRA ON LEFT HAND SIDE WHILE MOVING FROM SHAHBAD TO JALBHERA ON NH152G (SHAHBAD-JALBHERA ROAD)	KURUKSHETR A	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
653	WITHIN 4 KMS FROM INTERSECTION OF NH44 & NH1520 TOWARDS JALBEHRA ON RIGHT HAND SIDE WHILE MOVING FROM SHAHBAD TO JALBHERA ON NH152G (SHAHBAD-JALBHERA ROAD)	KURUKSHETR A	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
654	WITHIN 7 KMS FROM GURUDWARA SINGH SABHA DHAKALA TOWARDS JALBEHRA ON LEFT HAND SIDE WHILE MOVING FROM SHAHBAD TO JALBHERA ON NH152G (SHAHBAD- JALBHERA ROAD)	KURUKSHETR A	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
655	WITHIN 7 KMS FROM GURUDWARA SINGH SABHA DHAKALA TOWARDS JALBEHRA ON RIGHT HAND SIDE WHILE MOVING FROM SHAHBAD TO JALBHERA ON NH152G (SHAHBAD- JALBHERA ROAD)	KURUKSHETR A	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
656	FROM KM STONE 627 TO KM STONE 631 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM RAJPURA TO AMBALA	AMBALA	REGULAR	160	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
657	FROM KM STONE 642 TO KM STONE 645 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	AMBALA	REGULAR	165	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
658	FROM KM STONE 656 TO KM STONE 660 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KURUKSHETR A	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
659	FROM KM STONE 661 TO KM STONE 665 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KURUKSHETR A	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

,	1													
660	FROM JAGGI CITY CENTRE TO AMBALA CANTT BUS STAND ON NH44 (JALANDHAR-AMBALA- DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	AMBALA	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
661	FROM KM STONE 627 TO KM STONE 631 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM RAJPURA TO AMBALA	AMBALA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
662	FROM KM STONE 656 TO KM STONE 660 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KURUKSHETR A	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
663	FROM KM STONE 661 TO KM STONE 665 ON NH44 (JALANDHAR-AMBALA-DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KURUKSHETR A	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
664	WITHIN 5 KMS FROM SHAHEED UDHAM SINGH CHOWK ADHOYA TOWARDS UGALA ON SH4(JAGADHARI- SHAHBAD ROAD)	AMBALA	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
665	FROM RAM PRASAD DAV SR SEC PUBLIC SCHOOL TO MIND TREE SCHOOL ON SH7 (SHAHBAD-LADWA- KARNAL ROAD) ON RIGHT HAND SIDE WHILE GOING FROM SHAHBAD TO LADWA	KURUKSHETR A	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
666	FROM PARTAP GATE TO CHANDANA GATE WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
667	FROM VISHWKARMA CHOWK TO PARSHURAM CHOWK ON CHEEKA ROAD WITHIN KAITHAL	KAITHAL	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
668	MUNICIPAL LIMITS FROM SHAHEED UDHAM SINGH CHOWK, CHEEKA TO SALEEMPUR GAMRI, GUHLA ON GUHLA ROAD WITHIN CHEEKA MUNICIPAL	KAITHAL	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
669	LIMITS FROM SHAKTI NAGAR TO JIND BYPASS POLICE NAKKA ON WESTERN RING ROAD WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
670	FROM CH. CHOTU RAM JAT CHOWK TOWARDS KARNAL UPTO MUNICIPAL BOUNDARY ON SH8 (KAITHAL-KARNAL ROAD) WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
671	FROM PEHOWA CHOWK TO DELHI PUBLIC SCHOOL ON AMBALA ROAD WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
672	FROM PEHOWA CHOWK TO CH. CHOTU RAM JAT CHOWK ON KARNAL ROAD WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
673	FROM ITI TO JIND BYPASS POLICE NAKKA ON JIND ROAD WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
674	FROM JAAT CHOWK TO BALRAJ NAGAR ON DEVIGARH ROAD WITHIN KAITHAL MUNICIPAL LIMITS	KAITHAL	REGULAR	100	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
675	FROM KM STONE 1 TO KM STONE 8 ON NH152 (HISAR- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KAITHAL TO NARWANA	KAITHAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
676	FROM KM STONE 36 TO KM STONE 40 ON NH152 (HISAR-AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM NARWANA TO PEHOWA	KAITHAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
677	FROM KM STONE 9 TO KM STONE 14 ON NH152 (HISAR- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KAITHAL TO NARWANA	KAITHAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
678	FROM KM STONE 9 TO KM STONE 14 ON NH152 (HISAR- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM KAITHAL TO NARWANA	KAITHAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
679	FROM KM STONE 15 TO KM STONE 20 ON NH152 (HISAR-AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM KAITHAL TO NARWANA	KAITHAL	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
680	FROM KM STONE 1 TO KM STONE 8 ON NH152 (HISAR- AMBALA ROAD)ON RIGHT HAND SIDE WHILE MOVING FROM KAITHAL TO NARWANA	KAITHAL	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
681	FROM KM STONE 32 TO KM STONE 34 ON SH9 (KARNAL-DHAND ROAD)	KARNAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
682	FROM KM STONE 41 TO KM STONE 45 ON NH152 (HISAR-AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM NARWANA TO PEHOWA	KAITHAL	REGULAR	150	Open PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
683	FROM KM STONE 46 TO KM STONE 51 ON NH152 (HISAR-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NARWANA TO PEHOWA	KAITHAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
684	FROM KM STONE 203 TO KM STONE 207 ON SH11 (KAITHAL-CHEEKA ROAD)	KAITHAL	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
685	FROM KM STONE 208 TO KM STONE 212 ON SH11 (KAITHAL-CHEEKA ROAD) FROM KM STONE 228 TO KM STONE 234 ON	KAITHAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
686	FROM KM STONE 228 TO KM STONE 234 ON SH11 (KAITHAL-CHEEKA ROAD) FROM KM STONE 218 TO KM STONE 222 ON	KAITHAL	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS DRAW OF	15	4
687	SH11 (KAITHAL-CHEEKA ROAD) FROM KM STONE 223 TO KM STONE 227 ON	KAITHAL	REGULAR	100	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3 5
688 689	SH11 (KAITHAL-CHEEKA ROAD) FROM KM STONE 213 TO KM STONE 217 ON	KAITHAL	REGULAR	100	Open Open	DC DC	35	35 35	1225 1225	32	75	LOTS DRAW OF	15 15	5
	SH11 (KAITHAL-CHEEKA ROAD) FROM VISHWKARMA CHOWK TO INTERSECTION				0001					~~		LOTS		Ť
690	OF DAND ROAD AND LALA CHARAN DAS SHOREWALA ROAD ON LALA CHARAN DAS SHOREWALA ROAD WITHIN KAITHAL MUNICIPAL LIMITS FROM SHAHEED UDHAM SINGH CHOWK,	KAITHAL	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
691	FROM SHAREED UDRAM SINGH CHOWK, CHEEKA TO BHAGAL POLICE THANA ON SH6 (CHEEKA-PEHOWA ROAD) FROM KM STONE 178 TO KM STONE 183 ON	KAITHAL	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS DRAW OF	15	4
692	SH11 (ASSANDH-KAITHAL ROAD) FROM KM STONE 184 TO KM STONE 190 ON	KAITHAL	REGULAR	110	sc	CFS	35	35	1225	0	0	LOTS DRAW OF	0	3
693	SH11 (ASSANDH-KAITHAL ROAD) FROM KM STONE 1 TO KM STONE 7 ON SH11A	KAITHAL	REGULAR	110	Open	DC	35	35	1225	32	75	LOTS DRAW OF	15	5
694 695	(KAITHAL-JIND ROAD) FROM KM STONE 8 TO KM STONE 12 ON SH11A	KAITHAL	REGULAR	105	OPEN CC 1 OBC	DC DC	35	35 35	1225 1225	32	75	LOTS DRAW OF	15 15	5
696	(KAITHAL-JIND ROAD) FROM KM STONE 74 TO KM STONE 79 ON SH8	KAITHAL	REGULAR	110	SC	CFS	35	35	1225	0	0	LOTS DRAW OF	0	4
L	(KAITHAL-KHANUARI ROAD)									Ŭ	Ľ	LOTS	Ľ	Ŭ

697	FROM GOVT GIRLS MODEL SANSKRITI SR. SEC. SCHOOL TO SPS CONVENT SCHOOL ON MUNAK	KARNAL	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF	15	5
	ROAD WITHIN KARNAL MUNICIPAL LIMITS	IN INVAL	NEGULAR	100	Open			20	+00			LOTS		
698	CHAWLA MEDICAL COLLEGE VIA HOSPITAL CHOWK ON LEFT HAND SIDE WHILE MOVING FROM NIRMAL KUTIYA CHOWK TO KALPANA CHAWLA MEDICAL COLLEGE, WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
699	FROM NAMASTE CHOWK TO VEER SHRIOMANI MAHARANA PRATAP CHOWK VIA MARUTI SHOWROOM KARNAL MOTORS , WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
700	FROM TAU DEVI LAL CHOWK TO VEER SHRIOMANI MAHARANA PRATAP CHOWK WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
701	FROM GURU BRAHMANAD JI CHOWK TO SHREE MAHARISHI KASHYAP CHOWK WITHIN PUNDRI MUNICIPAL LIMITS	KAITHAL	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
702	FROM NAMASTE CHOWK TO HP GAS AGENCY (VINAY GAS SERVICE) ON ANAJ MANDI ROAD, WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	120	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
	WITHIN 2 KM FROM SHIV SHAKTI INTERGLOBE EXPORTS PVT. LTD. ON TARAORLSOUNKRA ROAD TOWARDS SOUNKRA (EXCLUDING STRETCH UNDER RAILWAY FLYOVER), WITHIN TARAORI MUNICIPAL LIMITS	KARNAL	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
704	WITHIN 3 KM FROM PREM PLAZA HOTEL ON RAILWAY ROAD TOWARDS CLOCK TOWER ON NH709A (KARNAL- ASSAND ROAD) WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
705	FROM SHRI VISHAVKARMA BHAGWAN CHOWK TO KENDRA VIDYALA KARNAL ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON NH709A (KARNAL-ASSANDH ROAD)	KARNAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
706	FROM KM STONE 141 TO KM STONE 145 ON NH 709A (KARNAL-ASSANDH ROAD)	KARNAL	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
707	FROM KM STONE 692 TO KM STONE 687 ON NH44 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO AMBALA	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
708	FROM KM STONE 697 TO KM STONE 693 ON NH44 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO AMBALA	KARNAL	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
709	FROM KM STONE 704 TO KM STONE 699 ON NH44 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO AMBALA	KARNAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
710	FROM KM STONE 687 TO KM STONE 692 ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KARNAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
711	FROM KM STONE 693 TO KM STONE 697 ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KARNAL	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
712	FROM KM STONE 699 TO KM STONE 704 ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
713	FROM KM STONE 20 TO KM STONE 24 ON SH09 (KARNAL-DHAND ROAD) FROM KM STONE 5 TO KM STONE 8 ON RIGHT	KARNAL	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
714	HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
715	FROM KM STONE 4 TO KM STONE 6 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO DHAND ON SH-9 (KARNAL-DHAND ROAD)	KARNAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
716	FROM KM STONE 40 TO KM STONE 42 ON RIGHT HAND SIDE WHILE MOVING FROM KAITHAL TO KARNAL ON SH-8 (KARNAL-KAITHAL ROAD)	KAITHAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
717	FROM KM STONE 18 TO KM STONE 23 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON SH-8 (KARNAL-KAITHAL ROAD)	KARNAL	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
718	FROM KM STONE 18 TO KM STONE 23 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON SH-8 (KARNAL-KAITHAL ROAD)	KARNAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
719	FROM KM STONE 3 TO KM STONE 7 ON SH33 (NILOKHERI-KAUL ROAD)	KARNAL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
720	FROM KM STONE 31 TO KM STONE 35 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON SH-8 (KARNAL-KAITHAL ROAD)	KARNAL	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
721	FROM KM STONE 4 TO KM STONE 6 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO DHAND ON SH-9 (KARNAL-DHAND ROAD)	KARNAL	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
722	FROM KM STONE 45 TO KM STONE 48 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON SH-8 (KARNAL-KAITHAL ROAD)	KAITHAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
723	FROM KM STONE 49 TO KM STONE 52 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON SH-8 (KARNAL-KAITHAL ROAD)	KAITHAL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
724	FROM KM STONE 53 TO KM STONE 57 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO KAITHAL ON SH-8 (KARNAL-KAITHAL ROAD)	KAITHAL	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
725	FROM SHAHEED UDHAM SINGH CHOWK TO NOOR MAHAL PALACE VIA ROYAL RESIDENCY WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	105	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
726	FROM KM STONE 46 TO KM STONE 51 ON NH152 (HISAR-AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM NARWANA TO PEHOWA	KAITHAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

	1													
727	FROM KM STONE 1 TO KM STONE 4 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD) (KARNAL- LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
728	FROM KM STONE 1 TO KM STONE 4 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
729	FROM PWD REST HOUSE ON MALL ROAD TO MEHTA FARMS ON SH9 (KARNAL-DHAND ROAD) EXCLUDING STRETCH UNDER RAILWAY FLYOVER	KARNAL	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
730	FROM ITI CHOWK TO AIRPORT KARNAL WHILE MOVING FROM KARNAL TO KUNJPURA ON SH8 (KUNJPURA- KARNAL-PUNDRI ROAD)	KARNAL	REGULAR	130	OPEN CC 2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
731	FROM KM STONE 9 TO KM STONE 12 ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
732	FROM KM STONE 24 TO KM STONE 27 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
733	FROM SAVITRI BAI PHULE CHOWK TO JMIT COLLEGE ON LEFT HAND SIDE WHILE MOVING FROM LADWA TO YAMUNANAGAR ON SH6 (PIPLI-RADAUR- SHAHRANPUR ROAD)	YAMUNANAGA R	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
734	FROM SAVITRI BAI PHULE CHOWK TO JMIT COLLEGE ON RIGHT HAND SIDE WHILE MOVING FROM LADWA TO YAMUNANAGAR ON SH6 (PIPLI-RADAUR- SHAHRANPUR ROAD)	YAMUNANAGA R	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
735	FROM KM STONE 13 TO KM STONE 16 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
736	FROM LIBERTY CHOWK (INDRI CHOWK) TO AGGARSAIN CHOWK, WITHIN KARNAL	KARNAL	REGULAR	110	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
737	MUNICIPAL LIMITS FROM SHIRDI SAI MANDIR TO GURU RAVIDASS CHOWK VIA GURUDWARA NANAKSAR, WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
738	FROM KM STONE 17 TO KM STONE 21 ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO LADWA ON SH7 (KARNAL-LADWA-SHAHZADPUR ROAD)	KARNAL	REGULAR	102	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
739	FROM SHAHEED UDHAM SINGH CHOWK TO SHIRDI SAI MANDIR VIA NOOR MAHAL CHOWK WITHIN KARNAL MUNICIPAL LIMITS	KARNAL	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
740	FROM TAU DEVI LAL CHOWK TO SUGAR MILL ON NH709A (JIND-KARNAL ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO MEERUT	KARNAL	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
741	FROM KM STONE 95 TO KM STONE 98 ON NH152 (NARWANA-KATHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PEHOWA TO AMBALA	KURUKSHETR A	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
742	FROM TAU DEVI LAL CHOWK TO LIBERTY CHOWK (INDRI CHOWK) ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO PANIPAT ON NH44 (AMBALA-DELHI ROAD)	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
743	FROM TAU DEVI LAL CHOWK TO LIBERTY CHOWK (INDRI CHOWK) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO PANIPAT ON NH44 (AMBALA-DELHI ROAD)	KARNAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
744	FROM NANGLA MEGHA CHOWK TO UP BORDER ON RIGHT HAND SIDE WHILE MOVING KARNAL TO MEERUT ON NH709A (JIND-KARNAL ROAD)	KARNAL	REGULAR	160	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
745	FROM NAMASTE CHOWK TO MADHUBAN CHOWK ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO PANIPAT ON NH44 (AMBALA- DELHI ROAD)	KARNAL	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
746	FROM NAMASTE CHOWK TO MADHUBAN CHOWK ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO PANIPAT ON NH44 (AMBALA- DELHI ROAD)	KARNAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
747	FROM KARNAL SUGAR MILL (EXCLUDING UNDER FLYOVER STRETCH) TO NANGLA MEGHA CHOWK ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO MERUT ON NH709A (JIND-KARNAL ROAD)	KARNAL	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
748	FROM KARNAL SUGAR MILL (EXCLUDING UNDER FLYOVER STRETCH) TO NANGLA MEGHA CHOWK ON RIGHT HAND SIDE WHILE MOVING FROM KARNAL TO MEERUT ON NH709A (JIND-KARNAL ROAD)	KARNAL	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
749	FROM NEWAL POWER HOUSE TO KUNJPURA BUS STAND ON SH8 (KUNJPURA-KARNAL-	KARNAL	REGULAR	105	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
750	PUNDRI ROAD) FROM KM STONE 17 TO KM STONE 21 ON SH33 (NILOKHERI-KAUL ROAD)	KARNAL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
751	FROM GURU RAVIDASS CHOWK TO ANSAL TOWN VIA HERITAGE LAWN WITHIN KARNAL	KARNAL	REGULAR	105	Open	DC	20	20	400	32	55	DRAW OF	15	5
752	MUNCIPAL LIMITS FROM KURUKSHETRA UNIVERSITY GATE NO 3 TO KALPANA CHAWAL PLANETARIUM ON SH6 (KURUKSHETRA-PEHOWA ROAD)	KURUKSHETR A	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
753	WITHIN PEHOWA MUNICIPAL LIMITS ON SH6 (PIPLI- CHEEKA ROAD)	KURUKSHETR A	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
754	WITHIN PEHOWA MUNICIPAL LIMITS ON SH9 (DHAND- PATIALA ROAD)		REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
755	FROM GOVT. HIGH SCHOOL BAKHLI TO DIWANA BUS STOP ON SH6 (PEHOWA-CHEEKA ROAD)	KURUKSHETR A	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
756	FROM PRIME RESORTS PEHOWA TO PHC SIANA SAIDAN ON SH6 (PEHOWA-CHEEKA ROAD)	KURUKSHETR A	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
757	WITHIN 6 KMS FROM BODHNI BUS STAND TOWARDS PEHOWA ON SH9 (PEHOWA-PATIALA ROAD)	KURUKSHETR A	REGULAR	100	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

	FROM BATHERI BUS STAND TO THE PLATINUM	KURUKSHETR										DRAW OF		
758	HOTEL, PEHOWA ON SH9 (PEHOWA-DHAND) WITHIN 2 KMS FROM BABAIN BUS STAND	A	REGULAR	100	SC PH	CFS	35	35	1225	0	0	LOTS	0	3
759	TOWARDS LADWA ON SH7 (LADWA-BABAIN ROAD)	KURUKSHETR A	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
760	WITHIN 4 KMS FROM PIPLI CHOWK(UNDER NH44) TOWARDS LADWA ON LEFT HAND SIDE WHILE MOVING FROM PIPLI TO LADWA ON SH6 (PIPLI-LADWA ROAD)	KURUKSHETR A	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
761	WITHIN LADWA MUNICIPAL LIMIT ON SH6 (PIPLI- RADAUR ROAD)	KURUKSHETR A	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
762	FROM PWD REST HOUSE TO PT. ANANT RAM MEMORIAL PUBLIC SCHOOL ON PEHOWA- GALEDWA ROAD WITHIN PEHOWA MUNICIPAL	KURUKSHETR A	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
763	LIMITS FROM HOTEL MAHARAJA PALACE TO SR HONDA, ON ISMAILABAD-AMBALA MAIN ROAD ON LEFT HAND SIDE WHILE GOING FROM ISMAILABAD TO AMBALA WITHIN ISMAILABAD MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
764	FROM INTERSECTION OF SALARPUR ROAD & RAILWAY ROAD TO B R CHOWK ON SALARPUR ROAD WITHIN THANESAR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
765	FROM BHAGWAN SHRI SHRI CHANDRA CHOWK (NEAR SHEIKH CHILLI TOMB) TO DARRA KHERA WITHIN THANESAR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
766	FROM KM STONES 83 TO KM STONE 87 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE GOING FROM KAITHAL TO AMBALA	KURUKSHETR A	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
767	FROM INTERSECTION OF CHANARTHAL ROAD AND SALARPUR ROAD TO INTERSECTION OF CHANARTHAL ROAD AND KIRMACH ROAD ON CHANARTHAL ROAD WITHIN THANEASR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
768	FROM KM STONES 61 TO KM STONE 66 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON RIGHT HAND SIDE WHILE GOING FROM KAITHAL TO AMBALA	KURUKSHETR A	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
769	FROM KM STONES 77 TO KM STONE 82 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE GOING FROM KAITHAL TO AMBALA	KURUKSHETR A	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
770	FROM JAI BHARTI VIDYA MANDIR SCHOOL TO BHEESHMA KUND SHANTI NAGAR ON NARKATARI ROAD WITHIN THANESAR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
771	FROM KM STONES 83 TO KM STONE 87 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON RIGHT HAND SIDE WHILE GOING FROM KAITHAL TO AMBALA	KURUKSHETR A	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
772	FROM KM STONES 89 TO KM STONE 94 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON LEFT HAND SIDE WHILE GOING FROM KAITHAL TO AMBALA	KURUKSHETR A	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
773	FROM KM STONES 89 TO KM STONE 94 ON NH152 (NARWANA-KAITHAL-PANCHKULA ROAD) ON RIGHT HAND SIDE WHILE GOING FROM KAITHAL TO AMBALA	KURUKSHETR A	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
774	FROM KM STONES 666 TO KM STONE 674 ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE GOING FROM AMBALA TO PANIPAT	KURUKSHETR A	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
775	WITHIN 5 KMS FROM JUNCTION OF NH152G AND NH152 TOWARDS SHAHBAD ON NH 152G ON LEFT HAND SIDE WHILE GOING FROM JALBEHRA TO SHAHBAD	KURUKSHETR A	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
776	WITHIN 5 KMS FROM JUNCTION OF NH152G AND NH152 TOWARDS SHAHBAD ON NH 152G ON RIGHT HAND SIDE WHILE GOING FROM JALBEHRA TO SHAHBAD	KURUKSHETR A	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
777	FROM VILLAGE THASKA MIRAANJI TO ISMAILABAD GURUDWARA, ON ISMAILABAD THASKA MIRAANJI ROAD, WITHIN ISMAILABAD MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
778	FROM RAILWAY CROSSING TO VILLAGE BHIWANI KHERA ON KURUKSHETRA LUKHI ROAD VIA BHIWANI KHERA WITHIN THANESAR MUNICIPAL LIMITS	KURUKSHETR A	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
779	WITHIN LADWA MUNICIPAL LIMITS ON SH-7 (INDRI- SHAHBAD ROAD)	KURUKSHETR A	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
780	FROM INTERSECTION OF NH7 AND SH1 TO GOVT COLLEGE RAIPUR RANI ON SH1 (KHERI- NARAINGARH ROAD)	PANCHKULA	REGULAR	100	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
781	WITHIN 5 KMS FROM INTERSECTION OF SH1 AND SH4 TOWARDS RASULPUR ON SH4 (SADHAURA-RASULPUR ROAD)	YAMUNANAGA R	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
782	WITHIN 2 KMS ON EITHER SIDE OF BPCL PETROL PUMP M/S MOON STAR ENTERPRISES ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHEHZADPUR ON NH-7	PANCHKULA	REGULAR	150	Open PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
783	FROM KM STONE 354 TO KM STONE 359 ON NH7 ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO YAMUNANAGAR (EXCLUDING STRETCH UNDER FLYOVER)	PANCHKULA	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
784	FROM KM STONE 354 TO KM STONE 359 ON NH7 ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO YAMUNANAGAR (EXCLUDING STRETCH UNDER FLYOVER)	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
785	FROM KM STONE 360 TO KM STONE 365 ON NH7 ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO YAMUNANAGAR (EXCLUDING STRETCH UNDER FLYOVER)	PANCHKULA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
786	FROM KM STONE 241 TO KM STONE 244 ON NH5 ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHIMLA	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
787	FROM KM STONE 366 TO KM STONE 373 ON NH7 ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO YAMUNANAGAR (EXCLUDING STRETCH UNDER FLYOVER)	PANCHKULA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

	1													
788	FROM KM STONE 366 TO KM STONE 373 ON NH7 ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO YAMUNANAGAR (EXCLUDING STRETCH UNDER FLYOVER)	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
789	FROM KM STONE 230 TO KM STONE 236 ON NH5 ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHIMLA	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
790	FROM KM STONE 360 TO KM STONE 365 ON NH7 ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO YAMUNANAGAR (EXCLUDING STRETCH UNDER FLYOVER)	PANCHKULA	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
791	FROM KM STONE 241 TO KM STONE 244 ON NH5 ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHIMLA	PANCHKULA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
792	FROM KM STONE 245 TO KM STONE 251 ON NH5 ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHIMLA	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
793	FROM KM STONE 245 TO KM STONE 250 ON NH5 ON LEFT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHIMLA	PANCHKULA	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
794	WITHIN 7 KMS OF HIMACHAL PRADESH- HARYANA BORDER TOWARDS PINJORE ON LEFT HAND SIDE WHILE MOVING FROM BADDI TO PINJORE ON NH105 (BADDI-PINJORE ROAD)	PANCHKULA	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
795	WITHIN 8 KMS OF PINJORE POLICE STATION ON RIGHT HAND SIDE WHILE MOVING FROM PINJORE TO BADDI ON NH105 (PINJORE-BADDI ROAD)	PANCHKULA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
796	WITHIN 8 KMS OF PINJORE POLICE STATION ON LEFT HAND SIDE WHILE MOVING FROM PINJORE TO BADDI ON NH105 (PINJORE-BADDI ROAD)	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
797	WITHIN 7 KMS OF HIMACHAL PRADESH- HARYANA BORDER TOWARDS PINJORE ON RIGHT HAND SIDE WHILE MOVING FROM BADDI TO PINJORE ON NH105 (BADDI-PINJORE ROAD)	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
798	WITHIN 8 KMS FROM INTERSECTION OF NH344 & NH7 AT SHEHZADPUR TOWARDS KALA AMB ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO KALA AMB ON NH7 (AMBALA-KALA AMB ROAD)	AMBALA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
799	WITHIN 8 KMS FROM INTERSECTION OF NH344 & NH7 AT SHEHZADPUR TOWARDS KALA AMB ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO KALA AMB ON NH7 (AMBALA-KALA AMB ROAD)	AMBALA	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
800	WITHIN 8 KMS FROM HIMACHAL PRADESH- HARYANA BORDER ON RIGHT HAND SIDE WHILE MOVING FROM KALA AMB TO AMBALA ON NH7 (KALA AMB - AMBALA ROAD)	AMBALA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
801	WITHIN 8 KMS FROM HIMACHAL PRADESH- HARYANA BAORDER ON LEFT HAND SIDE WHILE MOVING FROM KALA AMB TO AMBALA ON NH7 (KALA AMB - AMBALA ROAD)	AMBALA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
802	WITHIN 3 KMS OF INTERSECTION OF NH5 & PINJORE BYPASS ON LEFT HAND SIDE WHILE MOVING TOWARDS BADDI ON PINJORE BYPASS	PANCHKULA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
803	WITHIN 3 KMS OF INTERSECTION OF NH5 & PINJORE BYPASS ON RIGHT HAND SIDE WHILE MOVING TOWARDS BADDI ON PINJORE BYPASS	PANCHKULA	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
804	SECTOR 21 WITHIN PANCHKULA MUNICIPAL LIMITS	PANCHKULA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
805	SECTOR 5 MANSA DEVI COMPLEX WITHIN PANCHKULA MUNICIPAL LIMITS	PANCHKULA	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
806	WITHIN 1 KM ON EITHER SIDE OF RAMA INDUSTRIES ON MAIN ROAD CONNECTING VILLAGE SURAJPUR TO NH5	PANCHKULA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
807	WITHIN 4 KMS FROM UJJWAL MIDDLE SCHOOL LAHA TOWARDS BUS STAND NARAINGARH ON SH1(RAIPUR RANI-NARAINGARH ROAD)	AMBALA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
808	ON DHAKOLI-PANCHKULA ROAD, WITHIN PANCHKULA MUNICIPAL LIMITS	PANCHKULA	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
809	WITHIN KALKA MUNICIPAL LIMITS (EXCEPT NH5 & NH105)	PANCHKULA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
810	WITHIN 3 KMS OF INTERSECTION OF NH105 & PINJORE BYPASS ON LEFT HAND SIDE WHILE MOVING TOWARDS PANCHKULA ON PINJORE BYPASS	AMBALA	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
811	FROM KM STONE 02 TO KM STONE 07 ON NH 709AD (PANIPAT-SHAMLI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PANIPAT TO KAIRANA (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
812	FROM KM STONE 08 TO KM STONE 12 ON NH 709AD (PANIPAT-SHAMLI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PANIPAT TO KAIRANA (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	170	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
813	FROM KM STONE 13 TO KM STONE 17 ON NH709AD (PANIPAT-SHAMLI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PANIPAT TO KAIRANA D (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
814	FROM KM STONE 08 TO KM STONE 12 ON NH 709AD (PANIPAT-SHAMLI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM PANIPAT TO KAIRANA (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
815	FEOM KM STONE 02 TO KM STONE 07 ON NH 709AD (PANIPAT-SHAMLI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM PANIPAT TO KAIRANA (EXCLUDING STRETCH UNDER IELYOVER)	PANIPAT	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
816	FETOVERI FROM KM STONE 13 TO KM STONE 17 ON NH709AD (PANIPAT-SHAMLI ROAD)ON RIGHT HAND SIDE WHILE MOVING FROM PANIPAT TO KAIRANA (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	165	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

817	FROM KM STONE 73 TO KM STONE 78 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
818	FROM KM STONE 74 TO KM STONE 80 ON NH709 (ROHTAK-PANIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ROHTAK TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
819	FROM KM STONE 79 TO KM STONE 82 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	170	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
820	FROM KM STONE 73 TO KM STONE 78 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
821	FROM KM STONE 83 TO RELIANCE TRENDZ SHOWROOM PANIPAT ON NH44 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL	PANIPAT	REGULAR	180	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
822	FROM PVR CINEMA PANIPAT TO RELIANCE DIGITAL SHOWROOM PANIPAT ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO SONIPAT	PANIPAT	REGULAR	190	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
823	FROM RESTAURENT THEMIS BARBECUE HOUSE PANIPAT TO SAWAN HYUNDAI CAR SHOWROOM PANIPAT ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KARNAL TO SONIPAT	PANIPAT	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
824	FROM KM STONE 96 TO KM STONE 99 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
825	FROM KM STONE 79 TO KM STONE 82 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	190	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
826	FROM KM STONE 74 TO KM STONE 80 ON NH709 (ROHTAK-PANIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ROHTAK TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	PANIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
827	FROM HUDA SUB STATION (SECTOR 25 PART 2) TO INTERSECTION OF HARDIWAR BYEPASS ROAD AND SANOLI ROAD ON LEFT HAND SIDE WHILE MOVING FROM NH44 TO BABALI POLICE NAKA WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	160	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
828	FROM PVR CINEMA TO KUNJAL JAN SEVA HOSPITAL ON BARSAT ROAD WITHIN PANIPAT	PANIPAT	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
829	MUNICIPAL LIMITS FROM SAI RAM NURSING HOME TO IOCL PETROL PUMP ANIL PETRO ON JATTAL ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
830	FROM MORNING GLORY PUBLIC SCHOOL TO AXIS BANK BRANCH UJHA VIA KHUSI GARDEN ON UJHA ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	110	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
831	GHARAUNDA WITHIN MUNICIPAL LIMITS (NOT ON NH)	KARNAL	REGULAR	100	OPEN CC 2	DC	20	20	400	32	55	DRAW OF LOTS	15	5
832	FROM SANJAY CHOWK TO DR. CHOUDHRY HOSPITAL ON JATTAL ROAD WITHIN PANIPAT MUNICIPAL LIMITS FROM PAWANANJALI HOSPITAL TO D P PUBLIC	PANIPAT	REGULAR	120	OBC CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
833	SCHOOL ON BABAIL ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
834	SECTOR 13 OR SECTOR 17 WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
835	FROM SANJAY CHOWK TO APEX HOSPITAL & TRAUMA CENTRE ON SANOLI ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	140	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
836	FROM HEAD POST OFFICE PANIPAT TO IOCL INDANE GAS AGENCY SAVITA GAS SERVICE VIA OLD COURT ROAD IN OLD INDUSTRIAL AREA WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
837	WITHIN 2 KMS FROM NH44 INTERSECTION TOWARDS ASSANDH ON SH14 (PANIPAT- ASSANDH ROAD)	PANIPAT	REGULAR	160	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
838	FROM SHREE AWADH DHAM MANDIR SATSANG BHAWAN TO JEEVAN JYOTI VIDYA NIKETAN SCHOOL ON KUTANI ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
839	FROM IOC PETROL PUMP MALIK LAL CHAND & SONS TO HARIDWAR BY PASS ROAD VIA MITTAL MEGA MALL WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
840	FROM SANJAY CHOWK TO MINI SECRETARIAT PANIPAT ON NH44 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO KARNAL	PANIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
841	FROM NEXTRA CITY TO POLICE CHOWKI SAIDPUR ON SH18 (ROHTAK-KHARKHODA - DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM KHARKHODA TO AUCHANDI BORDER	SONIPAT	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
842	FROM INTERSECTION OF NH709 AND PANIPAT GOHANA ROAD TO HP PETROL PUMP PARAS FILLING STATION ON PANIPAT-GOHANA ROAD	PANIPAT	REGULAR	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
843	FROM NEXTRA CITY TO POLICE CHOWKI SAIDPUR ON SH18 (ROHTAK-KHARKHODA - DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM KHARKHODA TO AUCHANDI BORDER	SONIPAT	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

FROM POLICE CHOWKI SAIDPUR TO AUCHANDI BORDER ON SH18 (ROHTAK-KHARKHODA - DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SAIDPUR TO AUCHANDI BORDER	SONIPAT	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
WITHIN 5 KMS FROM NH44 INTERSECTION TOWARDS SONIPAT CITY ON SH11 (SONIPAT- GOHANA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM BAHALGARH TO SONIPAT CITY	SONIPAT	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
FROM INTERSECTION OF NH44 AND TAJPUR ROAD TO AGGRASEN CHOWK VIA NIDAAN HOSPITAL ON SH20 (MURTHAL-SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM MURTHAL TO SONIPAT CITY	SONIPAT	REGULAR	101	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
FROM AGGRASEN CHOWK TO INTERSECTION OF NH 44 AND TAJPUR ROAD VIA SHREEJEE INTERNATIONAL SCHOOL ON SH20 (MURTHAL- SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AGGRASEN CHOWK TO TAJPUR	SONIPAT	REGULAR	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
FROM GVM GIRLS COLLEGE TO AGGRASEN CHOWK ON SONIPAT MURTHAL ROAD WITHIN SONIPAT MUNICIPAL LIMITS	SONIPAT	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
FROM POLICE NAKA KALUPUR CHUNGI TO GOVT SR.SEC.SCHOOL ROHAT ON SH20 (MURTHAL-SONIPAT ROAD)	SONIPAT	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
WITHIN 5 KMS FROM NH44 INTERSECTION TOWARDS SONIPAT CITY ON SH11 (SONIPAT- GOHANA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM BAHALGARH TO SONIPAT CITY	SONIPAT	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
GANNAUR ON PUNGTHALA ROAD WITHIN GANNAUR MUNICIPAL LIMITS	SONIPAT	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
SECTOR 14 OR SECTOR 15 WITHIN SONIPAT MUNICIPAL LIMITS	SONIPAT	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
FROM KM STONE 12 TO KM STONE 16 ON NH334B (MEERUT-KHARKHODA-JHAJJAR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NH44 TO JHAJJAR ON NH334B (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 17 TO KM STONE 22 ON NH334B (MEERUT-KHARKHODA-JHAJJAR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM NH44 TO JHAJJAR ON NH334B (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
FROM KM STONE 23 TO KM STONE 28 ON NH334B (MEERUT-KHARKHODA-JHAJJAR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NH44 TOJHAJJAR ON HN3454B (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 21 TO KM STONE 24 ON SH18 (ROHTAK-KHARKHODA -DELHI ROAD)	SONIPAT	REGULAR	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
FROM KM STONE 35 TO KM STONE 40 ON NH334B (MEERUT-KHARKHODA-JHAJJAR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NH44 TOJHAJJAR ON NH334B (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
FROM KM STONE 46 TO KM STONE 49 ON NH44 (DELHI- AMBALA ROAD)ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 42 TO KM STONE 45 ON NH44 (DELHI- AMBALA ROAD)ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 42 TO KM STONE 45 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
FROM KM STONE 30 TO KM STONE 34 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
FROM KM STONE 35 TO KM STONE 41 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 35 TO KM STONE 41 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 30 TO KM STONE 34 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT ON NH44 (EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
FROM UP BORDER TO DELHI PUBLIC SCHOOL, SONIPAT ON NH 334B (MEERUT-KHARKHODA- JHAJJAR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM BAGHPAT TO JHAJJHAR	SONIPAT	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
SECTOR 38 WITHIN SONIPAT MUNICIPAL LIMITS	SONIPAT	REGULAR	100	Open	DC	20	20	400	32	55	LOTS	15	5
HSIIDC, KUNDLI	SONIPAT	REGULAR	104	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
FROM UP BORDER TO INTERSECTION OF NH334B & NH44 ON NH 334B (MEERUT- KHARKHODA-JHAJJAR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM BAGHPAT TO JHAJJHAR	SONIPAT	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
FROM KM STONE 31 TO KM STONE 40 ON NH709 (ROHTAK-PANIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ROHTAK TO PANIPAT	SONIPAT	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
FROM KM STONE 31 TO KM STONE 40 ON NH709 (ROHTAK-PANIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ROHTAK TO PANIPAT	SONIPAT	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BORDER ON SH18 (ROHTAK-KHARKHODA- DELHI ROAD) ON RIGH THAND SIDE WHILE MOVING FROM SAIDPUR TO AUCHANDI BORDER WITHIN 5 KMS FROM HH44 INTERSECTION TOWARDS SONIPAT CITY ON SH11 (SONIPAT- GOHANA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM BAHALGARH TO SONIPAT CITY FROM INTERSECTION OF INH44 AND TAJPUR FROM INTERSECTION OF INH44 AND TAJPUR FROM INTERSECTION OF INH44 AND TAJPUR FROM AGGRASEN CHOWK VIA NIDAAN HOSPITAL ON SH20 (MURTHAL-SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM MURTHAL TO SONIPAT CITY FROM AGGRASEN CHOWK TO INTERSECTION OF NH 44 AND TAJPUR ROAD VIA SHREEJEE INTERNATIONAL SCHOOL ON SH20 (MURTHAL- SONIPAT MUNCIPAL LIMITS FROM GIRLS COLLEGE TO AGGRASEN HOWK ON GISLS COLLEGE TO AGGRASEN FROM FROM BAHALGARH TO SONIPAT CITY OWING FROM AGGRASEN CHOWK TO TAJPUR FROM GVIN GIRLS COLLEGE TO AGGRASEN (MURTHAL-SONIPAT ROAD) WITHIN 5 KMS FROM HH44 INTERSECTION TOWARDS SONIPAT UNTHAL ROAD WITHIN SONIPAT MUNICIPAL LIMITS FOOD FOLSE NAKA KALUPUR CHUNGI TO GOHANA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM BAHALGARH TO SONIPAT CITY GANNAUR ON PUNCTHALA ROAD WITHIN GANNAUR MUNICIPAL LIMITS SECTOR 14 OR SECTOR 15 WITHIN SONIPAT MUNICIPAL MITS SECTOR 14 OR SECTOR 15 WITHIN SONIPAT MUNICIPAL LIMITS FROM KM STONE 12 TO KM STONE 16 ON NH3348 (MEERUT-KHARKHODA-JHAJJAR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NH44 TO JHAJJAR ON NH3348 (EXCLUDING STRETCH UNDER FLYOVER) FROM KM STONE 21 TO KM STONE 22 ON NH3348 (MEERUT-KHARKHODA-JHAJJAR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM NH44 TO JHAJJAR ON NH3348 (EXCLUDING STRETCH UNDER FLYOVER) FROM KM STONE 23 TO KM STONE 24 ON SH18 (ROHTKM STONE 24 TO KM STONE 24 ON SH144 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER) FROM KM STONE 35 TO KM STONE 44 ON NH44 (DELHI-AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM DELHI TO PANIPAT (EXCLUDING STRETCH UNDER FLYOVER) FROM KM STONE 35 TO KM STONE 44 ON NH44 (BORDER ON SH18 (ROHTAK-KHARHODA- DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SADPUR TO AUCHANDI BORDER SONIPAT WITHIN 5 KMS FROM NH44 INTERSECTION TOWARDS SONIPAT CITY SONIPAT COMARDS CONDARD CITY ON SHULL SONIPAT CITY SONIPAT COMARDS SONIPAT CITY SONIPAT COMARDS SONIPAT CITY SONIPAT FROM NTERSECTION OF H44 AND TAJPUR GORD TO AGGRASE CHOWK TO NATERSECTION ON LETT HAND SIDE WHILE MOVING FROM AGGRASE CHOWK TO TAJPUR SONIPAT FROM AGGRASES CHOWK TO INTERSECTION OF MH 44 AND TAJPUR ROAD VIX SHREELEE SONIPAT ROAD JON LETT HAND SIDE WHILE MOVING FROM BAGGRASE CHOWK TO TAJPUR SONIPAT SONIPAT MICHAN SCHOOL ON SHREE CHOW MOVING FROM BAGGRASE CHOWK TO TAJPUR SONIPAT SONIPAT MICHAN SCHOOL ON SHREE CHOW ON SGRADE ALUPUR CHUNCITO SONIPAT SONIPAT FROM FOLCE MARK ALUPUR CHUNCITO GORDAN ARDO, NI RIGHT HAND SIDE WHILE MOVING FROM BAHALGARH TO SONIPAT SONIPAT MUNICIPAL LIMITS SONIPAT SONIPAT SCONTPAT CITY ON SH111 (SONIPAT. SONIPAT MONDER FLOWCER SONIPAT SONIPAT MUNICIPAL LIMITS SONIPAT SONIPAT FROM MA STONE TO SUMMET AND SONIPAT SONIPAT SONIPAT MUNICIPAL LIMITS SONIPAT SONIPAT MUNICIPAL	BORDER ON SHIB (ROHTAK-WARKHODA- DELHI BOAD) ON RIGHT HAD SIDE WHILE MOVING FROM SAUDPLR TO AUCHANDI BORDER SONIPAT REGULAR MUTHIN SKME FROM SAUDPLR TO AUCHANDI BORDER SONIPAT REGULAR REGULAR SONIPAT CITY ON SHIT (SONIPAT. CITY) SONIPAT REGULAR MOVING FROM BAHALGARN TO SONIPAT CITY SONIPAT REGULAR REGULAR SONIPAT REGULAR MOVING FROM SAHALGARN TO SONIPAT CITY SONIPAT REGULAR REGULAR SONIPAT REGULAR MOVINT FROM SANDER WHILE SONIPAT REGULAR SONIPAT INTO SONIPAT UNTY SONIPAT REGULAR SONIPAT RAD, JON LEFT HAND SIDE WHILE SONIPAT REGULAR SONIPAT RAD, JON LEFT HAND SIDE WHILE SONIPAT REGULAR ROWING FROM SAGRASEN CHOWK TO TAJPUR SONIPAT REGULAR ROWING SONIPAT GITY ON SHIT (SONIPAT REGULAR SONIPAT REGULAR ROWING FROM SAGRASEN CHOWK TO TAJPUR SONIPAT REGULAR SONIPAT REGULAR ROWING FROM SAMAL MERRECTON SONIPAT REGULAR SONIPAT REGULAR ROWING SCONT SAGRASEN CHOWK TO TAJPU	BORDER ON SHIE (ROHTAKUARSHODA- DELH RAQU) NO KINTHAKUS BURVHEL MOUNG FROM SANDYLE TO AUCHANDI BONDER MOUNG FROM SANDYLE TO AUCHANDI BONDER MOUNG FROM SANDYLE TO AUCHANDI BONDER FORMARCAD, ULET HAND SUB WHILE MOUNG FROM BAHALGARITO SONPAT CITY FROM INCRESS CONTROL NET HAND SUB WHILE MOUNG FROM BAHALGARITO SONPAT CITY ROAD TO AGGRASEN CHOWK VIN NUDAAN MOUNT AGGRASEN CHOWK VIN NUDAAN MOUNT AGGRASEN CHOWK VIN NUDAAN MOUNT FALL DISONPAT CITY FROM AGGRASEN CHOWK VIN DI NTERSECTION ON HIET ALL DISONPAT CITY FROM AGGRASEN CHOWK VIN DI NTERSECTION CONTRAT MULTIPUR ROAD VIS NUTARA MOUNT FROM AGGRASEN CHOWK VIN DI NTERSECTION CONTRAT MULTIPUR ROAD VIS NUTARA MOUNT FROM AGGRASEN CHOWK VIN DI NTERSECTION CHOWK ON SONPAT DUET HAND SUB WHILE MOUNG FROM AGGRASEN HOUND HIE SONPAT REGULAR 100 FROM MOLECE HAND AGGRASEN CHOWK ON SONPAT CITY ON SHIE (SONPAT REGULAR SONPAT REGULAR 100 FROM MOLECE HAND AGGRASEN CHOWK ON SONPAT CITY ON SHIE (SONPAT REGULAR 100 100 FROM MOLECE HAND AGGRASEN CHOWK ON SONPAT ALL BUTS SONPAT SONPAT REGULAR 100 FROM MOLECE HAND AGGRASEN CHOWK ON SONBHAL BUTS FROM MOLECE HAND AGGRASEN CONT WITHIN S KMS FROM HAND ATTERSECTION TOWARD SONBHAL CHUNG TON GARMALK MULTARALGART IO SONBHAT SONPAT REGULAR 100 FROM MOLECE HAND AGGRASEN CONT WITHIN S KMS FROM HAND ATTERSECTION TOWARD SONE MALGART IO SONE MAT UNASSE MILECENT HAND SONE WITHIN SWS FROM HAND ATTERSECTION TOWARD SONE MALGART IO SONE WAND SONE AT REGULAR 100 SONPAT REGULAR SONPAT REGULAR 100 SONPAT REGULAR ON HIESSECTION DE HAND MAND SONE SONPAT REGULAR ON HIESSECTION DE HAND MAND SONE S	OROBER ON SHIE (RECATLAKARSHODA- DATING) SONPAT REGULAR 100 Open MOTH FROM SACENIT FLAND SIGE WITH HAND SIGE WITH SOMPATING SALE AND SALE WITH SOMPATING TOWARDS SOMPATION OF SOMPATING SOMPATING SOMPATING SOMPATING SOMPATING SOMPATION OF SOMPATING SOMPATION OF SOMPATING SOMPATION OF SOMPATING SOMPAT	BORDER ON SHIE (RCH/TAK-MERICUAL- UNING FOR SHALE (RCH/TAK-MERICUAL- SCHERROLL), (NAME AND TAKENGOLL- UNING FOR ADDALANCE HAND SDE WHEE MOVING FOR MALANCE AND TAKENGOL UNING FOR MALANCE AND TAKE	BORDER OF 114 MORTHANGEMENDAL- COMMAN FORM AND SHIE MORTHANGEMENDAL- SOURCE AND AND TRANSFERDAL AND	BROBER DISIN BUILD TRANS-REPORTA- WORKER TOWARD SHORE TO AUCHYONE DOWARD WORKER TOWARD SHORE TO AUCHYONE DOWARD WORKER TOWARD WORKER TOWARD WORKER TOWARD WORKER TOWARD WORKER WORKER TOWARD WORKER TOWARD WORKER	BICHER DUIL SPINAT PROLIAR 100 Queen DC 200 122 WITH A SUB FIGURANAL MITTERTONING COMMAN ADD CITED TANG SUB FIGURANAL COMMAN ADD CITED TANG SUB FIGURANAL SUB FIGURANAL COMMAN ADD CITED TANG SUB FIGURANAL SUB FIGURANAL COMMAN ADD CITED TANG SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL COMMAN ADD FIGURANAL SUB FIGURANAL SUB FIGURANAL COMMAN ADD FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FIGURANAL SUB FI	Discrete on any entry any entry and entry any entry a	Display Display <t< td=""><td>International matrix decomponents Orace No. No. <</td><td>Inclusion state sta</td></t<>	International matrix decomponents Orace No. No. <	Inclusion state sta

Image: Control and															
Action (1)	871	(ROHTAK-PANIPAT ROAD) ON LEFT HAND SIDE	SONIPAT	REGULAR	160	OPEN CC 1	DC	35	35	1225	32	95		15	5
Bit Market Market Market Mark Market Mark Mark </td <td>872</td> <td>(ROHTAK-PANIPAT ROAD) ON RIGHT HAND SIDE</td> <td>SONIPAT</td> <td>REGULAR</td> <td>150</td> <td>OBC</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td></td> <td>15</td> <td>4</td>	872	(ROHTAK-PANIPAT ROAD) ON RIGHT HAND SIDE	SONIPAT	REGULAR	150	OBC	DC	35	35	1225	32	95		15	4
Image: Note of the original division of the orig	873	(ROHTAK-PANIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ROHTAK TO PANIPAT(EXCLUDING STRETCH UNDER	PANIPAT	REGULAR	180	Open	DC	35	35	1225	32	95		15	5
Image: Section Consistence of the Constant is a source in a source	874	FROM KM STONE 58 TO KM STONE 68 ON NH709 (ROHTAK-PANIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ROHTAK TO PANIPAT(EXCLUDING STRETCH UNDER	PANIPAT	REGULAR	190	sc	CFS	35	35	1225	0	0		0	3
Bio Bio Description Descripti	875	WITHIN 10 KMS FROM OM PUBLIC SCHOOL GOHANA TOWARDS NURAN KHERA ON NH352A	SONIPAT	REGULAR	180	Open	DC	35	35	1225	32	95		15	5
Informational structure in Ioward and operational structure in Ioward and opera	876	GOHANA ANAJ MANDI GATE NO. 2 ON NH352A (JIND-GOHANA- SONIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM JIND TO	SONIPAT	REGULAR	220	OBC	DC	35	35	1225	32	95		15	4
DB DEVENDENCE OF MERCE OF MERCE OF MERCE OF MERCE SON PAT REGULAR 168 Open CC 35 35 102 31 64 DERAW OF 155 MODE OF MERCE OF MERCE OF MERCE OF MERCE SON MAT REGULAR 168 SOC C1 C5 35 125 12 12 0 DRAW OF MERCE 0 3 MODE MERCE OF MERCE OF MERCE SON MAT REGULAR 168 SOC C1 C5 35 125 12 0 DRAW OF MERCE OF MERCE 0 3 0 DRAW OF MERCE 0 3 0 DRAW OF MERCE 0 3 0 DRAW OF MERCE 0 3 0 0 DRAW OF MERCE 0 3 0 0 DRAW OF MERCE 0 0 3 3 0 DRAW OF MERCE 0 0 <	877	FROM KM STONE 40 TO KM STONE 50 (NEW CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	160	Open	DC	35	35	1225	32	95		15	5
Dependencie on NEISCA LINE ORDER MICESON INCOMENT DONING REGULAR 190 SOCCE1 CFS 33 123 120 0 0 DEWAYCE 0 33 Demand Component Prevonent Streptiction Linear Prevonent Streptictio	878	CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	160	Open	DC	35	35	1225	32	95		15	5
BB CHARACE ON NHISSAL MICH COMMANCE ON MICH SONPART REGULAR 173 CGC C 1 DC 33 132 33 93 DRAW 000 BINALTION LINE RE NUMBER NUMBER NUMBER SONPART REGULAR 173 CGC C 1 DC 33 132 132 93 DRAW 000 BINALTION LINE RE NUMBER N	879	CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	160	SC CC 1	CFS	35	35	1225	0	0		0	3
Bit Manage on Network Network Desch Mark Desch Mark <thdesch mark<="" th=""> Desch Mark <thd< td=""><td>880</td><td>CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING</td><td>SONIPAT</td><td>REGULAR</td><td>175</td><td>OBC CC 1</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td></td><td>15</td><td>4</td></thd<></thdesch>	880	CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	175	OBC CC 1	DC	35	35	1225	32	95		15	4
BB BRUNKED ON NHSSAL (MPL-COMMAN-SOMPAT) RADIA (MPL-TIANA SIGNE MINANDAL SONPAT RESULAR 1175 Open PH DC 35 128 128 96 DRAW OF LOTS 15 BR RADIA (MPL-TIANA SIGNE MINANDAR) RADIA (MPL-TIANA SIGNE MINANDAR) SONPAT REGULAR 175 SC CFS 35 128 0.0 0.0 DRAW OF 0.0 3 BR RADIA MISTORE 71 ON MISCAL (MPL-OWNER) STRECT UNDER FLYOVER) SONPAT REGULAR 175 SC CFS 35 1225 0.0 DRAW OF 0.0 3 BR RADIA MISTORE 71 ON MISTORE 50 N MIAL (DELH-MBRA ADDIA) OL ETT HANO SIDE MINAND FLYOVER SONPAT REGULAR 200 OBEC DC 35 1225 222 95 DRAW OF 15 4 ICELH-MBRA ADDIA MISTORE 50 NIMAL (DELH-MBRA ADDIA) OL ETT HANO SIDE MINAND FOR SONPAT SONPAT REGULAR 200 Open DC 35 122 22 95 DRAW OF 15 4 IDELH-MBRA ADDIA) OL ETT HANO SIDE MINAND FOR SON MINAT SONPAT REGULAR 100 <td>881</td> <td>CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING</td> <td>SONIPAT</td> <td>REGULAR</td> <td>175</td> <td>Open</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td></td> <td>15</td> <td>5</td>	881	CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	175	Open	DC	35	35	1225	32	95		15	5
BB REAUXANCE: ON NEASCUMENCE SONPAT REGULAR 1175 SC CFB 35 128 0 0 DPAW OF 0 3 READX ON REMEAR TO SUPATE SONPAT REGULAR 200 OBC 0C 35 35 128 0 0 DPAW OF 10 A READX ON REMEAR TO SUPET SONPAT REGULAR 200 OBC 0C 35 35 128 05 DPAW OF 10 A REMEMON REFORM SONPAT SONPAT REGULAR 200 OPEN DC 355 125 32 065 DPAW OF 15 4 REMEMON REFORM SONPAT SONPAT REGULAR 220 Open DC 355 125 32 05 DPAW OF 10 5 REMEMON REFORM SONPAT REGON NET SON SONPAT REGULAR 180 OPEN DC 355 125 32 05 DPAW OF 10 3 REMEMON REFORM SONPAT REGON NET SON SONPAT REGULAR 200	882	CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON LEFT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	175	Open PH	DC	35	35	1225	32	95		15	5
88 BELHI- MARALA ROADO NO LETT HAND SIDE WHILE MOVING FROM SOMPAT TO ANNAT RESCLUDING STRETCH UNDER SOMPAT REGULAR 200 OBC DC 35 1225 32 96 DRAW OF LOTS 15 4 0FUNDER STOM FAC STOM FAC SOMPAT REGULAR 220 Open DC 35 125 32 96 DRAW OF LOTS 15 5 86 PAINATICE STOM FAC SOMPAT REGULAR 220 Open DC 35 125 32 96 DRAW OF LOTS 15 4 86 PAINATICE SOMPAT REGULAR 180 OBC DC 35 125 32 95 DRAW OF LOTS 15 4 86 PAINATICE SOMPAT REGULAR 200 SCC CFs 35 125 32 95 DRAW OF LOTS 15 5 87 PAINATICE SOMPAT REGULAR 200 SCC CFs 35 125 122 0 0	883	CHAINAGE) ON NH352A (JIND-GOHANA-SONIPAT ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM GOHANA TO SONIPAT(EXCLUDING	SONIPAT	REGULAR	175	sc	CFS	35	35	1225	0	0		0	3
885 DELHI-A MBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT EXCLUDING STRETCH UNDER SONIPAT REGULAR 220 Open DC 35 35 1225 32 95 DRAW OF LOTS 15 5 FROM KM STONE STO M STONE 50 ON NH44 (DELHI-MABLA ROAD) ON RIGHT HAND SIDE PANIPAT EXCLUDING STRETCH UNDER SONIPAT REGULAR 160 OBC DC 355 1225 32 95 DRAW OF LOTS 15 4 READ MAIL ROAD ON NIGHT HAND SIDE PANIPAT EXCLUDING STRETCH UNDER SONIPAT SONIPAT REGULAR 200 OBC CF 355 125 32 95 DRAW OF LOTS 15 4 887 WHILE MOVING FROM SONRAT TO PANIPAT EXCLUDING STRETCH UNDER PANIPAT REGULAR 200 Open DC 35 35 1225 32 95 DRAW OF LOTS 15 5 887 WHILE MOVING FROM SONRAT TO ANIPAT PANIPAT TEREGULAR 200 Open DC 35 125 32 75 DRAW OF LOTS 15 5 888 PORTONE GROM SONRAT TO	884	(DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT(EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	200	OBC	DC	35	35	1225	32	95		15	4
886 OPELHIA AMBALA ROADI ON RIGHT HAND SIDE WHLE MOVING FRM SONIPAT TO PANIPATEXCLUDIONS STRETCH UNDER FLYOVERD SONIPAT REGULAR 180 OBC DC 35 35 1225 32 95 DRAW OF LOTS 15 4 887 WHLE MOVING FRM SONIPAT TO FLYOVERD FOM KM STONE 67 TO KM STONE 72 ON NH44 (DELHI- AMBALA ROAD) ON IEFT HAND SIDE FLYOVERD PANIPAT REGULAR 200 SC CFS 35 15 1225 0 0 DRAW OF LOTS 0 3 887 WHLE MOVING STRETCH UNDER FLYOVERD TOKI M STONE 67 TO KM STONE 72 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE VINILE MOVING FROM SONIPAT TO PANIPAT REGULAR 200 Open DC 35 35 1225 32 95 DRAW OF LOTS 15 5 888 SPORTS ACADE WT YOWARD SKATHURA ON SHITE MOVING FROM SONIPAT TO PANIPAT REGULAR 110 Open DC 35 35 1225 32 75 DRAW OF LOTS 15 5 889 SPORTS ACADE WT YOWARD SKATHURA ON SHITE MOVING FROM SONIPAT TO NANTON SONIPAT REGULAR 110 Open DC 35<	885	(DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT(EXCLUDING STRETCH UNDER FLYOVER)	SONIPAT	REGULAR	220	Open	DC	35	35	1225	32	95		15	5
RFOM KM STONE 67 TO KM STONE 77 ON NH44 (DELH MARLA ROAD) OI LEFT HAND SIDE (DELH MARLA ROAD) OI LEFT HAND SIDE (DELH MARLA ROAD) OI LEFT HAND SIDE (DELH MARLA ROAD) OI LEFT HAND SIDE (DAUM DE R'HUNDER CHUNDER CTUDINDER TETCH UNDER FLYOVER)PANIPAT TO REGULARREGULAR200OpenCFS3535122500.0DRAW OF LOTS0.11588FCOM KM STONE 67 TO KM STONE 72 ON NH44 (DELH MARLA ROAD) ON RIGHT HAND SIDE WHILE MOVING FTOM SONIPAT TO PANIPATPANIPATREGULAR200OpenDC3553512253295DRAW OF LOTS15589SPORTS ACADEMY TOWARDS NATHARON SIDE WHILE MOVING FROM SUBHASH CHANDRAB OSE SHI (AGSI-BICH-ROAD)SONIPATREGULAR110OpenDC35535122532755DRAW OF LOTS15580FFOM KM STONE 130 ON SHI (AGSI-BICH-ROAD)SONIPATREGULAR110OpenDC35535122532755DRAW OF LOTS15581FCOM KARFOI CHOWK TO VICEKANAND PUBLIC SCHIPAL VARDASONIPATREGULAR110OpenDC3512532755DRAW OF LOTS15482FCOM KARFOI CHOWK TO VICEKANAND PUBLIC SCHIPAL VARDASONIPATREGULAR110OpenDC202040032555DRAW OF LOTS15483FCOM KARFOI CHOWK TO VICEKANAND PUBLIC SCHIPAL VARDASONIPATREGULAR160SCCFS202040032 <td>886</td> <td>(DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT(EXCLUDING STRETCH UNDER</td> <td>SONIPAT</td> <td>REGULAR</td> <td>180</td> <td>OBC</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>32</td> <td>95</td> <td></td> <td>15</td> <td>4</td>	886	(DELHI- AMBALA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT(EXCLUDING STRETCH UNDER	SONIPAT	REGULAR	180	OBC	DC	35	35	1225	32	95		15	4
888FROM KM STONE 67 TO KM STONE 72 ON NH44 DELHIA AR DADJON RIGHT HAND SIDEPANIPATREGULAR200OpenDC35351253295DRW OF LOTS155889WTHIN 5 KMS FROM SUBHASH CHANDRA BOSE SPORTS ACADEMY TOWARDS KATHURA ON SIGHAT DADIENDSONIPATREGULAR120OpenDC3553551225322755DRAW OF LOTS155890ROM KM STONE 125 TO KM STONE 130 ON SIGHAT DADIENDSONIPATREGULAR110OpenDC3553551225322755DRAW OF LOTS155891SCHOL VIA DR AMBEDKAR BHAWAN WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR110OpenDC3552040032555DRAW OF LOTS154892RCM ARROL CHOWK TO VIVERANAND PUBLIC SONIPAT MUNICIPAL LIMITSSONIPATREGULAR160SCCFS202040000DRAW OF LOTS154893RCM CHOTU RAM CHOWK TO CHANDER SONIPAT MUNICIPAL LIMITSSONIPATREGULAR160SCCFS202040000DRAW OF LOTS155894RCM CHOTU RAM CHOWK TO CHANDER SONIPAT TO POLICESONIPATREGULAR160SCCFS202040000DRAW OF LOTS155895RCM CHOTU RAM CHOWK TO CHANDER SONIPAT TO POLICESONIPATREGULAR140OPEN CC 1DC2020	887	FROM KM STONE 67 TO KM STONE 72 ON NH44 (DELHI- AMBALA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SONIPAT TO PANIPAT(EXCLUDING STRETCH UNDER	PANIPAT	REGULAR	200	sc	CFS	35	35	1225	0	0		0	3
889 SPORTS ACADEMY TOWARDS KATHURA ON SH6A (GOHANA-MEHAM ROAD) SONIPAT REGULAR 120 Open DC 35 35 1225 32 75 DRAW OF LOTS 15 5 890 SH0A (GOHANA-MEHAM ROAD) SONIPAT REGULAR 110 Open DC 35 35 1225 32 75 DRAW OF LOTS 15 5 890 SHORTS ACADEMY TOWARDAD SONIPAT REGULAR 110 Open DC 35 35 1225 32 75 DRAW OF LOTS 15 5 891 SCHOOL VID AR AMBEDKAR BHAWAN WITHIN SONIPAT MUNICIPAL LIMITS SONIPAT REGULAR 110 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 892 FROM AGRASEN CHOWK TO MURTHAL ADDA CHOWK WITHIN SONIPAT MUNICIPAL LIMITS SONIPAT REGULAR 160 SC CFS 20 400 0 0 DRAW OF LOTS 15 5 892 FROM CHOU RAM CHOWK TO CHANDRA MOAD VIA SWARNPRASTHA HOSPITAL WITHIN SONIPAT SONIPA	888	FROM KM STONE 67 TO KM STONE 72 ON NH44 (DELHI- AMBALA ROAD) ON RIGHT HAND SIDE	PANIPAT	REGULAR	200	Open	DC	35	35	1225	32	95		15	5
380SH11 (JAGSL-BICHPADI ROAD)SONIPATIREGULAR110OpenDC33331233273LDTS133891SCHOOLVAD R. AMBEDKAR BHAWAN WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR110OBCDC20204003255DRAW OF LOTS154892FROM AGRASEN CHOWK TO MURTHAL ADDA CHOWK WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR160SCCFS202040000DRAW OF LOTS154892FROM AGRASEN CHOWK TO MURTHAL ADDA CHOWK WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR160SCCFS202040000DRAW OF LOTS03893GRADED ON SONIPATTOPACIDANA RADO VIA SWARNPRASTHA HOSPITAL WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR130OpenDC20204003255DRAW OF LOTS155894RAKA KALUPUR CHUNGI WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR140OPEN CC1DC20204003255DRAW OF LOTS155894RAKA KALUPUR CHUNGI WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR140OPEN CC1DC20204003255DRAW OF LOTS155895CULVERT VIA BPCI CO BHARAT FUELS WITHINSONIPATREGULAR120OBCDC20204003255DRAW OF<	889	SPORTS ACADEMY TOWARDS KATHURA ON	SONIPAT	REGULAR	120	Open	DC	35	35	1225	32	75	LOTS	15	5
891FROM KAKROI CHOWK TO VIVEKANAND PUBLIC SCHOOL VIA DR. AMBEDKAR BHAWAN WITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR110OBCDC20204003255DRAW OF LOTS154892FROM AGRASEN CHOWK TO MURTHAL ADDA CHOWK MITHIN SONIPAT MUNICIPAL LIMITSSONIPATREGULAR160SCCFS202040000DRAW OF LOTS03893FROM CHOTU RAM CHOWK TO CHANDER SWARNPRASTHA HOSPITAL WITHIN SONIPAT WUNICIPAL LIMITSSONIPATREGULAR130OpenDC20204003255DRAW OF LOTS155894FROM HINDU COLLEGE SONIPAT TO POLICE MUNICIPAL LIMITSSONIPATSONIPATREGULAR140OPEN CC1DC20204003255DRAW OF LOTS155894FROM HINDU COLLEGE SONIPAT TO POLICE MUNICIPAL LIMITSSONIPATREGULAR140OPEN CC1DC20204003255DRAW OF LOTS155895FLOW GOHANA BUS STAND TO DRAIN NO. 8 MUNICIPAL INTSSONIPATREGULAR120OBCDC20204003255DRAW OF LOTS154	890		SONIPAT	REGULAR	110	Open	DC	35	35	1225	32	75		15	5
392 CHOWK WITHIN SONIPAT MUNICIPAL LIMITS SONIPAT REGULAR 100 SC CPS 20 20 400 0 0 100 10 33 893 FROM CHOTU RAM CHOWK TO CHANDER GARDEN ON SONIPAT-GOHANA ROAD VIA SWARNPRASTHA HOSPITAL WITHIN SONIPAT SONIPAT REGULAR 130 Open DC 20 400 32 55 DRAW OF LOTS 15 5 894 RROM HINDU COLLEGE SONIPAT TO POLICE NAKA KALUPUR CHUNGI WITHIN SONIPAT SONIPAT REGULAR 140 OPEN CC 1 DC 20 400 32 55 DRAW OF LOTS 15 5 894 RROM HINDU COLLEGE SONIPAT TO POLICE NAKA KALUPUR CHUNGI WITHIN SONIPAT SONIPAT REGULAR 140 OPEN CC 1 DC 20 400 32 55 DRAW OF LOTS 15 5 895 CULVERT VIA BPCI CRO BHARAT FUELS WITHIN SONIPAT REGULAR 120 OBC DC 20 400 32 55 DRAW OF LOTS 15 4	891	FROM KAKROI CHOWK TO VIVEKANAND PUBLIC SCHOOL VIA DR. AMBEDKAR BHAWAN WITHIN	SONIPAT	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF	15	4
893GARDEN ON SONIPAT-GOHANA ROAD VIA SWARNPRASTHA HOSPITAL WITHIN SONIPATSONIPATREGULAR130OpenDC20204003255DRAW OF LOTS155894RROM HINDU COLLEGE SONIPAT TO POLICE NAKA KALUPUR CHUNGI WITHIN SONIPATSONIPATREGULAR140OPEN CC 1DC20204003255DRAW OF LOTS155895CULVERT VIA BPC C RO BHARAT FUELS WITHINSONIPATREGULAR120OBCDC20204003255DRAW OF LOTS155	892		SONIPAT	REGULAR	160	SC	CFS	20	20	400	0	0		0	3
894 NAKA KALUPUR CHUNGI WITHIN SONIPAT SONIPAT REGULAR 140 OPEN CC 1 DC 20 400 32 55 DRAW OF LOTS 15 5 894 NAKA KALUPUR CHUNGI WITHIN SONIPAT SONIPAT REGULAR 140 OPEN CC 1 DC 20 400 32 55 DRAW OF LOTS 15 5 FROM GOHANA BUS STAND TO DRAIN NO.8 SCULVERT VIA BPCL RO BHARAT FUELS WITHIN SONIPAT REGULAR 120 OBC DC 20 400 32 55 DRAW OF LOTS 15 4	893	GARDEN ON SONIPAT-GOHANA ROAD VIA SWARNPRASTHA HOSPITAL WITHIN SONIPAT MUNICIPAL LIMITS	SONIPAT	REGULAR	130	Open	DC	20	20	400	32	55		15	5
895 CULVERT VIA BPCL RO BHARAT FUELS WITHIN SONIPAT REGULAR 120 OBC DC 20 400 32 55 DRAW OF 15 4	894	NAKA KALUPUR CHUNGI WITHIN SONIPAT MUNICIPAL LIMITS	SONIPAT	REGULAR	140	OPEN CC 1	DC	20	20	400	32	55		15	5
	895	CULVERT VIA BPCL RO BHARAT FUELS WITHIN	SONIPAT	REGULAR	120	OBC	DC	20	20	400	32	55		15	4

896	FROM AGGRASEN CHOWK TO INTERSECTION OF JAGADHRI BYPASS AND NH907 ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO CHHACHHRAULI	YAMUNANAGA R	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
897	FROM BURIYA CHOWK TO CH.DEVI LAL COLLEGE OF PHARMACY VIA SUKHMANI RESORT WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	125	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
898	FROM DHARAM PUBLIC SCHOOL TO GRAIN MARKET CHHACHHRAULI ON NH 907 NH907 (YAMUNANAGAR- PAONTA SAHIB ROAD)	YAMUNANAGA R	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
899	FROM ESSAR PETROL PUMP CITY PETRO TO IOC PETROL PUMP JANTA SERVICE STATION ON SH6 (SHARANPUR-RADAUR-PIPLI ROAD)	YAMUNANAGA R	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
900	FROM KANHAIYA CHOWK TO KAMANI CHOWK VIA SANT NISCHAL PUBLIC SCHOOL ON LEFT HAND SIDE WHILE MOVING FROM KANHAIYA CHOWK TO KAMANI CHOWK WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	130	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
901	FROM HP PETROL PUMP SHEELA FILLING STATION TO DISTRICT JAIL YAMUNANAGAR ON SH1 (JAGADHARI- BILASPUR-SADHAURA ROAD)	YAMUNANAGA R	REGULAR	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
902	FROM INTERSECTION OF NH907 AND OLD NH73A AT VILLAGE PANJETON TO INTERSECTION OF NH907 AND OLD NH73A AT VILLAGE CHUHADPUR KHURD ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON LEFT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWAI A	YAMUNANAGA R	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
903	FROM INTERSECTION OF NH907 AND OLD NH73A AT VILLAGE PANJETON TO INTERSECTION OF NH907 AND OLD NH73A AT VILLAGE CHUHADPUR KHURD ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
904	FROM INTERSECTION OF NH907 AND PABNI SADAURA ROAD TO INTERSECTION OF NH907 AND SH1 ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON LEFT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
905	FROM INTERSECTION OF NH907 AND PABNI SADAURA ROAD TO INTERSECTION OF NH907 AND SH1 ON NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
906	FROM INTERSECTION OF NH907 AND SH1 TO INTERSECTION OF NH907 AND OLD NH73A AT VILLAGE PANJETON ON NH907 NH907 (YAMUNANAGAR-PAONTA SAHIB ROAD) ON LEFT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
907	FROM INTERSECTION OF NH907 AND SH1 TO INTERSECTION OF NH907 AND OLD NH73A AT VILLAGE PANJETON ON NH907 ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO TAJEWALA	YAMUNANAGA R	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
908	FROM INTERSECTION OF SAHARANPUR ROAD AND KHAJURI YAMUNANAGAR ROAD TO IOC PETROL PUMP VALLABH FILLING STATION ON KHAJURI YAMUNANAGAR ROAD WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
909	FROM ISGEC HEAVY ENGG LTD TO GOVT SR SECONDARY SCHOOL DAMLA ON SH6 (SHARANPUR- RADAUR-PIPLI ROAD)	YAMUNANAGA R	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
910	FROM JAGADHRI BUS STAND TO IOCL PETROL PUMP CHAWLA FILLING STATION ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI TO AMBALA WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
911	FROM JAGADHRI BUS STAND TO KARE PARTNER HEART CENTRE HOSPITAL ON LEFT HAND SIDE WHILE MOVING FROM JAGADHRI TO AMBALA WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
912	FROM JAGADHRI BUS STAND TO NEW GRAIN MARKET VIA MARUTI SHOWROOM PANDIT AUTOMOBILES ON RIGHT HAND SIDE WHILE MOVING FROM JAGADHRI BUS STAND TO NEW GRAIN MARKET WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
913	FROM KAMANI CHOWK TO KANHAIYA CHOWK VIA HANUMAN PARK ON LEFT HAND SIDE WHILE MOVING FROM KAMANI CHOWK TO KANHAIYA CHOWK WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
914	FROM GOVERNMENT HIGH SCHOOL JUBBAL TO ISGEC HEAVY ENGG LTD ON SH6 (SHARANPUR- RADAUR- PIPLI ROAD)	YAMUNANAGA R	REGULAR	105	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
915	FROM KM STONE 72 TO KM STONE 76 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
916	FROM KM STONE 72 TO KM STONE 76 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
917	FROM KM STONE 78 TO KM STONE 82 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
918	FROM KM STONE 78 TO KM STONE 82 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

919	FROM KM STONE 84 TO KM STONE 88 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
920	FROM KM STONE 84 TO KM STONE 88 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
921	FROM KM STONE 90 TO KM STONE 94 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON LEFT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
922	FROM KM STONE 90 TO KM STONE 94 ON NH344 (AMBALA-SHAHZADPUR-SAHARANPUR ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM SAHARANPUR TO PANCHKULA	YAMUNANAGA R	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
923	FROM STATE BANK OF INDIA TEJLI BRANCH TO TEJLI SHIV MANDIR WITHIN YAMUNANAGAR	YAMUNANAGA R	REGULAR	135	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
924	MUNICIPAL LIMITS FROM VISHWAKARMA CHOWK TO HP PETROL PUMP HARYANA SERVICE STATION VIA SARASWATI SUGAR MILLS ON LEFT HAND SIDE WHILE MOVING FROM YAMUNANAGAR TO SAHARANPUR WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
925	FROM KM STONE 100 TO KM STONE 104 ON NH709A (JIND-KARNAL ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO ON NH709A (JIND-KARNAL ROAD)	KARNAL	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
926	RAMPURA INDUSTRIAL AREA WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
927	FROM MAX INTERNATIONAL SCHOOL TO GURUDWARA SAHIB SUCHA SODA ON SH11 (ASSANDH-JIND ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM PANIPAT TO ASSANDH.	KARNAL	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
928	FROM INTERSECTION OF SH11 & SH11A TO BSNL EXCHANGE JAKHOLI ON SH11 (ASSSANDH-KAITHAL ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ASSANDH TO DEOBAN	KAITHAL	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
929	FROM HPCL PETROL PUMP SAWARIYA FILLING STATION TO TOLL PLAZA KHERI SARAF ALI ON SH11 (ASSANDH-DEOBAN ROAD)	KARNAL	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
930	FROM MAX INTERNATIONAL SCHOOL TO NAV DURGA PUBLIC SCHOOL ON LEFT HAND SIDE ON SH11 (JIND- ASSANDH ROAD) WHILE MOVING FROM ASSANDH TO PANIPAT	KARNAL	REGULAR	110	OPEN CC 2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
931	FROM SOLAR PLANT HPGCL TO GURU GOBIND SINGH PUBLIC SCHOOL ON SH 14 (ASSANDH- MADLAUDA ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM PANIPAT TO ASSANDH	PANIPAT	REGULAR	135	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
932	FROM SOLAR PLANT HPGCL TO PKG GROUP OF INSTITUTIONS (PANIPAT MADLAUDA CAMPUS) ON SH 14 (ASSANDH-MADLAUDA ROAD) ON LEFT HAND SIDE WHILE MOVING FROM PANIPAT TO ASSANDH	PANIPAT	REGULAR	115	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
933	FROM KM STONE NO 19 TO KM STONE 24 ON SH- 14 (ASSANDH-MADLAUDA ROAD)	PANIPAT	REGULAR	115	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
934	FROM VISHWKARMA CHOWK TO RAJIV GANDI STATDIJM IN ASSANDH ON NH709A (JIND- KARNAL ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
935	ON BYPASS ROAD CONNECTING NH 709A AND SH11 VIA H S MEMORIAL HOSPITAL ASSANDH WITHIN ASSANDH MUNICIPAL LIMIT	KARNAL	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
936	FROM VISHWAKARMA CHOWK TO HP PETROL PUMP YAMUNA SYNDICATED VIA ISGEC HEAVY ENGG LTD ON RIGHT HAND SIDE WHILE MOVING FROM YAMUNANAGAR TO SAHARANPUR WITHIN YAMUNANAGAR MUNICIPAL LIMITS	YAMUNANAGA R	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
937	FROM KM STONE NO 105 TO KM STONE 110 ON NH709A (JIND-KARNAL ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
938	FROM KM STONE NO 111 TO KM STONE 117 ON NH709A (JIND-KARNAL ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
939	FROM KM STONE NO 118 TO KM STONE 128 ON NH709A (JIND-KARNAL ROAD) ON LEFT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
940	FROM KM STONE NO 105 TO KM STONE110 ON NH709A (JIND-KARNAL ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
941	FROM KM STONE NO 111 TO KM STONE 117 ON NH709A (JIND-KARNAL ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
942	FROM KM STONE 725 TO KM STONE 728 ON NH44 (AMBALA-DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KARNAL	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
943	FROM KM STONE 725 TO KM STONE 728 ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KARNAL	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
944	FROM KM STONE NO 118 TO KM STONE 126 ON NH709A (JIND-KARNAL ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM ASSANDH TO CHIRAO	KARNAL	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
945	FROM KM STONE 728 TO KM STONE 731 ON NH44 (AMBALA-DELHI ROAD) ON RIGHT HAND SIDE WHILE MOVING FROM AMBALA TO DELHI	KARNAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

946	FROM KM STONE 728 TO KM STONE 732 ON NH44 (AMBALA-DELHI ROAD) ON LEFT HAND SIDE WHILE MOVING FROM FROM AMBALA TO DELHI	KARNAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
947	WITHIN 1 KMS FROM RAM LAL CHOWK INCLUDING RING ROAD WITHIN PANIPAT MUNICIPAL LIMITS	PANIPAT	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
948	WITHIN 3 KMS FROM NITU POULTRIES, MAULI ON RIGHT HAND SIDE WHILE MOVING FROM PANCHKULA TO SHEHZADPUR ON NH-7	PANCHKULA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
949	WITHIN 3 KMS OF INTERSECTION OF NH105 & PINJORE BYPASS ON RIGHT HAND SIDE WHILE MOVING TOWARDS PANCHKULA ON PINJORE BYPASS	PANCHKULA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
950	WITHIN 1.5 KMS FROM INTERSECTION OF NH344 AND SH 4 TOWARDS BARARA ON SH4 (DOSARKA-BARARA ROAD)	AMBALA	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
951	SONIPAT CITY WITHIN MUNICIPAL LIMITS	SONIPAT	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
952	UPTO 4 KM FROM GOVT SR SEC SCHOOL ISHARWAL TOWARDS SIWANI ON SH-19 SIWANI SINGHANI ROAD	BHIWANI	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
953	UPTO 3 KM FROM LOHARU MOD AT SIWANI TOWARDS SINGHANI ON SH-19 SIWANI SINGHANI ROAD	BHIWANI	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
954	BETWEEN KM STONE 126 AND KM 133 ON SH-10 ADAMPUR BHADRA ROAD	HISAR	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
955	WITHIN 5 KMS OF JAL GHAR MITTHI ON SH-5 BEHAL JHUMPA ROAD	BHIWANI	REGULAR	105	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
956	UPTO 4 KM FROM RODHAN JAL GHAR TOWARDS OBRA ON SH-19 SIWANI SINGHANI ROAD	BHIWANI	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
957	BETWEEN KM STONE 170 & 174 ON SH-12 (TOSHAM- BEHAL ROAD)	BHIWANI	REGULAR	120	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
958	BETWEEN SUREWALA CHOWK AND RDM SARASWATI PUBLIC SCHOOL AT UKLANA MANDI, RIGHT HAND SIDE TOWARDS BHUNA ON SH-2 (BHUNA-NARWANA ROAD)	HISAR	REGULAR	135	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
959	WITHIN 4 KMS FROM TOSHAM BUS STAND TOWARDS BEHAL ON SH-12 (TOSHAM-BEHAL ROAD)	BHIWANI	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
960	WITHIN 5KM FROM CH MANIRAM JHORAR GOVT COLLAGE TOWARDS SIRSA ON SH-23 (SIRSA ELLENABAD ROAD)	SIRSA	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
961	BETWEEN KM STONE 59 TO 62 ON SH-14 (JIND- SAFIDON ROAD)	JIND	REGULAR	115	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
962	BETWEEN HAFED RATIA AND SANJAY GANDHI CHOWK RATIA ON SH 21 (FATEHABAD RATIA ROAD)	FATEHABAD	REGULAR	115	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
963	BETWEEN GOVT. HIGH SCHOOL BHODA HOSHNAK AND BHARAT PETROLEUM PETROL PUMP HANSA FILLING STATION KHARA KHERI, LEFT HAND SIDE FROM HISAR TO SIRSA ON NH 9(HISAR SIRSA ROAD)	FATEHABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
964	BETWEEN KM STONE 38 AND KM STONE 40. LEFT HAND SIDE FROM PUNJAB BORDER TO RATIA ON SH 21 (BUDHLADA RATIA ROAD)	FATEHABAD	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
965	BETWEEN ST. JOHN'S INTERNATIONAL SCHOOL AND AMBEDKAR CHOWK FATEHABAD ON SH-21 (FATEHABAD BHATTU ROAD)	FATEHABAD	REGULAR	105	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
966	BETWEEN SCHOLARS COVENT SCHOOL AND ST XAVIER'S PUBLIC SCHOOL ON SH 2 (FATEHABAD BHUNA ROAD)	FATEHABAD	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
967	BETWEEN KM STONE 54 & 57 ON SH-14 (JIND SAFIDON ROAD)	JIND	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
968	WITHIN 4KM FROM BEHAL BUS STAND GATE TOWARDS JHUMPA ON SH-5 (OLD MDR-110)	BHIWANI	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
969	(BEHAL-JHUMPA ROAD) BETWEEN KM STONE 196 & 198 ON LEFT HAND SIDE TOWARDS SUDHIWAS ON SH-12 (BEHAL- SUDHIWAS ROAD)	BHIWANI	REGULAR	165	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
970	SUBHWAS ROAD) BETWEEN MOUNT LITERA ZEE SCHOOL FATEHABAD AND BHARAT PETROLEUM PETROL PUMP MANJEET PETRO AT NH9 BYPASS ON LEFT HAND SIDE FROM SIRSA TO HISAR ON NH9 (SIRSA HISAR ROAD)	FATEHABAD	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
971	FROM IOCL PETROL PUMP M/S SHAHEED INDER JIT SINGH F/STN, SECTOR-2, ROHTAK TO CROSSING OF SH18 (ROHTAK SONIPAT ROAD) WITH NH709 (ROHTAK PANIPAT ROAD) AT BOHAR ON RIGHT HAND SIDE ON SH 18 (ROHTAK SONIPAT ROAD)	ROHTAK	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
972	UPTO 3 KM OF BHAGWAN VALMIKI CHOWK TOWARDS BHIWANI ON ROHTAK BHIWANI ROAD (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
973	UP TO 5 KMS FROM TALWANI RANA BYPASS JUNCTION TOWARDS RAJGARH ON LEFT HAND SIDE ON NH 52 (BARWALA RAJGARH ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
974	WITHIN 3 KM FROM HPC RO M/S VISWAS FS AT SINGHWAKHAS ON LEFT HAND SIDE TOWARDS HISAR ON NH09 (DELHI HISAR ROAD)	HISAR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
975	BETWEEN SUREWALA CHOWK AND RDM SARASWATI PUBLIC SCHOOL AT UKLANA MANDI, LEFT HAND SIDE TOWARDS BHUNA ON SH-2 (BHUNA-NARWANA ROAD)	HISAR	REGULAR	135	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
976	BETWEEN GEETA FILLING STATION (HPC RO) AT KHARAK PUNIA AND J.S. MEMORIAL PUBLIC SCHOOL AT PANIHARI ON SH-10 (BARWALA- AGROHA ROAD)	HISAR	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
977	WITHIN 4 KM FROM UKLANA RAILWAY CROSSING, RIGHT HAND SIDE TOWARDS BHUNA ON SH-2 (BHUNA- NARWANA ROAD)	HISAR	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
978	UPTO 5 KM FROM FAWARA CHOWK ON HISAR RAJGARH ROAD (WITHIN MUNICIPAL LIMITS OF HISAR)	HISAR	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
979	WITHIN 5 KMS FROM INTERSECTION OF SH-12 AND SH-5 (OLD MDR-110) TOWARDS ISHARWAL ON SH-12	BHIWANI	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

980	WITHIN 5 KMS FROM INTERSECTION OF SH-12 AND SH- 19 AT ISHARWAL TOWARDS BEHAL ON	BHIWANI	REGULAR	125	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
981	SH-12 WITHIN 5 KMS FROM PARAMOUNT SCHOOL OF SCIENCE KAIRU TOWARDS OBRA ON SH-5 (OLD	BHIWANI	REGULAR	130	SC CC 1	CFS	35	35	1225	0	0	DRAW OF	0	3
982	MDR-110) FROM KM STONE 13 TO KM STONE 21 ON SH 18 (ROHTAK SONIPAT ROAD)	ROHTAK	REGULAR	100	Open PH	DC	35	35	1225	32	75	LOTS DRAW OF LOTS	15	5
983	FROM SHAHEED UDHAM SINGH CHOWK TO IOCI PETROL PUMP MS SHAHEED INDER JIT SINGH F/ STN, SECTOR-2, ROHTAK ON SH 18 (ROHTAK SONIPAT ROAD)	ROHTAK	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
984	UPTO 3 KM FROM SUKHPURA CHOWK TOWARDS GOHANA ON ROHTAK-GOHANA ROAD (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
985	BETWEEN KM STONE 40 & 43 ON SH-14 (JIND SAFIDON ROAD)	JIND	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
986	BETWEEN KM STONE NO 26 & 28 ON SH-11 A (JIND KAITHAL ROAD)	JIND	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
987	UPTO 3KMS FROM HPC R0 M/S RAJBIR SINGH FILLING STATION AT CHANG TOWARDS MEHAM ON SH 16A (BHIWANI-MEHAM ROAD) WITHIN 3 KM FROM IOCL PETROL PUMP	BHIWANI	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
988	NAMDHARI OIL AGENCY AT JEEWAN NAGAR TOWARDS RANIA ON SH 32 (JEEWAN NAGAR RANIA)	SIRSA	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
989	BETWEEN THE HERITAGE PALACE AND SHIVA GARDEN ON SH-32 (ON RANIA JEWAN NAGAR ROAD)	SIRSA	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
990	WITHIN 2 KM FROM SHAH SATNAM JI CHOWK TOWARDS KANGANPUR ON KANGANPUR VILLAGE ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	140	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
991	BETWEEN SANGWAN CHOWK AND VALMIKI CHOWK ON SIRSA RANIA ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
992	WITHIN 4 KMS FROM NEW ANAJ MANDI AT SAFIDON TOWARDS VILLAGE AFTABGARH ON SH-11 (ASSANDH SAFIDON ROAD)	JIND	REGULAR	110	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
993	WITHIN 2 KM FROM PANCHMUKHI CHOWK TOWARDS SIRSA ON SH-23 (SIRSA ELLENABAD ROAD)	SIRSA	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
994	WITHIN 4 KM FROM RAJASTHAN BORDER TOWARDS ELLENABAD ON SH-23 (TALWARA ELLENABAD ROAD)	SIRSA	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
995	BETWEEN KM STONE 44 & 47 ON SH-14 (JIND SAFIDON ROAD)	JIND	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
996	FROM SAFIDON GATE TO BHAGWAN PARSHURAM CHOWK ON SH 14 (JIND-SAFIDON ROAD)	JIND	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
997	BETWEEN KM STONE 71 AND 75 ON SH-12 HANSI-JIND ROAD	JIND	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
998	WITHIN 5 KM OF KHERI GAGAN BUS STAND TOWARDS HANSI ON SH-12 HANSI-JIND ROAD	HISAR	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
999	BETWEEN KM STONE 38 AND 45 ON SH-16A MEHAM- GOHANA ROAD	ROHTAK	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1000	WITHIN 3 KM FROM GOVERNMENT SENIOR SECONDARY SCHOOL, INTAL KALAN ON SH-10 JIND- BARWALA ROAD	JIND	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1001	BETWEEN KASTURBA GANDHI BALIKA VIDYALAYA MADHA NARNAUND AND NARNAUND POLICE STATION ON SH-12 HANSI- JIND ROAD	HISAR	Regular	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1002	BETWEEN KISSAN CHOWK AND MADAN LAL DHINGRA CHOWK(DELHI PULL) IN SIRSA. ON DELHI BY PASS ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1003	BETWEEN NAMDHARI FOODS PVT LTD AND SHAHEED BHAGAT SINGH STADIUM ON SH 32 (JEEWAN NAGAR DABWALI)	SIRSA	REGULAR	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1004	WITHIN MUNICIPAL LIMITS OF ELLENABAD EXCLUDING STATE HIGHWAY WITHIN 3KM FROM ELLENABAD TEHSIL OFFICE	SIRSA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1005		SIRSA	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1006	WITHIN 2 KMS FROM RAJASTHAN BORDER ON	BHIWANI	REGULAR	190	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1007	WITHIN 3 KM FROM HPC RO HATHWALIA FILLING STATION, VILLAGE CHIRI ON SH-16A MEHAM- GOHANA ROAD	ROHTAK	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1008	BETWEEN KM STONE 36 & 40 TOWARDS SUREWALA CHOWK ON RIGHT HAND SIDE ON NH 52 (NARWANA HISAR ROAD)	JIND	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1009	BETWEEN KM STONE 41 & 43 TOWARDS SUREWALA CHOWK ON LEFT HAND SIDE ON NH 52 (NARWANA HISAR ROAD)	JIND	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1010	BETWEEN KM STONE 49 & 52 TOWARDS SUREWALA CHOWK ON RIGHT HAND SIDE ON NH 52 (NARWANA HISAR ROAD)	JIND	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1011	WITHIN 4KM FROM FATEHABAD -HISAR DISTRICT BORDER TOWARDS BHUNA ON SH 2 (BHUNA UKLANA ROAD)	FATEHABAD	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1012	BETWEEN FATEHABAD - SIRSA DISTRICT BORDER AND MOUNT LITERA ZEE SCHOOL FATEHABAD ON LEFT HAND SIDE FROM SIRSA TO HISAR ON NH 9(SIRSA- HISAR ROAD)	FATEHABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1013	BETWEEN KM STONE 159 & 161 ON RIGHT HAND SIDE TOWARDS LOHARU ON NH-709E (BHIWANI- LOHARU ROAD)	BHIWANI	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1014	UPTO 4 KM FROM IOCL PETROL PUMP M/S PURE FILLING STATION AT ISMAILA TOWARDS HISAR ON RIGHT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1015	FROM RAJIV CHOWK (DELHI BYPASS CIRCLE) TO SHEELA BYPASS CHOWK VIA HPCL PETROL PUMP M/S HP NANDAL BROTHERS ON RIGHT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1016	WITHIN 2 KM FROM UKLANA RAILWAY CROSSING, RIGHT HAND SIDE TOWARDS SUREWALA CHOWK ON SH-2 (BHUNA- NARWANA ROAD)	HISAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

	UPTO 4 KM FROM KALANAUR BUS STAND													
1017	TOWARDS BHIWANI ON RIGHT HAND SIDE ON NH 709E (ROHTAK BHIWANI ROAD)	ROHTAK	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1018	UP TO 3 KMS FROM BPCL RO M/S FAUJI FUEL STATION AT BUDHSELI TOWARDS RAJGARH ON LEFT HAND SIDE ON NH 52 (HISAR RAJGARH ROAD)	BHIWANI	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1019	BETWEEN KM STONE NO 84 & 87 ON NH 709A (NAGURAN-ALEWA ROAD)	JIND	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1020	ON NEW BHIWANI BYEPASS NH-709E (CONNECTING NH-709E BHIWANI-LOHARU ROAD AND NH-148B BHIWANI-CHARKHI DADRI ROAD) ON RIGHT HAND SIDE TOWARDS NH-148B	BHIWANI	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1021	FROM HALUWAS GATE CHOWK TO ROHTAK GATE ON 709E(CIRCULAR ROAD BHIIWANI)	BHIWANI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1022	BETWEEN BHARAT PETROLEUM PETROL PUMP MANJEET PETRO AT NH9 BYPASS AND CHOUDHARY SERVICE STATION AT VILLAGE DHANGAR, LEFT HAND SIDE FROM SIRSA TO HISAR ON NH 9 (SIRSA HISAR ROAD)	FATEHABAD	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1023	WITHIN 3 KM FROM GOVT BUS STAND BHUNA TOWARDS FATEHABAD ON SH-2 (BHUNA FATEHABAD ROAD)	FATEHABAD	REGULAR	120	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1024	BETWEEN BHARAT PETROLEUM PETROL PUMP PARVAG FILLING STATION DHANGAR AND INTERSECTION OF SH 2(FATEHABAD BHUNA ROAD AND HN9(HISAR SIRSA ROAD), LEFT HAND SIDE FROM HISAR TO SIRSA ON NH 9(HISAR SIRSA ROAD)	FATEHABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1025	BETWEEN SATLOK ASHRAM MAIN GATE, BARWALA AND KAMAL PETRO (HPCL RO) AT GAIBIPUR, LEFT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA- RAJGARH ROAD)	HISAR	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1026	BETWEEN JUGLAN BUS STOP AND MALIK TOYOTA AT CHANDI GARH ROAD, LEFT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA- RAJGARH ROAD)	HISAR	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1027	FROM BHIWANI CHUNGI CHOWK TO SUNARIA CHOWK ON CIRCULAR ROAD (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1028	BETWEEN KM STONE 175 & 177 TOWARDS LOHARU ON RIGHT HAND SIDE ON NH-709E (BHIWANI-LOHARU ROAD)	BHIWANI	REGULAR	185	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1029	UP TO 2 KM FROM HPCL RO M/S HARYANA FILLING STATION AT JHUMPA TOWARDS RAJGARH ON RIGHT HAND SIDE ON NH 52 (HISAR RAJGARH ROAD)	BHIWANI	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1030	BETWEEN KM STONE 145 & 148 ON RIGHT HAND SIDE TOWARDS BHIWANI ON NH-709E (BHIWANI-	BHIWANI	REGULAR	180	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1031	LOHARU ROAD) BETWEEN KM STONE 46 & 48 TOWARDS SUREWALA CHOWK ON RIGHT HAND SIDE ON NH 52 (NARWANA HISAR ROAD)	JIND	REGULAR	155	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1032	FROM THE HARYANA CO-OP. SUGAR MILLS LTD (ROHTAK SUGAR MILL) TO SAT JINDA KALYANA PG COLLEGE, KALANAUR ON LEFT HAND SIDE ON NH 709E (ROHTAK BHIWANI ROAD)	ROHTAK	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1033	UPTO 5 KM FROM MADINA TOLL PLAZA (EXCLUDING 1 KM FROM TOLL) TOWARDS ROHTAK ON LEFT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1034	BETWEEN GOVT GIRLS SCHOOL, AT SARSOD AND SATLOK ASHRAM MAIN GATE, BARWALA, RIGHT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA-RAJGARH ROAD)	HISAR	REGULAR	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1035	FROM IMT CIRCLE TOWARDS DELHI ON DELHI ROAD ON LEFT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1036	UPTO 5 KM FROM IOCL PETROL PUMP M/S NANDA ASSOCIATES AT ISMAILA TOWARDS HISAR ON LEFT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1037	BETWEEN NH709A-NH352 CROSSOVER TO LAKSHYA MILK PLANT, KANDELA,JIND ON NH709A (JIND- NAGURAN ROAD)	JIND	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1038	UPTO 5 KM FROM NH 152D CROSSING WITH NH 9 TOWARDS HISAR ON LEFT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1039	UPTO 8 KM FROM HPCL PETROL PUMP M/S HP PRASHANT FILLING STATION AT HASSANGARH TOWARDS JHAJJAR ON RIGHT HAND SIDE ON NH 334 B (KHARKHODA JHAJJAR ROAD)	ROHTAK	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1040	UPTO 8 KM FROM HPCL PETROL PUMP M/S HP PRASHANT FILLING STATION AT HASSANGARH TOWARDS JHAJJAR ON LEFT HAND SIDE ON NH 334 B (KHARKHODA JHAJJAR ROAD)	ROHTAK	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1041	WITHIN 5 KM FROM SH 32 AND NH-9	SIRSA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1042	BETWEEN INDIAN OIL PETROL PUMP KISSAN PETRO DARYAPUR AND FATEHABAD - SIRSA DISTRICT BORDER , LEFT HAND SIDE FROM HISAR TO SIRSA ON NH 9(HISAR SIRSA ROAD)	FATEHABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1043	BETWEEN INTERSECTION OF SH 21(FATEHABAD RATIA ROAD) - NH9(HISAR SIRSA ROAD)) AND MOUNT LITERA ZEE SCHOOL FATEHABAD, LEFT HAND SIDE FROM HISAR TO SIRSA ON NH 9(HISAR SIRSA ROAD)	FATEHABAD	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1044	WITHIN MUNICIPAL LIMIT CHARKHI DADRI	CHARKHI DADRI	REGULAR	110	Open	сс	20	20	400	32	12	BIDDING	30	5
1045	BETWEEN SHAHID BHAGAT SINGH KAINCHI CHOWK TOHANA AND HARYANA-PUNJAB STATE BORDER ON NH 148B (TOHANA-MOONAK ROAD)	FATEHABAD	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1046	BETWEEN 132 KV GRID SUBSTATION TOHANA AND SHAHID BHAGAT SINGH KAINCHI CHOWK TOHANA ON NH 148B (TOHANA SUREWALA ROAD)	FATEHABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

1047	WITHIN 3 KM FROM FATEHABAD- HISAR DISTRICT BORDER TOWARDS TOHANA, ON NH	FATEHABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
<u> </u>	148B (TOHANA SUREWALA ROAD) BETWEEN SATLOK ASHRAM MAIN GATE,											1013		
1048	BARWALA AND KAMAL PETRO (HPCL RO) AT GAIBIPUR, RIGHT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA- RAJGARH ROAD)	HISAR	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1049	BETWEEN RPS PUBLIC SCHOOL HANSI AND CROSSING OF NH-9 (DELHI SIRSA ROAD) AND NH709A (JIND- BHIWANI ROAD) ON LEFT HAND SIDE TOWARDS DELHI ON NH-09 (DELHI SIRSA ROAD)	HISAR	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1050	BETWEEN RPS PUBLIC SCHOOL HANSI AND CROSSING OF NH-9 (DELHI-SIRSA ROAD) AND NH709A (JIND- BHIWANI ROAD) ON RIGHT HAND SIDE TOWARDS DELHI ON NH-09 (DELHI-SIRSA ROAD)	HISAR	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1051	ROAD) BETWEEN LITANI MOD AND KAMAL PETRO (HPCL RO) AT GAIBIPUR ON LEFT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA-RAJGARH ROAD)	HISAR	Regular	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1052	BETWEEN SUREWALA CHOWK AND LITANI MOD ON RIGHT HAND SIDE TOWARDS HISAR ON NH- 52 (HISAR BARWALA ROAD)	HISAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1053	BETWEEN SHAH SATNAM JI CHOWK AND VITA MILK PLANT ON SIRSA BHADRA ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1054	WITHIN 3 KM FROM RAJASTHAN BORDER TOWARDS LOHARU ON NH-709E (LOHARU-	BHIWANI	REGULAR	185	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1055	PILANI ROAD) BETWEEN KM STONE 152 & 154 ON RIGHT HAND SIDE TOWARDS LOHARU ON NH-709E (BHIWANI- LOHARU ROAD)	BHIWANI	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1056	BETWEEN KM STONE 244 & 246 TOWARDS PATIALA ON LEFT HAND SIDE ON NH 52	JIND	REGULAR	155	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1057	(NARWANA PATIALA ROAD) BETWEEN KM STONE 9 & 11 ON NH 709-A (BHIWANI- JIND ROAD)	BHIWANI	REGULAR	170	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1058	WITHIN 4 KM FROM TALU-JATAI MOD ROAD TOWARDS MUNDHAL ON NH 709A (BHIWANI-	BHIWANI	REGULAR	167	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1059	JIND ROAD) WITHIN MUNICIPAL LIMIT BHIWANI (NOT ON SH AND NH)	BHIWANI	REGULAR	140	Open	сс	20	20	400	32	12	BIDDING	30	5
1060	BETWEEN KM STONE 148 & 151 TOWARDS HANSI ON RIGHT HAND SIDE ON NH 148-B	BHIWANI	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1061	(HANSI-BHIWANI ROAD) BETWEEN KM STONE 141 & 146 TOWARDS HANSI ON LEFT HAND SIDE ON NH 148-B (HANSI- BHIWANI ROAD)	BHIWANI	REGULAR	165	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1062	WITHIN 3 KM FROM GOVERNMENT PRIMARY SCHOOL AT SHERGARH ON NH-54 (CHAUTALA	SIRSA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1063	DABWALI ROAD) WITHIN 2 KM FROM GOVT. SENIOR SECONDARY SCHOOL AT LAHLI TOWARDS BHIWANI ON RIGHT HAND SIDE ON NH 709E (ROHTAK BHIWANI ROAD)	ROHTAK	REGULAR	150	Open	сс	35	35	1225	32	12	BIDDING	30	5
1064	UPTO 6 KM FROM INTERSECTION OF NH709 (ROHTAK PANIPAT ROAD) WITH NH 352 (ROHTAK JIND ROAD) TOWARDS JIND ON RIGHT HAND SIDE ON NH 352 ROHTAK OUTER BYPASS	ROHTAK	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1065	WITHIN 3 KM FROM RAJASTHAN BORDER TOWARDS DABWALI ON LEFT HAND SIDE ON NH54 (CHAUTALA DABWALI ROAD)	SIRSA	REGULAR	180	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1066	WITHIN 3 KM FROM RAJASTHAN BORDER TOWARDS DABWALI ON RIGHT HAND SIDE ON NH54 (CHAUTALA DABWALI ROAD)	SIRSA	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1067	BETWEEN 132 KV GRID SUBSTATION TOHANA AND INTERSECTION OF NH 148B(TOHANA SUREWALA ROAD) & KANHERI-SULEHRA- NARWANA ROAD ON NH 148B (TOHANA SUREWALA ROAD)	FATEHABAD	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1068	BETWEEN KM STONE 191 AND 195 ON NH 334B (CHARKHI DADRI-BADHRA ROAD).	CHARKHI DADRI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1069	BETWEEN KM STONE 182 AND 184 ON NH 334B (CHARKHI DADRI-BADHRA ROAD) BETWEEN KM STONE 113 AND 118 ON RIGHT	CHARKHI DADRI	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1070	HAND SIDE FROM CHARKHI DADRI TOWARDS BHIWANI ON NH148B (CHARKHI DADRI TO BHIWANI ROAD)	CHARKHI DADRI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1071	BETWEEN KM STONE NO. 113 AND 109 ON LEFT HAND SIDE TOWARDS ROHTAK ON NH 709E (BHIWANI- ROHTAK ROAD)	BHIWANI	REGULAR	180	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1072	BETWEEN KM STONE 299 & 305 TOWARDS NARWANA ON LEFT HAND SIDE ON NH 352 (JIND NARWANA ROAD)	JIND	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1073	BETWEEN KM STONE 292 & 295 TOWARDS NARWANA ON RIGHT HAND SIDE ON NH 352 (JIND NARWANA ROAD)	JIND	Regular	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1074	(JIND WARWANA ROAD) BETWEEN BADOPATTI TOLL PLAZA AND MALIK TOYOTA AT CHANDI GARH ROAD ON LEFT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA- RAJGARH ROAD)	HISAR	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1075	RANG MICH TO KIN STONE 1 TO KM STONE 8 ON RIGHT HAND SIDE ON NH LINK ROAD [NH 9 (DELHI HISAR ROAD) AND NH 352 (ROHTAK JIND ROAD) LINK ROAD]	ROHTAK	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1076	BETWEEN GREWAL PETRO (IOCL RO)AT SATROD AND VIDYA DEVI JINDAL SCHOOL ON LEFT HAND SIDE TOWARDS DELHI, ON NH-09 (DELHI-SIRSA ROAD)	HISAR	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1077	BETWEEN MG CLUB RESORTS MAIN GATE AND GOVERNMENT COLLEGE FOR WOMEN HISAR GATE , LEFT HAND SIDE TOWARDS DELHI, ON NH-09 (DELHI- SIRSA ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1078	UPTO 4 KM FROM BPCL PETROL PUMP M/S SHAHEED RAVINDER DAHIYA FILLING AT SAMPLA TOWARDS HISAR ON RIGHT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1079	BETWEEN KM STONE 16 & 19 ON NH 709-A (BHIWANI- JIND ROAD)	BHIWANI	REGULAR	170	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1080	BETWEEN KM STONE 30 AND 35 ON NH-709A, JIND- BHIWANI ROAD BETWEEN KM STONE 55 AND 57 ON NH-709A ,	HISAR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS DRAW OF	15	4
1081	JIND- BHIWANI ROAD	JIND	REGULAR	155	Open	DC	35	35	1225	32	95	LOTS	15	5

	BETWEEN KM STONE 43 AND 50 ON NH-709A,											DRAW OF		1
1002	JIND- BHIWANI ROAD BETWEEN KM STONE 127 AND 131 BHIWANI	HISAR	REGULAR	150	Open PH	DC	35	35	1225	32	95	LOTS DRAW OF	15	5
	BYPASS ON LEFT HAND SIDE FROM BHIWANI TOWARDS ROHTAK (ON NH148B) BETWEEN KM STONE 127 AND 131 ON NH148B,	BHIWANI	REGULAR	150	SC	CFS	35	35	1225	0	0	LOTS	0	3
1084	BHIWANI BYPASS ON RIGHT HAND SIDE FROM BHIWANI TOWARDS ROHTAK. BETWEEN KM STONE 23 & 25 TOWARDS	BHIWANI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1085	BETWEEN KM STONE 23 & 25 TOWARDS KALAYAT ON RIGHT HAND SIDE ON NH 152 (NARWANA KALAYAT ROAD) BETWEEN KM STONE 131 AND 135 ON NH148B,	JIND	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1086	BHIWANI BYPASS ON LEFT HAND SIDE FROM BHIWANI TOWARDS ROHTAK.	BHIWANI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1087	BETWEEN KM STONE 131 AND 135 ON NH148B, BHIWANI BYPASS ON RIGHT HAND SIDE FROM BHIWANI TOWARDS ROHTAK.	BHIWANI	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1088	UPTO 3 KMS FROM HTC BAYA ON RIGHT HAND SIDE FROM BHIWANI TOWARDS BAWANI KHERA ON NH148B (BHIWANI- BAWANI KHERA ROAD)	BHIWANI	REGULAR	175	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1089	BETWEEEN KM STONE 123 AND 125 ON LEFT HAND SIDE FROM CHARKHI DADRI TOWARDS BHIWANI ON NH 148B (CHARKHI DADRI-BHIWANI)	BHIWANI	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1090	BETWEEN KM STONE 95 AND 100 ON RIGHT HAND SIDE FROM CHARKHI DADRI TOWARDS MAHENDERGARH ON 1488 (CHARKHI-DADRI- MAHENDERGARH ROAD)	CHARKHI DADRI	REGULAR	163	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1091	BETWEEN KM STONE 97 AND 102 ON LEFT HAND SIDE FROM CHARKHI DADRI TOWARDS MAHENDERGARH ON NH 148B (CHARKHI DADRI- MAHENDERGARH ROAD)	CHARKHI DADRI	REGULAR	163	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1092	BETWEEN SATLOK ASHRAM MAIN GATE, BARWALA AND BADOPATTI TOLL PLAZA, ON LEFT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA-RAJGARH ROAD)	HISAR	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1093	BETWEEN NH 10 FACTORY OUTLET AND PRERNA FILLING STATION(IOCL RO) AT HANSI, LEFT HAND SIDE TOWARDS DELHI ON NH-9 (DELHI-HISAR ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1094	WITHIN MUNICIPAL LIMITS NARNAUND EXCLUDING NH AND SH	HISAR	REGULAR	120	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1095	UP TO 5 KM FROM HISAR BALSAMBAND ROAD CROSSING WITH NH52 TOWARDS BARWALA ON RIGHT HAND SIDE ON NH 52 (SIWANI BARWALA ROAD)	HISAR	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1096	BETWEEN KM STONE 287 & 292 TOWARDS NARWANA ON RIGHT HAND SIDE ON NH 352 (JIND NARWANA ROAD)	JIND	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1097	BETWEEN KM STONE 268 & 273 TOWARDS NARWANA ON LEFT HAND SIDE ON NH 352 (JIND NARWANA ROAD) DETWEEN KM STONE 230 & 242 TOWARDS	JIND	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1098	BETWEEN KM STONE 239 & 242 TOWARDS PATIALA ON RIGHT HAND SIDE ON NH 52 (NARWANA PATIALA ROAD)	JIND	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1099	BETWEEN KM STONE 15 AND 20 ON NH-352A , JIND- GOHANA ROAD	JIND	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1100	WITHIN 3 KM FROM OTTU HEAD TOWARDS VILLAGE CHAKARIAN ON SH 32 (RANIA SIRSA)	SIRSA	REGULAR	130	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1101	WITHIN 3 KM TOWARDS KAITHAL FROM PATIALA CHOWK, JIND ON NH-709A , JIND-KAITHAL ROAD	JIND	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1102	WITHIN 3 KM TOWARDS BHIWANI FROM PATIALA CHOWK, JIND ON NH-709A , JIND- BHIWANI ROAD	JIND	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1103	WITHIN 3 KM TOWARDS JIND ON LHS FROM GOVERNMENT SENIOR SECONDARY SCHOOL, KINANA, DIST. JIND ON NH-352, ROHTAK-JIND ROAD	JIND	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1104	BETWEEN BAJEKAN CHOWK (MOR) AND MADAN LAL DHINGRA CHOWK (DELHI PULL)ON SIRSA DABWALI ROAD, (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1105	ROHTAK ROAD	JIND	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1106	UPTO 6 KM FROM MAKRAULI TOLL PLAZA (EXCLUDING 1 KM FROM TOLL) TOWARDS ROHTAK ON RIGHT HAND SIDE ON NH709 (ROHTAK PANIPAT ROAD)	ROHTAK	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1107	UPTO 9 KM FROM MAKRAULI TOLL PLAZA (EXCLUDING 1 KM FROM TOLL) TOWARDS PANIPAT ON LEFT HAND SIDE ON NH709 (ROHTAK PANIPAT ROAD)	ROHTAK	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1108	WITHIN 3 KMS FROM GOL CHOWK AT DABWALI ON LEFT HAND SIDE TOWARDS SIRSA ON NH9 (DABWALI SIRSA ROAD)	SIRSA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1109	WITHIN 3 KM FROM BIJLIGHAR AT ABUBSHAHAR ON NH-54 (CHAUTALA DABWALI ROAD)	SIRSA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1110	WITHIN 5 KM FROM SHIKRA TOURIST COMPLEX AT ASHAKHERA ON RIGHT HAND SIDE TOWARDS DABWALI ON NH-54 (CHAUTALA DABWALI ROAD)	SIRSA	REGULAR	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1111	WITHIN MUNICIPAL LIMITS OF DABWALI EXCLUDING NATIONAL HIGHWAY	SIRSA	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1112	BETWEEN BPCL PETROL PUMP JK PETROZ AT KHAREKAN AND HPCL PETROL PUMP CITY PETRO STATION AT PANJUWANA ON LEFT HAND SIDE TOWARDS DABWALI ON NH 09 (SIRSA DABWALI)	SIRSA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1113	WITHIN 3 KM FROM THE INTERSECTION OF SIRSA NEJA DELA KALAN ROAD AND NH 09 TOWARDS HISAR ON LEFT HAND SIDE ON NH 09 (SIRSA HISAR)	SIRSA	REGULAR	165	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1114	BETWEEN KM STONE 27 & 31 TOWARDS KALAYAT ON LEFT HAND SIDE ON NH 152 (NARWANA KALAYAT ROAD)	JIND	REGULAR	160	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1115	UPTO 2KM FROM BUDD CHOWK TOWARDS KALUWAS ON KALUWAS BHIWANI BYPASS ROAD, WITHIN MUNICIPAL LIMIT BHIWANI	BHIWANI	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
	UPTO 4 KMS FROM AGRASEN CHOWK TOWARDS ROHTAK ON RIGHT HAND SIDE ON	BHIWANI	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

<u> </u>	UPTO 5 KMS FROM AGRASEN CHOWK		1			1		1				DRAW OF		
1117	TOWARDS ROHTAK ON LEFT HAND SIDE ON NH709E (BHIWANI- ROHTAK ROAD) WITHIN 7 KM TOWARDS JIND ON LHS FROM JAL	BHIWANI	REGULAR	160	OBC	DC	35	35	1225	32	95	LOTS	15	4
	GHAR, KILAZAFARGARH, DIST. JIND ON NH-352 ROHTAK-JIND ROAD	JIND	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1119	WITHIN 7 KM TOWARDS JIND ON RHS FROM JAL GHAR, KILAZAFARGARH, DIST. JIND ON NH-352 ROHTAK-JIND ROAD	JIND	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1120	WITHIN 4 KM TOWARDS ROHTAK ON LHS FROM POLICE CHOWKI, GATAULI ON NH-352 JIND- ROHTAK ROAD	JIND	REGULAR	180	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1121	WITHIN 2 KM TOWARDS JIND ON RHS FROM JAL GHAR, PAULI, DIST. JIND ON NH-352 JIND- ROHTAK ROAD	JIND	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1122	WITHIN 6 KM TOWARDS JIND ON RHS FROM JAL GHAR, CHANDI, DIST. ROHTAK ON NH-352 JIND- ROHTAK ROAD	ROHTAK	REGULAR	165	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1123	WITHIN 2 KM TOWARDS JIND ON LHS FROM JAL GHAR, PAULI, DIST. JIND ON NH-352 JIND- ROHTAK ROAD	JIND	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1124	WITH IN 3 KM FROM "NH 09 FACTORY OUTLET" ON LEFT HAND SIDE TOWARDS HISAR ON NH 09	SIRSA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1125	(SIRSA HISAR) WITHIN 2 KM FROM SIRSA FATHEABAD BORDER,LEFT HAND SIDE TOWARDS SIRSA ON NH 09 (SIRSA HISAR)	SIRSA	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	INT OF USING FIGHT AND AND A SWAM BETWEEN HPCL PETROL PUMP RADHA SWAM AUTOMOBILES AT MEERPUR AND BPCL PETROL PUMP JK PETROZ AT KHAREKAN ON LEFT HAND SIDE TOWARDS DABWALI ON NH 09(SIRSA DABWALI)	SIRSA	REGULAR	172	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1127	UPTO 4 KMS FROM CH. DEVILAL CHOWK TOWARDS CHARKHI DADRI ON NH 148B (CHARKHI DADRI- BHIWANI ROAD)	BHIWANI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1128	BETWEEN KM STONE 164 AND 166 ON NH 334B (CHARKHI DADRI-JHAJJAR ROAD) UPTO 2 KMS FROM BPCL RO M/S PUSHPAK	CHARKHI DADRI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1129	AUTO CENTRE AT JHUMPA TOWARDS HISAR ON RIGHT HAND SIDE ON NH 52 (RAJGARH HISAR ROAD)	BHIWANI	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	WITHIN 5 KM FROM KHUIAN MALKNA TOLL PLAZA TOWARDS SIRSA ,ON LEFT HAND SIDE ON NH09 (DABWALI SIRSA)	SIRSA	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1131	UP TO 2 KMS FROM HPCL RO M/S CHAUHAN FILLING STATION AT GAINDAWAS TOWARDS RAJGARH ON RIGHT HAND SIDE ON NH52 (HISAR RAJGARH ROAD)	BHIWANI	REGULAR	170	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1132	RAJGARH ON LEFT HAND SIDE ON NH52 (HISAR RAJGARH ROAD)	BHIWANI	REGULAR	170	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1133	UPTO 2 KMS FROM BPCL RO M/S PUSHPAK AUTO CENTRE AT JHUMPA TOWARDS HISAR ON LEFT HAND SIDE ON NH 52 (RAJGARH HISAR ROAD)	BHIWANI	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1134	UP TO 3 KMS FROM BPCL RO M/S FAUJI FUEL STATION AT BUDHSELI TOWARDS RAJGARH ON RIGHT HAND SIDE ON NH 52 (HISAR RAJGARH ROAD)	BHIWANI	REGULAR	180	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	WITHIN 6 KM TOWARDS JIND ON LHS FROM JAL GHAR, CHANDI, DIST. ROHTAK ON NH-352 JIND- ROHTAK ROAD	ROHTAK	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1136	BETWEEN KM STONE 100 AND 105 ON LEFT HAND SIDE FROM ROHTAK TOWARDS BHIWANI ON NH709E (ROHTAK BHIWANI ROAD)	BHIWANI	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1137	WITH IN 3 KM FROM INTERSECTION OF NH 703 AND NH 09 TOWARDS BARNALA ON LEFT HAND SIDE ON NH 703 (SIRSA BARNALA ROAD)	SIRSA	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1138	BETWEEN ITI CHOWK AND SHREE SHYAM GAUVANSH UPCHAR AASHRAM SIRSA(SIRSA RANIA BYPASS ROAD)	SIRSA	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1139	ON NEW BHIWANI BYEPASS NH-709E (CONNECTING NH-709E BHIWANI-LOHARU ROAD AND NH-148B BHIWANI-CHARKHI DADRI ROAD) ON LEFT HAND SIDE TOWARDS NH-148B	BHIWANI	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1140	UP TO 2 KM FROM HPCL RO M/S HARYANA FILLING STATION AT JHUMPA TOWARDS RAJGARH ON LEFT HAND SIDE ON NH 52 (HISAR RAJGARH ROAD)	BHIWANI	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1141	WITHIN 2 KMS FROM PRIMARY HEALTH CENTRE AT JUI KALAN TOWARDS BHIWANI ON LEFT HAND SIDE ON NH-709E (BHIWANI-LOHARU ROAD)	BHIWANI	REGULAR	155	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1142	UP TO 7 KM FROM BPCL RO M/S SHEORAN HIGHWAY AT GAINDAWAS TOWARDS HISAR ON RIGHT HAND SIDE ON NH52 (RAJGARH HISAR ROAD)	BHIWANI	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1143	WITHIN 4 KMS FROM BEHAL BUS STAND GATE TOWARDS OBRA ON SH-12 (BEHAL-OBRA ROAD)	BHIWANI	REGULAR	110	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1144	WITH IN 3 KM FROM INTERSECTION OF NH 703 AND NH 09 TOWARDS BARNALA ON RIGHT HAND SIDE ON NH 703 (SIRSA BARNALA ROAD)	SIRSA	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1145	BETWEEN KM STONE 222 AND 224 ON NH 334B (CHARKHI DADRI-LOHARU ROAD) WITHIN MUNICIPAL LIMIT OF HANSI EXCLUDING	CHARKHI DADRI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS DRAW OF	0	3
1140	NH AND SH UP TO 5 KMS FROM HPC RO M/S JHAJHRIA	HISAR	REGULAR	150	OBC	DC	20	20	400	32	55	LOTS	15	4
1147	FILLING STATION AT LANDARI TOWARDS HISAR ON LEFT HAND SIDE ON NH 09 (SIRSA HISAR ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	UP TO 3 KMS FROM JUGLAN BUS STOP TOWARDS RAJGARH ON RIGHT HAND SIDE ON NH 52 (BARWALA RAJGARH ROAD) UP TO 5 KMS FROM GOVT HIGH SCHOOL	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1149	AGROHA TOWARDS HISAR ON LEFT HAND SIDE ON NH 09 (SIRSA HISAR ROAD) WITHIN 6 KM TOWARDS JIND ON RHS FROM	HISAR	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1150	MGM PUBLIC SCHOOL, TITOLI ON NH-352 JIND- ROHTAK ROAD	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1151	UP TO 8 KMS FROM NH 09 CROSSING WITH NH 52 TOWARDS RAJGARH ON RIGHT HAND SIDE ON NH 52 (BARWALA RAJGARH ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5

1152 (1153 S	BETWEEN KM STONE 124 AND 127 ON NH 709E (BHIWANI TO LOHARU ROAD)	BHIWANI	REGULAR	170	0							DRAW OF	4.5	
1153				170	Open	DC	35	35	1225	32	95	LOTS	15	5
	UP TO 5 KM FROM HPC RO M/S GOPAL PETRO STAION AT BHERIYAN TOWARDS RAJGARH ON LEFT HAND SIDE ON NH52 (HISAR RAJGARH ROAD)	HISAR	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1154 U	107-07 KM FROM TOLL PLAZA AT CHAUDHARIWAS (EXCLUDING 1 KM) TOWARDS HISAR ON LEFT HAND SIDE ON NH 52 (RAJGARH HISAR ROAD)	HISAR	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1155 E	UP TO 6 KM FROM HPCL RO M/S JAI SHREE BALAJI PETRO DHAM AT MUKLAN TOWARDS BARWALA ON LEFT HAND SIDE ON NH 52 (SIWANI BARWALA ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1156	BETWEEN KM STONE 279 & 282 TOWARDS NARWANA ON LEFT HAND SIDE ON NH 352 (JIND NARWANA ROAD)	JIND	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1157 s	BETWEEN KM STONE 36 & 40 TOWARDS SUREWALA CHOWK ON LEFT HAND SIDE ON NH 52 (NARWANA HISAR ROAD)	JIND	REGULAR	155	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1158 F	BETWEEN KM STONE 254 & 258 TOWARDS PATIALA ON RIGHT HAND SIDE ON NH 52 (NARWANA PATIALA ROAD)	JIND	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1159 k	BETWEEN KM STONE 23 & 26 TOWARDS KALAYAT ON LEFT HAND SIDE ON NH 152 (NARWANA KALAYAT ROAD)	JIND	REGULAR	155	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1160	FROM SHAHEED RAJGURU CHOWK TO VISHWAKARMA CHOWK ON RAJWAHA ROAD (WITHIN MUNICIPAL LIMITS JIND EXCLUDING NH AND SH)	JIND	Regular	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
	ON RAWALDHI DELHI MAIN BYPASS ROAD (WITHIN MUNICIPAL LIMIT CHARKHI DADRI)	CHARKHI DADRI	REGULAR	100	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1162	FROM KM STONE 10 TO KM STONE 13 ON LEFT HAND SIDE ON SH 18 (ROHTAK SONIPAT ROAD)	ROHTAK	REGULAR	100	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	WITH IN MUNICIPAL LIMIT OF RANIA NOT ON STATE HIGHWAY	SIRSA	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	WITH IN MUNICIPAL LIMIT OF SIRSA NOT ON STATE HIGHWAY AND NATIONAL HIGHWAY	SIRSA	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1165	UPTO 2 KMS FROM K.N SENIOR SECONDARY SCHOOL, CHAMPA PURI,DADRI TOWARDS GHIKADA ON CHARKHI DADRI TO GHIKADA ROAD (WITHIN MUNICIPAL LIMIT CHARKHI DADRI)	CHARKHI DADRI	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1166 C	BETWEEN MAHARANA PARTAP CHOWK(HUDA CHOWK) AND BUS STATND OF SIRSA ON DABWALI ROAD (WITH IN MUNICIPAL LIMITS SIRSA)	SIRSA	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1167 F	UPTO 2 KMS FROM CH. BANSILAL MEMORIAL PARK TOWARDS HALUWAS (WITHIN MUNICIPAL LIMIT BHIWANI)	BHIWANI	REGULAR	155	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1168	UPTO 4 KMS FROM MAHENDERGARH CHOWK TOWARDS BHIWANI ON RIGHT HAND SIDE ON NH148B (CHARKHI DADRI-BHIWANI ROAD)	CHARKHI DADRI	REGULAR	163	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1169	UPTO 2KMS FROM ROHTAK DADRI CHOWK TOWARDS LOHARU ON DADRI TO LOHARU ROAD (WITHIN MUNICIPAL LIMIT CHARKHI DADRI)	CHARKHI DADRI	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1170 S	WITHIN 2 KM FROM UKLANA RAILWAY CROSSING, LEFT HAND SIDE TOWARDS SUREWALA CHOWK ON SH-2 (BHUNA- NARWANA ROAD)	HISAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1171 E	UPTO 5 KM FROM MALIK CHOWK ON HISAR BALSAMAND ROAD, (WITHIN MUNICIPAL LIMITS OF HISAR)	HISAR	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1172 H	3 KMS FROM IOCL RO M/S BALAJI ENTERPRISE KAIMRI ROAD TOWARDS VILLAGE MANGALI ON KAIMRI- MANGALI ROAD (WITHIN MUNICIPAL LIMIT HISAR)	HISAR	REGULAR	130	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
11/3	WITHIN 1 KM FROM DEVI LAL CHOWK (WITHIN MUNICIPAL LIMITS JIND EXCLUDING NH AND SH)	JIND	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
11/4	WITHIN MUNICIPAL LIMITS MEHAM EXCLUDING NH AND SH	ROHTAK	REGULAR	140	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
11/5	WITHIN MUNICIPAL LIMITS JIND EXCLUDING NH AND SH	JIND	REGULAR	140	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
11/0	WITHIN MUNICIPAL LIMITS JULANA EXCLUDING	JIND	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1177 (FROM AMBEDKAR CHOWK TO RAJIV CHOWK (DELHI BYPASS CIRCLE) ON DELHI ROAD ON LEFT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1178	FROM RAJIV CHOWK (DELHI BYPASS CIRCLE) TO BHAGAT BALCHAND CHOWK ON LEFT HAND SIDE ON HUDA ROAD (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1179	ON TOHANA BYPASS ROAD (CONNECTING NH148B TOHANA SUREWALA ROAD AND TOHANA KULAN ROAD) WITHIN MUNICIPAL LIMIT OF TOHANA	FATEHABAD	REGULAR	150	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1180 (FROM AMBEDKAR CHOWK TO RAJIV CHOWK (DELHI BYPASS CIRCLE) ON DELHI ROAD ON RIGHT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	110	OBC CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
	WITH IN MUNICIPAL LIMIT OF KALANWALI	SIRSA	REGULAR	105	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1182	FROM AMAR SHAHEED SHRI KRISHAN KUMAR SAINIK CHOWK TOWARD JAMAL ON SIRSA JAMAL ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	100	Open PH	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1183 J	BETWEEN PARSHURAM CHOWK AND JAGDAMBE PAPER MILL ON SIRSA BHADRA ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1184 \$	BETWEEN VALMIKI CHOWK AND ITI CHOWK OF SIRSA ON SIRSA RANIA ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1185 F	FROM SHIV CHOWK TO KABIR CHOWK IN SIRSA(WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
E CONTRACTOR	FROM KM STONE 21 TO 23 ON SH 23 ON SIRSA ELLNABAD ROAD	SIRSA	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1100 E	BETWEEN OLD BUS STAND, SAFIDON TO													

1188	BETWEEN MAHARANA PARTAP CHOWK(HUDA CHOWK) AND MADAN LAL DHINGRA CHOWK(DELHI PULL) TOWARDS HISAR ON SIRSA HISAR ROAD (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1189	BETWEEN NH10 FACTORY OUTLET AND PRERNA FILLING STATION(IOCL RO) AT HANSI, RIGHT HAND SIDE TOWARDS DELHI ON NH-9 (DELHI-HISAR ROAD)	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1190	WITHIN 1 KM FROM RAM CHOWK BHIWANI ON TRIVENI ROAD (WITHIN MUNICIPAL LIMITS BHIWANI)	BHIWANI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1191	UPTO 1 KM FROM DADRI CHOWK BHIWANI TOWARDS KAUNT VILLAGE (WITHIN MUNICIPAL LIMIT BHIWANI)	BHIWANI	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1192	WITHIN MUNICIPAL LIMITS OF SIWANI	BHIWANI	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1193	BETWEEN BAJEKA CHOWK (MOR) AND HISAR ROAD & NH 09 INTERSECTION, (WITH IN MUNICIPAL LIMITS OF SIRSA)	SIRSA	REGULAR	135	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1194	FROM IMT CIRCLE TOWARDS DELHI ON DELHI ROAD ON RIGHT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1195	ON HISAR SOUTHERN BYPASS ROAD CONNECTING HISAR RAJGARH ROAD AND HISAR TOSHAM ROAD (WITHIN MUNICIPAL LIMITS OF HISAR)	HISAR	REGULAR	120	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1196	WITHIN MUNICIPAL LIMITS LAKHAN MAJRA EXCUDING NH AND SH	ROHTAK	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1197	UPTO 1 KM FROM DADRI CHOWK BHIWANI TOWARDS DHANA LADANPUR (WITHIN MUNICIPAL LIMIT BHIWANI)	BHIWANI	REGULAR	110	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1198	ON HISAR SOUTHERN BYPASS ROAD CONNECTING HISAR RAJGARH ROAD AND HISAR BAGLA ROAD (WITHIN MUNICIPAL LIMITS OF HISAR)	HISAR	REGULAR	120	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1199	WITHIN 1 KM FROM PATIALA CHOWK TOWARDS JIND JUNCTION RAILWAY STATION ON RAILWAY STATION ROAD (WITHIN MUNICIPAL LIMITS JIND)	JIND	REGULAR	100	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1200	FROM MRCR PUBLIC SCHOOL TO TEHSIL OFFICE ON JULANA-RAJGARH ROAD (WITHIN MUNICIPAL LIMITS JULANA) UPTO 4 KM FROM BPCL PETROL PUMP M/S	JIND	REGULAR	160	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1201	OPTO 4 KM FROM BPCL PETROL POMP M/S PHOOLWARI FILLING STATION AT ISMAILA TOWARDS HISAR ON RIGHT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1202	BETWEEN PARAV CHOWK AND KAINCHI CHOWK ON RIGHT HAND SIDE TOWARDS RAIPUR ON HISAR - RAIPUR ROAD, WITHIN MUNICIPAL LIMIT HISAR	HISAR	REGULAR	160	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1203	UPTO 5 KM FROM IOCL PETROL PUMP M/S RUHIL FILLING POINT AT MAINA TOWARDS DELHI ON LEFT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1204	FROM RAJIV CHOWK (DELHI BYPASS CIRCLE) TO SHEELA BYPASS CHOWK VIA HPCL PETROL PUMP M/S HP NANDAL BROTHERS ON LEFT HAND SIDE (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1205	MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	120	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1206	MUNICIPAL LIMITS OF ROHTAK	ROHTAK	REGULAR	110	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1207	WITHIN 3 KM TOWARDS JIND ON RHS FROM GOVERNMENT SENIOR SECONDARY SCHOOL, KINANA, DIST. JIND ON NH-352, ROHTAK-JIND ROAD	JIND	REGULAR	155	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1208	WITHIN MUNICIPAL LIMIT OF HISAR EXCLUDING NH AND SH FROM AADHAR HOSPITAL TO OP JINDAL MARG	HISAR	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1209	ON HISAR SOUTHERN BYEPASS, WITHIN MUNICIPAL LIMIT HISAR BETWEEN PARAV CHOWK AND KAINCHI	HISAR	REGULAR	185	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1210	CHOWK ON LEFT HAND SIDE TOWARDS RAIPUR ON HISAR - RAIPUR ROAD , WITHIN MUNICIPAL LIMIT HISAR	HISAR	REGULAR	130	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1211	WITHIN MUNICIPAL LIMITS OF ADAMPUR EXCLUDING STATE HIGHWAY	HISAR	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1212	BETWEEN KM STONE 24 AND 28 ON NH-352A, JIND- GOHANA ROAD	JIND	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1213	WITHIN 2 KM FROM IOCL RETAIL OUTLET M/S SUPER SERVICE STATION BHIWANI, TOWARDS LOHARU ON NH 709E (BHIWANI-LOHARU ROAD)	BHIWANI	REGULAR	160	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1214	WITHIN 2KM FROM INTERSECTION OF FATEHABAD RATIA ROAD WITH FATEHABAD - SARDULGARH ROAD TOWARDS SARDULGARH ON FATEHABAD -SARDULGARH ROAD (WITHIN MUNICIPLE LIMIT OF FATEHABAD)	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1215	WITHIN 2 KM FROM INTERSECTION OF FATEHABAD RATIA ROAD WITH RATIA SEHNAL ROAD TOWARDS SEHNAL ON RATIA-SEHNAL ROAD(WITHIN MUNICIPLE LIMIT OF RATIA)	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1216	WITHIN 3 KM FROM SANJAY GANDHI CHOWK RATIA TOWARDS KULAN ON RATIA-KULAN ROAD(WITHIN MUNICIPLE LIMIT OF RATIA)	FATEHABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1217	BETWEEN BHIWANI PUBLIC SCHOOL, SECTOR 14 & BITS INTERNATIONAL SCHOOL, SECTOR-23 ON ROAD CONNECTING NH-148B (HANSI- BHIWANI ROAD) AND SH-16A (BHIWANI-MEHAM ROAD)(WITHIN MUNICIPAL LIMIT BHIWANI)	BHIWANI	REGULAR	115	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
1218	FROM KM STONE 10 TO 14 ON SH 23 ON SIRSA ELLNABAD ROAD	SIRSA	REGULAR	150	Open	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
1219	ON RATIA BYPASS ROAD (CONNECTING RATIA BUDHLADA ROAD AND RATIA KULAN ROAD)WITHIN MUNICIPLE LIMIT OF RATIA	FATEHABAD	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1220	WITHIN 3KM FROM SHAHID BHAGAT SINGH KAINCHI CHOWK TOHANA TOWARDS KULAN ON TOHANA- KULAN ROAD(WITHIN MUNICIPAL LIMIT OF TOHANA)	FATEHABAD	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4

Image: Sector								1							
Image: Control of the strength of the	1221	HAND SIDE ON HUDA ROAD (WITHIN MUNICIPAL	ROHTAK	REGULAR	100	SC	CFS	20	20	400	0	0		0	3
Normal control contro	1222	WITHIN 2KM FROM INTERSECTION OF BHUNA UKLANA ROAD WITH BHUNA NEHLA HISAR ROAD TOWARDS NEHLA (WITHIN MUNICIPLE	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55		15	5
Image: Numeric Name interventions interventions Image: Numeric Name	1223	ON CITY STATION ROAD DIVIDING SECTOR 13 &	BHIWANI	REGULAR	130	Open	DC	20	20	400	32	55		15	5
Image: Name: And State	1224	TOWARDS MINI BYEPASS ROAD ON DHANA LADANPUR ROAD (WITHIN MUNICIPAL LIMIT	BHIWANI	REGULAR	115	OBC	DC	20	20	400	32	55		15	4
International matrix into the second matrix intothesecond matrix into the second matrix into the second matrix int	1225	BETWEEN KM STONE 134 & 136 TOWARDS HANSI ON LEFT HAND SIDE ON NH 148-B (HANSI-	BHIWANI	REGULAR	165	SC	CFS	35	35	1225	0	0		0	3
Image Image Ope D <thd< th=""> D <thd< td=""><td>1226</td><td>UPTO 4 KM FROM HPCL PETROL PUMP M/S NANDAL PETRO STATION AT SUNCITY ROHTAK TOWARDS JIND CHOWK ON RIGHT HAND SIDE ON SECTOR DIVIDING HUDA ROAD (WITHIN</td><td>ROHTAK</td><td>REGULAR</td><td>110</td><td>Open</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>5</td></thd<></thd<>	1226	UPTO 4 KM FROM HPCL PETROL PUMP M/S NANDAL PETRO STATION AT SUNCITY ROHTAK TOWARDS JIND CHOWK ON RIGHT HAND SIDE ON SECTOR DIVIDING HUDA ROAD (WITHIN	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55		15	5
ID3 ID30 ID300 ID300 ID300 ID300 ID300	1227	PETROL PUMP M/S SWASTIK ENERGY AT MAINA ON ROHTAK JHAJJAR ROAD (WITHIN MUNICIPAL	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55		15	5
1000 10000 10000 100000 1000000 10000000000000000000000000	1228		ROHTAK	REGULAR	105	OBC	DC	20	20	400	32	55		15	4
Image Network intersection (SAME ROAM RAD) APPO RECLAR 120 SCC1 CF 20 20 20 20 200 10000 10000 1000 1000	1229	BUS STOP ON SUBHASH ROAD (WITHIN	ROHTAK	REGULAR	100	Open	DC	20	20	400	32	55		15	5
Image: Normal Content Normal	1230	ROAD-NH52 INTERSECTION ON CANAL ROAD	JIND	REGULAR	120	SC CC 1	CFS	20	20	400	0	0		0	3
IDE INCOMPARES ALLO ON LET FAMOLANDIAL UNITS OFFICATION REPERTANCE ALTER SERVICE REPERTANCE ALTER S	1231	TOYOTA AT CHANDI GARH ROAD, RIGHT HAND SIDE TOWARDS HISAR ON NH-52 (AMBALA-	HISAR	REGULAR	155	OPEN CC 2	DC	35	35	1225	32	95		15	5
Internal Machine Antificies Control on Model 111 JIND REGULAR 120 Open Dc 20 20 400 32 05 DRW OF 15 5 1138 INTERNA ALLER TRANSMACH CARL INTERNATION (TRANSMAR) FATURA BARA CONTRA TRANSMAR JIND REGULAR 100 SC CFS 20 400 32 05 DRW OF 10 4 1138 INTERNA MACHINE TRANSMARA JIND REGULAR 100 OPE 20 400 32 05 DRW OF 115 5 1138 INTERNA MACHINE LIST TRANSMARA JIND REGULAR 100 Open DC 20 400 32 05 DRW OF 15 5 1139 INTERNA MACHINE LIST TRANSMARA JIND REGULAR 100 SC CFS 20 400 32 65 DRW OF 15 5 1139 INTERNA MACHINE LIST TRANSMARA JIND REGULAR 100 SC CFS 20 400 32 55	1232	TOWARDS JIND ON LEFT HAND SIDE ON JIND	ROHTAK	REGULAR	110	OBC CC 1	DC	20	20	400	32	55		15	4
Law Law <thlaw< th=""> <thlaw< th=""> <thlaw< th=""></thlaw<></thlaw<></thlaw<>	1233	MDR111- NH52 INTERSECTION ON MDR 111 (NARWANA- DHARODI ROAD) (WITHIN	JIND	REGULAR	120	Open	DC	20	20	400	32	55		15	5
Instrume Line	1234	AND POWER GRID CORPORATION OF INDIA LIMITED OFFICE ON HISAR ROAD (WITHIN	FATEHABAD	REGULAR	150	sc	CFS	20	20	400	0	0		0	3
Instruction Production Produc	1235		JIND	REGULAR	120	OBC	DC	20	20	400	32	55		15	4
Inst End Lot Lot <thlot< th=""> <thlot< th=""></thlot<></thlot<>	1236	TO IMT CIRCLE ON DELHI ROAD ON RIGHT HAND	ROHTAK	REGULAR	110	Open	DC	20	20	400	32	55		15	5
Itale Name Participant Name Participant Name Participant	1237	NH & SH)	JIND	REGULAR	120	Open	DC	20	20	400	32	55	LOTS	15	5
Isage Cover, Within Municipal, Listing or Romany, Nominal Resultania Isade Number Strategy Zoit Zoit <thzoit< th=""> Zoit Zoit<td>1238</td><td></td><td>JIND</td><td>REGULAR</td><td>120</td><td>OBC</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>4</td></thzoit<>	1238		JIND	REGULAR	120	OBC	DC	20	20	400	32	55		15	4
12-10 ULANAR CRAD WITH BUILNAT CHANAR RADD FATEHABAD REGULAR 150 Open DC 20 20 400 32 55 DRAW OF 15 5 12-01 DRAWAR ORD (WITHIN MUNICIPLE LIMITY) FATEHABAD REGULAR 150 Open DC 20 20 400 32 55 DRAW OF 15 5 124 ROAD MONT LL DIMONG ALCOWK CAN FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF 15 4 124 ROAD MAND LL DIMORA CHOWK CAN FATEHABAD REGULAR 130 OBC DC 20 400 32 55 DRAW OF 15 4 124 ROAD CAN MON ALL DIMORA CHOWK AND AADHAR HISAR REGULAR 130 OBC DC 20 400 0 0 DRAW OF 15 5 124 RETWEEN MARCHOWK AND PARILIAT CHOWK HISAR REGULAR 130 OBC CC 20 20 40	1239	CHOWK (WITHIN MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	REGULAR	100	sc	CFS	20	20	400	0	0		0	3
11 HISAR ROAD WITH CITY SOUTHERN BYPASS FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 14 ROAD AND AND LAI LININGRA CHOWK, NON (WTHIN MUNCIPLE LINIT FREHABAD) FATEHABAD REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1243 BETWEEN DABRA CHOWK AND PARLIAT CHOWK, VITHIN MUNCIPLE LINIT OF HISAR REGULAR 130 SC CFS 20 400 0 0 DRAW OF LOTS 15 5 1243 BETWEEN CAMPC CHOWK AND PARLIAT CHOWK, WITHIN MUNCIPLE LINIT OF HISAR REGULAR 130 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1244 BETWEEN KANCH CHOWK AND PARLIAT CHOWK, WITHIN MUNCIPLE LINIT OF HISAR REGULAR 100 OPEN CC1 DC 20 400 32 55 DRAW OF LOTS 15 5 1245 BETWEEN KANCH CHOWK AND PARLIAT CHOWK, ITHAN MUNCIPL LINIT OF HISAR REGULAR 100 OPEN CC1 <t< td=""><td>1240</td><td>UKLANA ROAD WITH BHUNA TOHANA ROAD TOWARDS TOHANA ON BHUNA-DULLAT-BUWAN- TOHANA ROAD (WITHIN MUNICIPLE LIMIT</td><td>FATEHABAD</td><td>REGULAR</td><td>150</td><td>Open</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>5</td></t<>	1240	UKLANA ROAD WITH BHUNA TOHANA ROAD TOWARDS TOHANA ON BHUNA-DULLAT-BUWAN- TOHANA ROAD (WITHIN MUNICIPLE LIMIT	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55		15	5
1242 MOSPITAL ON HISAR-TOSHAM ROAD,WITHIN HISAR REGULAR 130 OBC DC 20 400 32 55 DIRAW OF 15 4 1243 GETWEEN CAMP CHOWK AND PARUAT CHOWK, WITHIN MUNICIPAL LIMIT OF HISAR HISAR REGULAR 130 SC CFS 20 400 0 0 DRAW OF 0 3 1244 BETWEEN CAMP CHOWK AND PARUAT CHOWK, WITHIN MUNICIPAL LIMIT OF HISAR HISAR REGULAR 130 Open DC 20 400 32 55 DRAW OF 15 5 1245 SIRSA ROAD (N HISAR TOSHAW FOAD) HISAR REGULAR 100 OPEN CC 1 DC 20 400 32 55 DRAW OF 15 5 1246 SIRSA ROAD (NI HARYANA ROAD/WAYS BUS SIRSA ROAD (NI HINA MUNICIPAL LIMIT SO F HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF 15 4 1248 ROAD (WITHIN MUNICIPAL LIMIT SO F HISAR REGULAR 150 SC C	1241	HISAR ROAD WITH CITY SOUTHERN BYPASS ROAD AND MADAN LAL DHINGRA CHOWK, ON FATEHABAD CITY SOUTHERN BYPASS ROAD (WITHIN MUNICIPLE LIMIT FATEHABAD)	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55		15	5
1243 BETWEEN CAMP CHOWK AND PARIJAT CHOWK, WITHIN MUNICIPAL LIMIT OF HISAR HISAR REGULAR 130 SC CFS 20 400 0 DRAW OF LOTS 0 31 1244 BETWEEN KANCH CHOWK AND N+40 (DELHI 1244 HISAR REGULAR 130 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1245 SIRSA ROAD, ON HISAR HISAR REGULAR 100 OPEN CC1 DC 20 400 32 55 DRAW OF LOTS 15 5 1245 SIRSA ROAD, WITHIN MUNICIPAL LIMIT OF HISAR HISAR REGULAR 100 OPEN CC1 DC 20 400 32 55 DRAW OF LOTS 15 4 1245 SIRSA ROAD, WITHIN MUNICIPAL LIMIT OF HANSI HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1246 EXCULTION MAND SHAND HISAR REGULAR 150 OBC DC 20 400 32 55 DRAW OF LOTS 15 5 1247 ON COMPLETE STRETCH OF	1242	HOSPITAL ON HISAR-TOSHAM ROAD, WITHIN	HISAR	REGULAR	130	OBC	DC	20	20	400	32	55		15	4
1244 SIRSA ROAD) ON HISAR - RAPUR ROAD, WITTINI MUNICIPAL LIMIT OF HISAR HISAR REGULAR 130 Open DC 20 400 32 55 LINAW OF LOTS 15 5 1245 SIRAB AROAD (WITHIN MUNICIPAL LIMITS OF HISAR) HISAR REGULAR 100 OPEN CC 1 DC 20 400 32 55 DRAW OF LOTS 15 5 1246 SIRAB AROAD (WITHIN MUNICIPAL HISAR) HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1247 SIRAB AROAD (WITHIN MUNICIPAL LIMIT OF HANS] HISAR REGULAR 150 SC CFS 35 35 1225 0 0 DRAW OF LOTS 15 4 1247 ON COMPLETE STRETCH OF JAKHAL MANDION LIMIT AND SN, FROM PARSHURAM CHOWK FATEHABAD REGULAR 150 SC CFS 35 35 1225 0 0 DRAW OF LOTS 15 5 1248 TOWARDS BIGHAR ON FATEHABAD BIGHAR FATEHABAD REGULAR 150 Open DC 20 20 400 32 5	1243	BETWEEN CAMP CHOWK AND PARIJAT CHOWK,	HISAR	REGULAR	130	SC	CFS	20	20	400	0	0		0	3
UPTO 2 KM FROM HARYANA ROAD/WAYS BUS SIRSA ROAD (WTHIN MUNICIPAL LIMITS OF HISAR HISAR REGULAR 100 OPEN CC 1 DC 20 400 32 55 DRAW OF LOTS 15 5 1246 STAND AND THIANT OWNARDS SIRSA ON HISAR BETWEEN BUS-STAND AND THANSI HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1246 EXCLUDING NH AND SH, WITHIN MUNICIPAL HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1247 ON COMPLETE STRETCH OF JAKHAL MANDION LIMIT OF HANSI FATEHABAD REGULAR 150 SC CFS 35 35 1225 0 0 DRAW OF LOTS 15 5 1248 TOWARDS BIGHAR ON FARSHURAN CHOWK FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1248 TOWARDS BIGHAR ON FATEHABAD BIGHAR FATEHABAD REGULAR 150 <td< td=""><td>1244</td><td>SIRSA ROAD) ON HISAR - RAIPUR ROAD ,</td><td>HISAR</td><td>REGULAR</td><td>130</td><td>Open</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td></td><td>15</td><td>5</td></td<>	1244	SIRSA ROAD) ON HISAR - RAIPUR ROAD ,	HISAR	REGULAR	130	Open	DC	20	20	400	32	55		15	5
BETWEEN BUS-STAND AND TH HANSI HISAR REGULAR 130 OBC DC 20 20 400 32 55 DRAW OF LOTS 15 4 1246 EXCLUDING MH AND SH, WITHIN MUNICIPAL LIMIT OF HANSI HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1247 ON COMPLETE STRETCH OF JAKHAL MANDION NH 1488 (JAKHAL MANDIBUDHLADA ROAD) FATEHABAD REGULAR 150 SC CFS 35 1225 0 0 DRAW OF LOTS 0 3 1247 ON COMPLETE STRETCH OF JAKHAL MANDION NH 1488 (JAKHAL MANDI BLADINLADA ROAD) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1248 TOWARDS BIGHAR ON FATEHABAD DIGHAR READQWITHIN MUNICIPAL LIMIT FATEHABAD FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1249 TOHANAN THINA MUNICIPAL LIMIT OF TOHANAN FATEHABAD	1245	UPTO 2 KM FROM HARYANA ROADWAYS BUS STAND AT HISAR TOWARDS SIRSA ON HISAR SIRSA ROAD (WITHIN MUNICIPAL LIMITS OF	HISAR	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55		15	5
1247 ON COMPLETE STRETCH OF JAKHAL MANDI ON NH 148B (JAKHAL MANDI BUDHLADA ROAD) FATEHABAD REGULAR 150 SC CFS 35 35 1225 0 0 DRAW OF LOTS 0 3 1248 WITHIN 3 KM FROM PARSHURAM CHOWK ROAD(WITHIN MUNICIPLE LIMIT FATEHABAD) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1248 WITHIN SKM FROM PARSHURAM CNOWK ROAD(WITHIN MUNICIPLE LIMIT FATEHABAD) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1249 WITHIN SKM FROM BHAGWAN BALMIKI CHOWK TOHANA TOWARDS SANIANA ON TOHANA SANIANA ROAD(WITHIN MUNICIPAL LIMIT OF TOHANA TOWARDS SANIANA ON TOHANA SANIANA ROAD(WITHIN MUNICIPAL LIMIT OF TOHANA) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1249 WITHIN MUNICIPAL LIMIT OF TOHANA) FATEHABAD REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1249 WITHIN MUNICIPAL LIMIT OF TOHANA) HISAR	1246	BETWEEN BUS-STAND AND ITI HANSI EXCLUDING NH AND SH, WITHIN MUNICIPAL	HISAR	REGULAR	130	OBC	DC	20	20	400	32	55		15	4
1248 TOWARDS BIGHAR ON FATEHABAD BIGHAR ROAD(WITHIN MUNICIPLE LIMIT FATEHABAD) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1248 ROAD(WITHIN MUNICIPLE LIMIT FATEHABAD) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1249 SANIANA ROAD(WITHIN MUNICIPAL LIMIT OF TOHANA) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1250 WITHIN MUNICIPAL LIMIT OF TOHANA) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 4 1250 WITHIN MUNICIPAL LIMIT OF BARWALA HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1251 EXCUDING NH AND SH HISAR REGULAR 160 Open DC 35 35 1225 32 95 DRAW OF LOTS 15 5 <tr< td=""><td>1247</td><td>ON COMPLETE STRETCH OF JAKHAL MANDI ON</td><td>FATEHABAD</td><td>REGULAR</td><td>150</td><td>SC</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td></td><td>0</td><td>3</td></tr<>	1247	ON COMPLETE STRETCH OF JAKHAL MANDI ON	FATEHABAD	REGULAR	150	SC	CFS	35	35	1225	0	0		0	3
1249 TOHANA TOWARDS SANIANA ON TOHANA SANIANA ROAD(WITHIN MUNICIPAL LIMIT OF TOHANA) FATEHABAD REGULAR 150 Open DC 20 400 32 55 DRAW OF LOTS 15 5 1250 WITHIN MUNICIPAL LIMIT OF TOHANA) HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1250 EXCULING NH AND SH HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1251 UP T0 5 KMS FROM NH 09 CROSSING WITH NH 1251 52 TOWARDS RAJGARH NO LEFT HAND SIDE ON NH 52 (BARWALA RAJGARH ROAD) HISAR REGULAR 160 Open DC 35 35 1225 32 95 DRAW OF LOTS 15 5 1252 HISAR ROAD ON WATER WORKS ROAD (WITHIN MUNICIPAL LIMITS NARWANA) JIND REGULAR 120 SC CFS 20 400 0 0 DRAW OF LOTS 0 3 1252 HISAR ROAD ON WATER WORKS ROAD (WITHIN MUNICIPAL LIMITS NARWANA) JIND REGULAR 120 SC CFS 20	1248	TOWARDS BIGHAR ON FATEHABAD BIGHAR ROAD(WITHIN MUNICIPLE LIMIT FATEHABAD)	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55		15	5
1250 WITHIN MUNICIPAL LMIT OF BARWALA EXCLUDING NH AND SH HISAR REGULAR 130 OBC DC 20 20 400 32 55 DRAW OF LOTS 15 4 1250 EXCLUDING NH AND SH HISAR REGULAR 130 OBC DC 20 400 32 55 DRAW OF LOTS 15 4 1251 St S	1249	TOHANA TOWARDS SANIANA ON TOHANA SANIANA ROAD(WITHIN MUNICIPAL LIMIT OF TOHANA)	FATEHABAD	REGULAR	150	Open	DC	20	20	400	32	55		15	5
125152 TOWARDS RAJGARH ON LEFT HAND SIDE ON NH 52 (BARWALA RAJGARH ROAD)HISARREGULAR160OpenDC353512253295DRAW OF LOTS1551252FROM NEHRU PARK, NARWANA TO NARWANA- HISAR ROAD ON WATER WORKS ROAD (WITHIN MUNICIPAL LIMITS NARWANA)JINDREGULAR120SCCFS202040000DRAW OF LOTS0331252ON NARWANA)ON NARWANA)JINDREGULAR120SCCFS202040000DRAW OF LOTS0331253CROSSING TOWARDS SAMAIN (WITHIN LOTSJINDREGULAR130OpenDC20204003255DRAW OF LOTS155	1250	WITHIN MUNICIPAL LIMIT OF BARWALA	HISAR	REGULAR	130	OBC	DC	20	20	400	32	55		15	4
1252 HISAR ROAD ON WATER WORKS ROAD (WITHIN MUNICIPAL LIMITS NARWANA) JIND REGULAR 120 SC CFS 20 400 0 0 DRAW OF LOTS 0 3 ON NARWANA-SAMAIN ROAD FROM RAILWAY 1253 JIND REGULAR 130 Open DC 20 400 32 55 DRAW OF LOTS 0 3	1251	UP TO 5 KMS FROM NH 09 CROSSING WITH NH 52 TOWARDS RAJGARH ON LEFT HAND SIDE ON	HISAR	REGULAR	160	Open	DC	35	35	1225	32	95		15	5
1253 CROSSING TOWARDS SAMAIN (WITHIN JIND REGULAR 130 Open DC 20 400 32 55 DRAW OF LOTS 15 5	1252	HISAR ROAD ON WATER WORKS ROAD (WITHIN MUNICIPAL LIMITS NARWANA)	JIND	REGULAR	120	SC	CFS	20	20	400	0	0		0	3
	1253	CROSSING TOWARDS SAMAIN (WITHIN	JIND	REGULAR	130	Open	DC	20	20	400	32	55		15	5

1254	UPTO 4 KM FROM HPCL PETROL PUMP M/S UDEY FILLING STATION AT MAINA TOWARDS HISAR ON RIGHT HAND SIDE ON NH 9 (DELHI HISAR ROAD)	ROHTAK	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
1255	FROM PANCHMUKHI CHOWK TOWARDS NOHAR	SIRSA	REGULAR	100	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1256	WITHIN 3 KMS FROM GOL CHOWK AT DABWALI ON RIGHT HAND SIDE TOWARDS SIRSA ON NH9 (DABWALI SIRSA ROAD)	SIRSA	REGULAR	160	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1257	WITHIN 3 KM FROM PANCHMUKHI CHOWK TOWARDS TALWARA KHURD ON SH-23 (SIRSA ELLENABAD ROAD)	SIRSA	REGULAR	105	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
1258	WITH IN 3 KM FROM INTERSECTION OF NH 703 AND NH 09 TOWRDS SIRSA CITY ON NH 703 (SIRSA BARNALA ROAD)	SIRSA	REGULAR	170	Open	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
1259	FROM DEVILAL CHOWK TOWARDS HANUMANGARH ON ELLENABAD HANUMANGARH ROAD (WITHIN MUNICIPAL LIMIT OF ELLENABAD)	SIRSA	REGULAR	150	Open	DC	20	20	400	32	55	DRAW OF LOTS	15	5
1	WITHIN 2 KM FROM GOVERNMENT VETERINARY HOSPITAL DAYALPUR ON LEFT HAND SIDE WHILE GOING FROM DAYALPUR TO CHHAINSA	FARIDABAD	RURAL	167	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
2	FROM VILLAGE-DARYAPUR TO BAHADURGARH ROAD INTERSECTION VIA HPCL PETROL PUMP KANHA FILLING STATION ON BADLI BYEPASS ROAD	JHAJJAR	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
3	FROM CBR MODERN SENIOR SECONDARY SCHOOL TO SH-22 JUNCTION (KAROLI MOD), ON BAHU-KAROLI ROAD	REWARI	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
4	FROM REZANGLA YUDH SHAHEED SMARAK (VILLAGE	REWARI	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF	0	2
5	- KHURSHIDNAGAR) TO SH-22 JUNCTION , ON BAHU- NAHAR ROAD FROM GOVERNMENT MIDDLE SCHOOL UNCHA TO NH- 11 JUNCTION, ON KUND-BHOJAWAS	REWARI	RURAL	46	SC	CFS	35	35	1225	0	0	LOTS DRAW OF LOTS	0	2
6	ROAD FROM BPCL RO M/S ANNU FILLING STATION TO KASOLA CHOWK ON NH-48 ON LEFT HAND SIDE WHILE GOING FROM REWARI TO NH-48	REWARI	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
7	FROM POLICE CHOWKI FARMANA TO PARAMOUNT SCHOOL OF SCIENCE TOWARDS SILANA ON FARMANA	SONIPAT	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
8	- SILANA ROAD WITHIN 2 KMS FROM INTERSECTION OF SILANA- KHANDA ROAD TOWARDS SISANA ON SILANA- SISANA ROAD	SONIPAT	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
9	WITHIN 3 KMS FROM PRIMARY HEALTH CENTER DUBHETA TOWARDS KAILANA ON GANAUR-	SONIPAT	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
10	GOHANA ROAD WITHIN 5 KMS FROM RAJIV GANDHI STADIUM MAHMUDPUR TOWARDS CHHATERA ON GOHANA- SAFIDON ROAD	SONIPAT	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
11	UPTO 2 KM FROM KHERARI MOR TOWARDS CHARKHI DADRI ON CHARKHI DADRI - ROHTAK ROAD ON MDR 124	ROHTAK	Rural	117	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
12	BETWEEN ESSAR PETROL PUMP SHIVGANGA FILLING STATION AT DHOLU AND GOVT SENIOR SEC SCHOOL VILLAGE DHOLU ON BHUNA-RATIA ROAD	FATEHABAD	Rural	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
13	WITHIN 2 KMS FROM RADHA SOAMI SATSANG BEAS NAWA RAJGARH TOWARDS VILLAGE DHIRANA KALAN ON DHIRANA KALAN-RAJGARH ROAD	BHIWANI	Rural	105	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
14	BETWEEN KM STONE 16 AND 18 ON MDR 103 (BHATTU JAMAL ROAD)	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
15	FROM VILLAGE- DESU JODHA TO VILLAGE JOGEWALA (INCLUDING BOTH VILLAGE) ON DESU JODHA- JOGEWALA ROAD	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
16	WITHIN 5KMS FROM BILASPUR CHOWK TOWARDS PATAUDI ON BILASPUR-PATAUDI- HAILEY MANDI ROAD	GURUGRAM	RURAL	234	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
17	WITHIN 6 KMS FROM THE GOD INSTITUTION OF EDUCATION, CHHILARKI TOWARDS HAILEY MANDI ON HAILEY MANDI-PAHLAWAS ROAD	GURUGRAM	RURAL	181	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
18	BETWEEN SANSKRITI CONVENT SCHOOL, LANDOLA TO SD POLITECHNIC SCHOOL, GHARODA ON TIGAON MANJHAWALI ROAD	FARIDABAD	RURAL	80	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
19	WITHIN 5 KMS FROM WAZIRPUR RAILWAY OVER BRIDGE TOWARDS FARUKHNAGAR ON FARUKHNAGAR-WAZIRPUR ROAD RIGHT HAND SIDE	GURUGRAM	RURAL	152	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
20	VILLAGE- MUBARAKPUR OR SULTANPUR ON FARRUKHNAGAR BYPASS ROAD (NOT ON SH)	GURUGRAM	RURAL	128	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
21	WITHIN 4 KMS FROM JAMALPUR CHOWK TOWARDS PACHGAON ON JAMALPUR- PACHGAON ROAD	GURUGRAM	RURAL	156	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
22	WITHIN 5KMS FROM JAMALPUR CHOWK TOWARDS FARUKHNAGAR ON FARUKHNAGAR- JAMALPUR-PACHGAON ROAD	GURUGRAM	RURAL	90	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
23	WITHIN 5 KMS FROM AIIMS, JHAJJAR TOWARDS BADLI ON RIGHT HAND SIDE ON GURGAON TO BADLI ROAD	JHAJJAR	RURAL	128	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
24	WITHIN 2 KM ON RIGHT HAND SIDE FROM DELHI- MUMBAI EXPRESSWAY FLYOVER WHILE GOING TOWARDS BHIWAN ON FIROZPUR ZHIRKA- BHIWAN ROAD	NUH	RURAL	150	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
25	WITHIN 5 KMS FROM SHIV MANDIR, DABODA TOWARDS HAILEY MANDI ON FARRUKHNAGAR- BASUNDA-HAILEY MANDI ROAD	GURUGRAM	RURAL	110	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
26	WITHIN 1 KM FROM HARYANA RAJASTHAN BORDER ON CHINALIA TO NIHALOTH ROAD	MAHENDRAGA RH	RURAL	70	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
27	WITHIN 5 KMS FROM WAZIRPUR RAILWAY OVER BRIDGE TOWARDS FARUKHNAGAR ON FARUKHNAGAR-WAZIRPUR ROAD LEFT HAND SIDE	GURUGRAM	RURAL	152	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
28	WITHIN 3 KM FROM BADKALI CROSSING WHILE GOING FROM BADKALI CROSSING TO PINANGWA, ON NAGINA- HODAL ROAD	NUH	RURAL	140	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3

29	BETWEEN GOVERNMENT SR. SEC SCHOOL JASANA TO ECHELON INSTITUTE OF	FARIDABAD	RURAL	80	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF	5	4
	TECHNOLOGY, KABULPUR KHERI ON KHERI MANJHAWALI ROAD											LOTS		
30	WITHIN 3 KM ON RIGHT HAND SIDE FROM DELHI- MUMBAI EXPRESSWAY FLYOVER (OUTSIDE MUNICIPAL LIMIT) WHILE GOING FROM DELHI- MUMBAI EXPRESSWAY TOWARDS FIROZPUR ZHIRKA ON FIROZPUR ZHIRKA-BHIWAN ROAD	NUH	RURAL	145	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
31	WITHIN 3 KMS FROM CAMBRIDGE INTERNATIONAL SR. SEC. SCHOOL, KHURAMPUR TOWARDS FARRUKHANAGAR ON FARUKHNAGAR-HAILEY MANDI ROAD (OUTSIDE MUNICIPAL LIMITS)	GURUGRAM	RURAL	102	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
32	WITHIN 2 KM ON LEFT HAND SIDE FROM DELHI- MUMBAI EXPRESSWAY FLYOVER WHILE GOING TOWARDS BHIWAN ON FIROZPUR ZHIRKA- BHIWAN ROAD	NUH	RURAL	175	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
33	WITHIN 3 KM ON LEFT HAND SIDE FROM DELHI- MUMBAI EXPRESSWAY FLYOVER (OUTSIDE MUNICIPAL LIMIT) WHILE GOING FROM DELHI- MUMBAI EXPRESSWAY TOWARDS FIROZPUR ZHIRKA ON FIROZPUR ZHIRKA-BHIWAN ROAD	NUH	RURAL	145	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
34	WITHIN 2 KM FROM RAJASTHAN BORDER TOWARDS ATELI ON ATELI TO BEHROR ROAD	MAHENDRAGA RH	RURAL	160	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
35	WITHIN 2 KM FROM DELHI-MUMBAI EXPRESSWAY FLYOVER WHILE GOING TOWARDS NAGINA, ON NAGINA-HODAL ROAD	NUH	RURAL	130	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
36	WITHIN 1 KM FROM RAJASTHAN BORDER ON BHIWADI TO RATHIWAS ROAD VIA RANGALA VILLAGE	NUH	RURAL	140	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
37	FROM BHAGALPURI CHOWK BERI TO SHANI HANUMAN MANDIR ON BERI - KALANAUR ROAD	JHAJJAR	RURAL	100	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
38	FROM REWARI SABZI MANDI TO IOCL REWARI TERMINAL, ON REWARI-BAWAL ROAD	REWARI	RURAL	46	OPEN CC 2	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
39	WITHIN 5KMS FROM GOVT. COLLEGE FOR GIRLS, MOHNA ON HIRAPUR-MOHNA ROAD	FARIDABAD	RURAL	158	OBC CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
40	WITHIN 2 KM FROM SASROLI CHOWK TOWARDS VILLAGE MALIAWAS ON SASROLI - MALIAWAS - BIROHAR ROAD	JHAJJAR	RURAL	160	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
41	WITHIN 5 KMS FROM AIIMS, JHAJJAR TOWARDS BADLI ON LEFT HAND SIDE ON GURGAON TO BADLI ROAD	JHAJJAR	RURAL	128	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
42	FROM BUS STAND RURIAWAS TO SAINIK PUBLIC SCHOOL RURIAWAS ON MATANHAIL - JHARLI ROAD (MDR 130)	JHAJJAR	RURAL	160	OPEN	сс	35	35	1225	16	6	BIDDING	10	4
43	WITHIN 2 KM FROM DELHI-MUMBAI EXPRESSWAY FLYOVER WHILE GOING	NUH	RURAL	150	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
44	TOWARDS HODAL ON NUH- HODAL ROAD FROM TAU DEVI LAL CHOWK TO HARYANA RAJASTHAN BORDER ON NIZAMPUR BASAI ROAD	MAHENDRAGA RH	RURAL	510	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
45	ON 45 MTR ROAD, BETWEEN NH 48 AND NH 919 VIA VILLAGE GARHI ALAWALPUR, DHARUHERA	REWARI	RURAL	120	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
46	ON PROPOSED V-2(B) ROAD FROM COL RAM SINGH CHOWK TO NH 48	REWARI	RURAL	130	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
47	WITHIN 2 KM FROM DELHI-MUMBAI EXPRESSWAY FLYOVER WHILE GOING TOWARDS NUH ON NUH- HODAL ROAD	NUH	RURAL	150	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
48	FROM VILLAGE PRANPURA TO RAJASTHAN BORDER VIA VILLAGE PAWTI, TEHSIL BAWAL	REWARI	RURAL	150	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
49	WITHIN 2 KM FROM CANARA BANK KHIRBI BRANCH ON HODAL HASSANPUR ROAD WHILE GOING FROM HASSANPUR TOWARDS HODAL	PALWAL	RURAL	170	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
50	WITHIN 5 KM FROM IOCL PETROL PUMP - SHRI BANKE BIHARI KSK ALAWALPUR WHILE GOING FROM PALWAL TOWARDS AMARPUR	PALWAL	RURAL	150	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
51	ON IMLH ROAD BETWEEN BABA MOJI NATH MANDIR GHATASHER AND INTERSECTION OF IMLH ROAD WITH NARNAUL TO DHOLERA ROAD	MAHENDRAGA RH	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
52	FROM INTERSECTION OF NH148B WITH NARNAUL- BEHROR-ALWAR ROAD TO HARYANA RAJASTHAN BORDER TOWARDS BEHROR ON NARNAUL-BEHROR- ALWAR ROAD	MAHENDRAGA RH	RURAL	189	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
53	WITHIN 1 KM FROM TEWATIA HOSPITAL ON PALWAL AMARPUR ROAD	GURUGRAM	RURAL	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
54	ON EITHER SIDE OF NANGAL CHAUDHARY BYEPASS BETWEEN INTERSECTION WITH NANGAL CHOUDHARY TO NIZAMPUR ROAD AND NH 148B	MAHENDRAGA RH	RURAL	185	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
55	WITHIN 3 KM ON NEW HATHIN BY-PASS ROAD WHILE GOING FROM PALWAL TOWARDS HATHIN FROM THE INTERSECTION OF PALWAL HATHIN ROAD AND NEW HATHIN BY-PASS ROAD	PALWAL	RURAL	160	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
56	WITHIN 2 KM FROM WESTERN PERIPHERAL FLYOVER ON MANDKOLA SILANI ROAD	PALWAL	RURAL	170	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
57	FROM MOTHER INDIA SR. SEC. SCHOOL TO G.D. GOENKA PUBLIC SCHOOL ON MAROTH - GWALISON - CHUCHAKWAS ROAD	JHAJJAR	RURAL	160	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
58	FROM IOCL REWARI TERMINAL TO BAWAL CHOWK (AT NH-48 JUNCTION), ON REWARI- BAWAL ROAD	REWARI	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
59	FROM 2 KM TO 5 KM FROM NH-248 A TOWARDS GARHI BAZIDPUR ON PERMIT LINE ROAD (MAHENDWARA/MAHENDAWARA -PULHAWAS- GARHI BAZIDPUR ROAD) ON BOTH SIDE	GURUGRAM	RURAL	100	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
60	WITHIN 2 KM FROM IOCL PETROL PUMP- BHAI PINKY KISAN SEWA KENDRA ON PALWAL HATHIN ROAD WHILE GOING FROM HATHIN TO PALWAL	PALWAL	RURAL	150	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4

	ON BAMANWAS NUH ROAD FROM BAMANWAS	MAHENDRAGA										DRAW OF	_	
61	NUH TO BABA RAMESHWARDAS TEMPLE WITHIN 2 KM FROM R.D.S MEMORIAL SCHOOL	RH	RURAL	140	OBC	DC	35	35	1225	16	35	LOTS DRAW OF	5	3
62	ON HODAL KHAMBI ROAD WITHIN 5 KM FROM D.N.B PUBLIC SCHOOL ON	PALWAL	RURAL	105	SC	CFS	35	35	1225	0	0	LOTS	0	2
63	PALWAL HASSANPUR ROAD WHILE GOING FROM PALWAL TO HASSANPUR	PALWAL	RURAL	150	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
64	VILLAGE DONGRA AHIR, ON ATELI TO MAHENDRAGARH ROAD	MAHENDRAGA RH	RURAL	126	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
65	WITHIN 2KM FROM UTTAWAR CHOWK ON HODAL NUH ROAD	PALWAL	RURAL	200	OBC PH	сс	35	35	1225	16	6	BIDDING	10	3
66	WITHIN 1 KM FROM RAJASTHAN BORDER, ON PUNHANA TO JURERA ROAD WITHIN 3 KM FROM NVN SCHOOL ON HODAL	NUH	RURAL	140	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
67	HASSANPUR ROAD WHILE GOING FROM HODAL TO HASSANPUR	PALWAL	RURAL	150	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
68	WITHIN 5KMS OF GOVT SENIOR SECONDARY SCHOOL LALHARI KALAN TOWARDS VILLAGE PIRTHIPUR ON JOGIWARA-PIRTHIPUR ROAD	YAMUNANAGA R	RURAL	110	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
69	WITHIN 7KMS OF NEELKANTH PALACE TOWARDS LEDI ON BILASPUR-LEDI ROAD	YAMUNANAGA R	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
70	FROM RAJEEV CHOWK SAHA TO CAREER DEFENCE SCHOOL ON SAHA-JAGADHRI ROAD	AMBALA	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
71	WITHIN 4KMS OF MAVERICKS INTERNATIONAL SCHOOL TOWARDS DHANAURA ON MULLANA- DHANAURA ROAD	AMBALA	RURAL	101	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
72	WITHIN 3 KMS FROM BPCL RETAIL OUTLET KESHAV FILLING STATION TOWARDS MANBHARWALA ON DOIWALA-MANBHARWALA ROAD	YAMUNANAGA R	RURAL	101	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
73	WITHIN 4KMS OF HPCL RETAIL OUTLET GANPATI FILLING STATION TOWARDS LEDI ON PRATAPNAGAR- LEDI ROAD	YAMUNANAGA R	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
74	FROM MAHARAJA AGRASEN PUBLIC SCHOOL TO HPOIL GAS PVT. LTD. CNG STATION ON DHURALA- JALBERA ROAD	AMBALA	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
75	FROM GURUDWARA SAHIB BAROULA TO BPC RO BADOLA FUELING STATION ON DURANA- AMBALA CITY ROAD	AMBALA	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
76	FROM GOVERNMENT SCHOOL JANSUA TO HPC RO GULATI BROTHERS FILLING STATION VIA BUS STAND JANSUA ON NIHARSI-JANSUI ROAD	AMBALA	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
77	FROM GURUDWARA SAHIB AHMA TO SAVITRI SOLVENT ON AHMA-BHARI ROAD	AMBALA	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
78	FROM KALI MATA MANDIR SIRTA TO CHATTHA POULTRY FARM ON SIRTA-MANAS ROAD	KAITHAL	RURAL	100	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
79	FROM SUNRISE SENIOR SECONDARY SCHOOL, KUTABPUR TO 33KV SUBSTATION,CHANDANA ON KUTABPUR-CHANDANA ROAD	KAITHAL	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
80	FROM KHARODI ASHRAM TO KALI MATA MANDIR ON KHARODI-BHUNNA ROAD	KAITHAL	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
81	FROM CHANDANA CANAL TO TITRAM MORE ON JIND- KAITHAL ROAD	KAITHAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
82	WITHIN 3 KM FROM KALPANA CHAWLA DWAR TOWARDS MUNAK ON KARNAL-MUNAK ROAD	KARNAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
83	FROM GOVERNEMENT HIGH SCHOOL SOUNKRA TO THE GREENLAND RESORT ON TARAORI- SOUNKRA ROAD	KARNAL	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
84	WITHIN 3 KMS FROM SWAMI BRAHAMAND GURUKUL SCHOOL FATEHPUR TOWARDS DHAND ON PUNDRI- DHAND ROAD	KAITHAL	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
85	WITHIN 5 KMS FROM GRAIN MARKET PAI TOWARDS PUNDRI ON PUNDRI-RAJOUND ROAD	KAITHAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
86	WITHIN 2 KMS FROM KUNDAN FARM TOWARDS NANHERA ON INDRI-NANHERA ROAD	KARNAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
87	WITHIN 2 KMS FROM MOTHER DIVINE PUBLIC SCHOOL GHEER TOWARDS SHERGARH TAPU ON GHEER- SHERGARH TAPU ROAD	KARNAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
88	WITHIN 2 KMS FROM SWAMI VIVEKANAND PUBLIC SCHOOL UDANA TOWARDS RAITKHANA ON BHADSON- LADWA ROAD	KARNAL	RURAL	100	OBC CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
89	WITHIN 2 KMS FROM BIANA POLICE STATION TOWARDS BADARPUR ON KARNAL- YAMUNANAGAR ROAD	KARNAL	RURAL	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
90	FROM HIRA FARMS TO BPC PETROL PUMP M.K FILLING STATION ON SASAULI-SUDHAIL ROAD	YAMUNANAGA R	RURAL	100	OPEN PH	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
91	WITHIN 3 KMS FROM JUNCTION OF SH7 AND BABAIN- KASITHAL ROAD ON BABAIN-KASITHAL ROAD	KURUKSHETR A	RURAL	110	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
92	WITHIN 3 KMS FROM GOVT SCHOOL SIRSALA TOWARDS KURUKSHETRA VIA KHERI MARKANDA ON KURUKSHETRA-SIRSALA ROAD	KURUKSHETR A	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
93	WITHIN 2KMS FROM GOVT. SENIOR SECONDAY SCHOOL HATHIRA TOWARDS RAISON ON HATHIRA- RAISON ROAD	KURUKSHETR A	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
94	WITHIN 4 KMS FROM HDFC BANK DHURALA TOWARDS KURUKSHETRA, ON KURUKSHETRA- JHANSA ROAD	KURUKSHETR A	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
95	FROM GOVT. SCHOOL SUNARIAN TO GOVT SCHOOL LAKHMARI VIA BIR MANGOLI ON BABAIN-LAKHMARI ROAD	KURUKSHETR A	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
96	WITHIN 1 KMS ON EITHER SIDE OF INTERSECTION OF ROAD CONNECTING GOVT SR. SEC. SCHOOL PAPLOHA AND KALKA-BADDI ROAD ON KALKA-BADDI ROAD	PANCHKULA	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
97	WITHIN 1 KMS ON EITHER SIDE FROM VETERNARY HOSPITAL DADLANA TOWARD ASSANDH ON KOHAND- ASSANDH ROAD (EXCLUDING STRETCH UNDER KARNAL DISTRICT)	PANIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
98	WITHIN 3 KMS FROM INTERSECTION OF NH7 AND SHAMTU ROAD TOWARDS RATTEWALI ON SHAMTU- RATTEWALI ROAD	PANCHKULA	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

99	WITHIN 2 KMS FROM MOUNT CARMEL INTERNATIONAL SCHOOL NARAINGARH TOWARDS NARAINGARH ON NARAINGARH-	AMBALA	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
100	KATHEY MAJRA ROAD WITHIN 2KMS FROM KAIMLA INDANE GRAMIN VITARAK TOWARDS ALIPURA VIA GOVERNMENT VETERINARY HOSPITAL ALIPUR KHALSA ON KAIMLA-ALIPURA ROAD	KARNAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
101	WITHIN 1 KMS FROM METRO INDUSTRIAL PARK TOWARDS VILLAGE BAGWALA ON METRO INDUSTRIAL AREA-BAGWALA ROAD	AMBALA	RURAL	100	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
102	WITHIN 1 KMS ON EITHER SIDE OF VISHAV MANAV RUHANI KENDRA ON CHANDIGARH BADDI ROAD	PANCHKULA	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
103	EADD ROAD FROM PROPEL CHOWK TO VARUN BEVERAGES (PEPSI PLANT) ON LEFT HAND SIDE WHILE MOVING FROM PANIPAT REFINERY TO NH 44 ON REFINERY ROAD (EXCLUDING STRETCH IN KARNAL DISTRICT)	PANIPAT	RURAL	120	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
104	FROM AMIT FABRICATOR & HYDROLIC INDUSTRIES TO PAHAL BHAWAN ON GOHANA- GANAUR ROAD	SONIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
105	WITHIN 3 KMS FROM VIDYA BHARTI SR SECONDARY SCHOOL TOWARDS VILLAGE MANOLI ON NANGAL KALAN - MANOLI ROAD	SONIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
106	FROM SHIV DEEP VIDYA MANDIR SCHOOL TO IOCL PANIPAT REFINERY TOWNSHIP GATE NO. 02 ON REFINERY TOWNSHIP ROAD	PANIPAT	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
107	FROM GOVT PRIMARY SCHOOL SHAH JAHANPUR TO ANIMAL HOSPITAL RAIPUR JATTAN ON SHAH JANPUR- RAIPUR JATTAN TOAD	KARNAL	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
108	FROM NESTLE PATTIKALYANA FACTORY TO NH- 44 INTERSECTION ON NESTLE ROAD	PANIPAT	RURAL	150	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
109	WITHIN 5 KMS FROM ASHA DEEP MODERN CONVENT SCHOOL TOWARDS ATTA ON JAURASI-ATTA- BILASHPUR ROAD	PANIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
110	FROM PROPEL CHOWK TO NH44 INTERSECTION ON RIGHT HAND SIDE WHILE MOVING FROM PANIPAT REFINERY TO NH 44 ON REFINERY ROAD (EXCLUDING STRETCH IN KARNAL DISTRICT)	PANIPAT	RURAL	120	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
111	FROM IOCL KARNAL LPG BOTTLING PLANT TO CYGNUS MATA KALAWATI HOSPITAL ON ASSANDH- KOHAND ROAD	KARNAL	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
112	WITHIN 3 KMS FROM SJS INTERNATIONAL COLLEGE OF EDUCATION TOWARDS SAMALKHA ON HATHWALA- SAMALKHA ROAD	PANIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
113	WITHIN 3KMS FROM GOVT SCHOOL BIDHLAN TOWARDS SILANA ON BIDHLAN-SILANA ROAD	SONIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
114	WITHIN 5 KMS FROM SHIVALIK MODERN SR. SEC SCHOOL TOWARDS MANDI ON CHULKANA- ISRANA ROAD	PANIPAT	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
115	FROM DEVKUL SIKSHA SADAN SCHOOL TO RAIL COACH FACTORY ON GANNAUR- LALHERI ROAD	SONIPAT	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
116	FROM GRAIN MARKET CHHACHHRAULI TO DADUPUR MINI HYDEL POWER STATION ON CHHACHHRAULI- DADUPUR ROAD	YAMUNANAGA R	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
117	WITHIN 2 KMS FROM IOC PETROL PUMP JAGDAMBA FILLING STATION TOWARDS KALANAUR ON KALANAUR-SAHARANPUR ROAD	YAMUNANAGA R	RURAL	175	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
118	WITHIN 2 KMS FROM GOVT. SENIOR SECONDARY SCHOOL GUMTHALA RAO TOWARDS SANDHALI ON BIANA-YAMUNA NAGAR ROAD	YAMUNANAGA R	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
119	WITHIN 2KMS FROM SINGHPURA BRIDGE TOWARDS PANIPAT REFINERY ON CANAL ROAD	PANIPAT	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
120	FROM GOVT PRIMARY SCHOOL WAISARY TO LOHARI BUS STAND ON WAISARY -LOHARI ROAD	PANIPAT	RURAL	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
121	WITHIN 3 KMS FROM INTERSECTION OF NH344 AND KHAJURI JATHLANA ROAD TOWARDS KHAJURI ON JATHLANA-KHAJURI ROAD	YAMUNANAGA R	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
122	FROM GOVERNMENT COLLEGE CO-ED GIANPURA TO FEDERAL BANK ON GIANPURA- KALRON ROAD	KARNAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
123	WITHIN 4 KMS FROM SALWAN CHOWK TOWARDS PANIPAT ON ASSANDH PANIPAT ROAD	KARNAL	RURAL	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
124	FROM KABRI INDANE FRAMIN VITARAK TO GAYATRI SHIKSHA SADAN PUBLIC SCHOOL KABRI ON KABRI ROAD	PANIPAT	RURAL	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
125	WITHIN 3 KMS FROM KALI MATA MANDIR, PURKHAS TOWARDS UDESHIPUR ON PURKHAS- SONIPAT ROAD	SONIPAT	RURAL	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
126	FROM VILLAGE MANGALI TO VILLAGE DAYA (INCLUDING BOTH VILLAGES) ON KAIMRI MANGALI ROAD	HISAR	Rural	130	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
127	UPTO 3 KM FROM BALSAMAND CHOWK TOWARDS BALSAMAND BHADRA ROAD	HISAR	Rural	105	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
128	UPTO 2 KM FROM BPC RO M/S HIMANSHI FILLING STATION AT GHURSAL ON GHURSAL JHANSAL ROAD	HISAR	Rural	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
129	FROM VILLAGE UCHANA KHURD TO VILLAGE DAROLI KHERA (INCLUDING BOTH VILLAGE) ON UCHANA KHURD- DAROLI KHERA	JIND	Rural	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
130	FROM VILLAGE TALWANDI BADSHPUR BUS STAND TO SANKAT MOCHAN BALA JI DHAM TEMPLE VILLAGE TALWANDI RUKKA (INCLUDING BOTH VILLAGES) ON TALWANDI RUKKA -SIWANI ROAD	HISAR	Rural	120	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4

131	WITHIN 2 KM FROM KHANAK MINES ENTRY GATE TOWARDS TOSHAM ON LEFT HAND SIDE ON HISAR- TOSHAM ROAD	BHIWANI	Rural	205	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
132	WITHIN 2 KMS FROM BHARAT PETROLEUM CORPORATION LTD. RETAIL OUTLET M/S GOYAL PETRO TOSHAM-BHIWANI ROAD, TOWARDS BHIWANI ON TOSHAM-BHIWANI ROAD	BHIWANI	Rural	205	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
133	FROM VILLAGE NATHUSARI KALAN TO VILLAGE GIGORANI (INCLUDING BOTH VILLAGE) ON SIRSA- BHADRA ROAD	SIRSA	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
134	WITHIN 2 KM FROM JUNCTION OF TOSHAM NEW BYE-PASS & HISAR TOSHAM ROAD AT VISHWAKARMA AUTO MARKET, TOWARDS HISAR ON RIGHT HAND SIDE ON HISAR TOSHAM ROAD	BHIWANI	Rural	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
135	WITHIN 5 KMS FROM AADHAAR HOSPITAL MAIN GATE ON LEFT HAND SIDE TOWARDS TOSHAM ON HISAR-TOSHAM ROAD OUTSIDE MUNICIPAL LIMIT OF HISAR	HISAR	Rural	150	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
136	WITHIN 2KM FROM DEVILAL CHOWK AT NATHUSARI CHOPTA ON BHATTU JAMAL ROAD	SIRSA	Rural	100	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
137	WITHIN 2 KM FROM RAJASTHAN BORDER ON CHAUTALA- SANGARIA ROAD	SIRSA	Rural	130	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
138	FROM VILLAGE CHAUTALA TO VILLAGE JANDWALA (INCLUDING BOTH VILLAGE) ON CHAUTALA- JANDWALA BISHNOIAN ROAD	SIRSA	Rural	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
139	WITHIN 2 KM FROM JAMAL-SIRSA CHOWK (BHAGAT SINGH CHOWK) ON JAMAL-SIRSA ROAD	SIRSA	Rural	150	OPEN CC 2	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
140	FROM VILLAGE DHANI PHOGAT TO VILLAGE PATUWAS(INCLUDING BOTH VILLAGES), ON CHARKHI DADRI PATUWAS ROAD	CHARKHI DADRI	Rural	95	OBC CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
141	FROM VILLAGE KALIYANA TO VILLAGE JHOJHU KALAN(INCLUDING BOTH VILLAGES) ON JHOJHUN KALAN	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
142	UPTO 2 KMS FROM MAHILA VIDHYALAYA AT JHOJHU KALAN TOWARDS MEHRA ON JHOJHU KALAN MEHRA ROAD.	CHARKHI DADRI	Rural	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
143	UPTO 4 KMS FROM BAPORA CHOWK TOWARDS BAPORA ON BHIWANI TO BAPORA ROAD	BHIWANI	Rural	215	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
144	FROM VILLAGE HANSAWAS KALAN TO VILLAGE HANSAWAS KHURD (INCLUDING BOTH VILLAGES)ON BADHRA - SATNALI ROAD	CHARKHI DADRI	Rural	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
145	FROM GOVT GIRLS PRIMARY SCHOOL AT PILANA TO GOLDEN CRESENT PUBLIC SCHOOL AT KATESRA ON PILANA - KATESRA LINK ROAD	ROHTAK	Rural	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
146	FROM VILLAGE DHANA NARSAN TO VILLAGE DHANA LADANPUR(INCLUDING BOTH VILLAGES), ON DHANA ROAD	BHIWANI	Rural	150	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
147	WITHIN 3 KMS FROM RAJASTHAN BORDER ON UMEDPURA CHILKANI DHAB ROAD	SIRSA	Rural	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
148	WITHIN 3 KM FROM RAJASTHAN BORDER ON ELLENABAD- DHOLPALIA ROAD TOWARDS ELLENABAD	SIRSA	Rural	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
149	WITHIN 3KM FROM ANAZ MANDI TOWARDS DING MODE IN VILLAGE DING	SIRSA	Rural	100	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
150	FROM VILLAGE SHAHPUR TO VILLAGE KIRTAN (INCLUDING BOTH VILLAGES) ON SHAHPUR KIRTAN ROAD	HISAR	Rural	150	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
151	FROM VILLAGE THUHA TO VILLAGE CHHATAR (INCLUDING BOTH VILLAGE) ON THUHA-CHHATAR ROAD	JIND	Rural	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
152	FROM VILLAGE PUTHI SAMAN TO VILLAGE SAMAN (INCLUDING BOTH VILLAGES) ON PUTHI SAMAN TO SAMAN ROAD	HISAR	Rural	90	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
153	WITHIN 3KM FROM RAJASTHAN BORDER ON ELLENABAD SHYODANPURA NOHAR ROAD	SIRSA	Rural	60	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
154	WITHIN 3KM FROM RAJASTHAN BORDER ON NEEMLA- RAMPURIA ROAD	SIRSA	Rural	70	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
155	WITHIN IN 3 KM FROM SHAH SATNAM JI SUPER SPECIALITY HOSPITAL ON SIRSA BHADRA ROAD	SIRSA	Rural	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
156	FROM VILLAGE LAKHAN MAJRA TO VILLAGE NANDAL (INCLUDING BOTH VILLAGES) ON LAKHAN MAJRA TO NANDAL ROAD	ROHTAK	Rural	130	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
157	FROM VILLAGE LAJWANA KHURD TO VILLAGE LAJWANA KALAN (INCLUDING BOTH VILLAGES) ON RAJA WALI GOHR ROAD	JIND	Rural	46	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
158	FROM VILLAGE JHORANALI TO VILLAGE KELINIAN (INCLUDING BOTH VILLAGE) ON JHORNALI KELINIAN ROAD	SIRSA	Rural	60	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
159	FROM VILLAGE KHARKHARI TO VILLAGE KHOKHA (INCLUDING BOTH VILLAGES) ON KHARKHARI- KHOKA- ALIPUR ROAD	HISAR	Rural	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
160	FROM VILLAGE BARWALA TO VILLAGE SANDHLANA (INCLUDING BOTH VILLAGES) ON BARWALA TO SANDLANA ROAD, EXCLUDING MUNICIPAL LIMIT	HISAR	Rural	60	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
161	FROM VILLAGE ALIPUR TO VILLAGE MAYAR (INCLUDING BOTH VILLAGES) ON KHARAR MAYAR ROAD	HISAR	Rural	105	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4

	FROM VILLAGE NIYANA TO VILLAGE KHARAR													
162	(INCLUDING BOTH VILLAGES) ON NIYANA TO KHARAR ALIPUR ROAD	HISAR	Rural	105	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
163	FROM AAKASH INTERNATIONAL MODEL SCHOOL AT MOKHRA TO CROSSING OF NH 9 (DELHI HISAR ROAD) OVER MOKHRA MADINA ROAD ON MOKHRA MADINA ROAD	ROHTAK	Rural	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
164	FROM VILLAGE HATHO TO VILLAGE SINSAR (INCLUDING BOTH VILLAGE) ON SINSAR-HATHO ROAD	JIND	Rural	46	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
165	FROM VILLAGE BADHANA TO VILLAGE NAGURAN (INCLUDING BOTH VILLAGE) ON BADHANA- NAGURAN ROAD	JIND	Rural	65	ОВС РН	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
166	WITHIN 5KM FROM RAJASTHAN BORDER ON MDR 103 JAMAL - NATHUSARI CHOPTA ROAD	SIRSA	Rural	205	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
167	FROM VILLAGE GADLI TO VILLAGE NARAYAN KHERA (INCLUDING BOTH VILLAGE) ON DING- CHOPTA ROAD	SIRSA	Rural	117	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
168	BETWEEN 33 KV SUB STATION AT LAMBHA AND PRATHMIK KRISHI SAHKARI LTD BIKRI KENDRA LAMBHA ON LAMBHA- CHIMMO ROAD	FATEHABAD	Rural	70	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
169	BETWEEN GOVT. PRIMARY SCHOOL AT VILLAGE BORA AND INTERSETION OF SH21(RATIA BUDHLADA ROAD)& BALIALA RATTANGAD ROAD, ON BORA-BALIALA- RATTANGAD ROAD	FATEHABAD	Rural	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
170	WITHIN 5 KMS FROM AADHAAR HOSPITAL MAIN GATE ON RIGHT HAND SIDE TOWARDS TOSHAM ON HISAR-TOSHAM ROAD OUTSIDE MUNICIPAL LIMIT OF HISAR	HISAR	Rural	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
171	FROM VILLAGE BAROLI TO VILLAGE SHAMLO KALAN (INCLUDING BOTH VILLAGES) ON RAJA WALI GOHR ROAD	JIND	Rural	80	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
172	FROM VILLAGE KHANDA KHERI TO VILLAGE PETWAR (INCLUDING BOTH VILLAGES) ON KHANDA KHERI- PETWAR LINK ROAD	HISAR	Rural	75	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
173	FROM VILLAGE DURJANPUR TO VILLAGE KAKROD (INCLUDING BOTH VILLAGE) ON MDR 112 (DURJANPUR- KAKROD ROAD)	JIND	Rural	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
174	WITHIN 2 KM FROM NH 9(SIRSA DABWALI) ON SIRSA VAIDWALA ROAD TOWARDS SECTOR 19 HUDA SIRSA	SIRSA	Rural	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
175	WITHIN 2 KM FROM GOVT SENIOR SECONDARY SCHOOL JANDWALA SOTTER TOWARDS VILLAGE TAMASPURA ON JANDWALA SOTTER-TAMASPURA ROAD	FATEHABAD	Rural	67	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
176	FROM JIND BYPASS CHOWK TO INTERSECTION OF NH LINK ROAD AND NH 352 (ROHTAK JIND ROAD) ON LEFT HAND SIDE ON JIND ROAD (OUTSIDE MUNICIPAL LIMITS OF ROHTAK)	ROHTAK	Rural	70	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
177	FROM VILLAGE SHAKAR MANDORI TO VILLAGE NEHRANA (INCLUDING BOTH VILLAGE) ON NEHRANA-CHAHARWALA ROAD	SIRSA	Rural	70	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
178	FROM VILLAGE RAMPURA DHILLON TO VILLAGE HANZIRA (INCLUDING BOTH VILLAGE) ON RAMPURA DHILLON- HANZIRA ROAD	SIRSA	Rural	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
179	WITHIN 2 KM FROM ITI SISAI TOWARDS UCHANA ON HANSI UCHANA ROAD	HISAR	Rural	85	OPEN CC 1	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
180	WITHIN 2 KM FROM RANIA STADIUM ON RANIA NANUANA ROAD TOWARDS NANUANA OUTSIDE MUNICIPAL LIMIT	SIRSA	Rural	105	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3
181	FROM VILLAGE BACHER TO RAJASTHAN BORDER ON BACHER SANGRIA ROAD	SIRSA	Rural	46	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
182	FROM VILLAGE GUDIA KHERA TO VILLAGE DHUKRA (INCLUDING BOTH VILLAGE) ON SIRSA - JAMAL ROAD	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
183	WITHIN 3 KM FROM CHAMAL BRIDGE ON PANJUANA CANAL (NO RD 28000) TOWARDS VILLAGE VANSUDHAR ON VANSUDHAR ROAD	SIRSA	Rural	60	Open	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
184	WITHIN 3KM FROM INTERSECTION OF SH2 (BHUNAUKLANA ROAD) WITH SANIANA TOHANA ROAD TOWARDS TOHANA ON SANIANA-PARTAN- TOHANA ROAD	FATEHABAD	Rural	50	OBC	DC	35	35	1225	16	35	DRAW OF LOTS	5	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same. The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation

Website (www.iocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost. APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of Site	Category	Application fee in Rs.	Ty pe of R O	Type of Site	Catego ry	Application fee in Rs.
CFS	SC/ST	3000		CFS	SC/ST	2500
сс	OBC	5000		CC	OBC	4000

СС	Open	10000	Rural ROs	CC	Open	8000
DC	OBC	5000		DC	OBC	4000
DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above. The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 year thereafter. This is only a notice inviting application for allottenet of R0 dealership and not an offer of R0 dealership. The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute. For any information with regard to the advertisement, candidates may contact the following address:-

Address/Contact Details	For Districts
Divisional Retail Head Panipat Divisional Office Indian Oil Corporation Limited Panipat Marketing Complex, Village Baholi, PO-Panipat Refinery, Panipat-132140 (Haryana) Contact No. : 0180-2578633	Panipat, Sonipat, Kaithal, Karnal, Kurukshetra, Ambala, Yamunanagar, Panchkula.
Divisional Retail Head Gurgaon Divisional Office Indian Oil Corporation Limited, 83, Institutional Area, Sector-18, Gurugram-122015 (Haryana), Contact no.0124-2340313.	Gurugram, Faridabad, Jhajjar, Mahendragarh, Nuh, palwal, Rewari.
Divisional Retail Head Hisar Divisional Office Indian Oil Corporation Limited, 1st Floor, SCO 40-41, Sector-13P, Tosham Road, Hisar-125005 (Haryana), Contact no. : 0166-2246602, 2246603.	Bhiwani, Fatehabad, Hisar, Jind, Rohtak, Sirsa, Charkhi Dadri.